Course:	LAW - 7V30 001 - Special Topics in Legal Education	Department:	LawSchool
Responsible Faculty:	Angela Downes	Responses / Expected:	6 / 25 (24%)

					Ang		Survey Comparisons							
Cour	se Evaluation Questions			Respon	ses (%))		Indi	vidual			Law	School	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	6	4.8	4.9	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	6	4.8	4.9	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	6	4.8	4.9	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	6	4.7	4.8	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	6	4.8	4.9	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	6	4.7	4.8	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	6	4.8	4.9	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	6	4.7	4.8	50
Q9	My instructor encourages me to do my best work.	0	0	0	0	6 100%	6	5.0	5.0	5	6	5.0	5.0	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	6	4.7	4.9	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	6	4.8	4.9	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	6 100%	6	5.0	5.0	5	6	5.0	5.0	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	6	4.8	4.9	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	6	4.8	4.9	50

Course:	MGMT - 3860 010 - Human Resource Management	Department:	BUSI
Responsible Faculty:	Elizabeth Muniz	Responses / Expected:	6 / 30 (20%)

					Eliz	Survey Comparisons								
Cou	se Evaluation Questions			Respor	ıses (%)			Indi	vidual			В	JSI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	20	4.8	4.9	38
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	20	4.8	4.9	63
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	20	4.8	4.9	63
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	20	4.8	4.9	13
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	20	4.8	4.9	13
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	20	4.8	4.9	38
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	20	4.9	4.9	13
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	20	4.9	4.9	13
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	20	4.9	4.9	13
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	20	5.0	5.0	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	20	4.8	4.9	38
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	20	5.0	5.0	13
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	20	5.0	5.0	13
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	20	4.9	4.9	13

					MGMT	- 38	Survey Comparisons								
Labs and Online Learning Questions		Responses (%)					Co	ourse		All					
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	28	4.7	4.9	69		
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	5.0	5	39	4.7	4.9	69		

Course:	MGMT - 3860 011 - Human Resource Management	Department:	BUSI
Responsible Faculty:	Elizabeth Muniz	Responses / Expected:	2 / 27 (7.41%)

					Elizabe	th M	Muniz				Survey Co	ompariso	ns
Cou	se Evaluation Questions		Resp	onse	s (%)		Ind	ividual			В	USI	
		SD	D N	I A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 0	50°	1 % 50%	2	4.5	4.5	4.5	20	4.8	4.9	13
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 0	50°	1 % 50%	2	4.5	4.5	4.5	20	4.8	4.9	13
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0 0	50°	1 % 50%	2	4.5	4.5	4.5	20	4.8	4.9	13
Q4	My instructor provides material that helps me do well on assignments.	0	0 0	0	2 100%	2	5.0	5.0	5	20	4.8	4.9	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 0	0	2 100%	2	5.0	5.0	5	20	4.8	4.9	88
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 0	0	2 100%	2	5.0	5.0	5	20	4.8	4.9	75
Q 7	My instructor establishes a climate of respect for students.	0	0 0	0	2 100%	2	5.0	5.0	5	20	4.9	4.9	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0 0	0	2 100%	2	5.0	5.0	5	20	4.9	4.9	75
Q9	My instructor encourages me to do my best work.	0	0 0	0	2 100%	2	5.0	5.0	5	20	4.9	4.9	75
Q10	My instructor provides timely feedback to guide my progress.	0	0 0	0	2 100%	2	5.0	5.0	5	20	5.0	5.0	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 0	50°	1 % 50%	2	4.5	4.5	4.5	20	4.8	4.9	13
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 0	0	2 100%	2	5.0	5.0	5	20	5.0	5.0	63
Q13	My instructor encourages me to develop new viewpoints.	0	0 0	0	2 100%	2	5.0	5.0	5	20	5.0	5.0	63
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 0	0	2 100%	2	5.0	5.0	5	20	4.9	4.9	75

Labs and Online Learning Questions						MGMT	- 38		Survey Comparisons					
		Responses (%)						Co	ourse			,	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	28	4.7	4.9	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	39	4.7	4.9	69

Course:	MGMT - 4470 010 - Leadership	Department:	BUSI
Responsible Faculty:	Frances Conner	Responses / Expected:	5 / 30 (16.67%)

						Frances	s Co	onner				Survey Co	ompariso	ns
Cou	se Evaluation Questions		Res	po	nses ((%)		Indi	ividual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	5 100%	5	5.0	5.0	5	20	4.8	4.9	88
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0	5.0	5	20	4.8	4.9	88
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	20	4.8	4.9	38
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0	5.0	5	20	4.8	4.9	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	20	4.8	4.9	38
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0	5.0	5	20	4.8	4.9	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0	5.0	5	20	4.9	4.9	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0	5.0	5	20	4.9	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0	5.0	5	20	4.9	4.9	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	5 100%	5	5.0	5.0	5	20	5.0	5.0	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0	5.0	5	20	4.8	4.9	88
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	20	5.0	5.0	63
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	5 100%	5	5.0	5.0	5	20	5.0	5.0	63
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0	5.0	5	20	4.9	4.9	75

						MGMT	- 44	Survey Comparisons							
Labs	Labs and Online Learning Questions		Res	pon	ses	(%)		Co	urse		All				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	5.0	5	28	4.7	4.9	69	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	5.0	5	39	4.7	4.9	69	

Course:	MGMT - 4470 011 - Leadership	Department:	BUSI
Responsible Faculty:	Frances Conner	Responses / Expected:	7 / 29 (24.14%)

					Fra	nces Co	nne	er				Survey Co	mpariso	ns
Cou	se Evaluation Questions		F	Respon	ses (%)			Indi	vidual				JSI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	20	4.8	4.9	63
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 .	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	20	4.8	4.9	38
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	20	4.8	4.9	88
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	20	4.8	4.9	38
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	20	4.8	4.9	63
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	20	4.8	4.9	13
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	20	4.9	4.9	38
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	20	4.9	4.9	38
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	20	4.9	4.9	38
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	7 100%	7	5.0	5.0	5	20	5.0	5.0	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	20	4.8	4.9	63
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	7 100%	7	5.0	5.0	5	20	5.0	5.0	63
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	7 100%	7	5.0	5.0	5	20	5.0	5.0	63
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	20	4.9	4.9	38

					N	1GMT - 44	170 -	011			-	Survey Co	omparison	s
Lab	s and Online Learning Questions		Respo	nse	s (%)		C	ourse			1	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	6 100%	6	5.0	5.0	5	28	4.7	4.9	69
Q16	The course topics are organized in a coherent fashion.	0	1 14.3%	0	0	6 85.7%	7	4.6	4.9	5	39	4.7	4.9	31

Course:	PLDR - 5330 030 - Organization Theory and Managing Change in Public Service	Department:	PUBLDR
Responsible Faculty:	James Agbodzakey	Responses / Expected:	8 / 11 (72.73%)

			James Agbodz Responses (%)			ake	y				Survey C	ompariso	ons	
Cou	se Evaluation Questions		Re	esponse	es (%)			Indi	ividual	l		PU	BLDR	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0	4.0	4	7	4.0	4.0	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 12.5%	1 12.5%	3 37.5%	3 37.5%	8	4.0	4.2	4	8	4.0	4.2	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 50%	4 50%	8	4.5	4.5	4.5	8	4.5	4.5	50
Q4	My instructor provides material that helps me do well on assignments.	0	1 12.5%	2 25%	1 12.5%	4 50%	8	4.0	4.5	4.5	8	4.0	4.5	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1	4.2	4	8	4.1	4.2	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0	4.3	4	7	4.0	4.3	50
Q7	My instructor establishes a climate of respect for students.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	8	4.6	4.8	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	4.5	4.5	8	4.4	4.5	50
Q9	My instructor encourages me to do my best work.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3	4.5	4.5	8	4.3	4.5	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	4.5	4.5	8	4.4	4.5	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	8	4.5	4.7	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	7	4.3	4.6	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	4.5	4.5	8	4.4	4.5	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1	4.2	4	8	4.1	4.2	50

				PL	DR - 5330) - 0	30				Survey Co	mparison	s
Labs and Online Learning Questions			Respo	nses (%)			C	ourse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	28	4.7	4.9	31
Q16 The course topics are organized in a coherent fashion.	0	0	0	5 62.5%	3 37.5%	8	4.4	4.3	4	39	4.7	4.9	19

Course:	SPAN - 2313 001 - Spanish for Heritage Speakers	Department:	LangCom
Responsible Faculty:	Mara Vaughn	Responses / Expected:	7 / 11 (63.64%)

						Mara Va	ug	hn				Survey Co	mpariso	ns
Cou	se Evaluation Questions		R	esp	onses (9	%)		Indi	ividual			Lang	gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67
Q9	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	16	4.7	4.9	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	7 100%	7	5.0	5.0	5	16	4.8	5.0	67

						SPAN -	231	13 - 001				Survey Co	mparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	urse			,	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	5.0	5	28	4.7	4.9	69
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	39	4.7	4.9	69

Course:	SPAN - 3150 001 - Spanish Culture and Civilization	Department:	LangCom
Responsible Faculty:	Mara Vaughn	Responses / Expected:	5 / 9 (55.56%)

						Mar	a Va	aughn				Survey Co	mpariso	ns
Cou	se Evaluation Questions	R	Resp	oon	se	s (%)		Indi	ividual			Lan	gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.7	4.9	83
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0	5.0	5	16	4.8	5.0	67

					SPAN -	315	50 - 001				Survey Co	mparisons	
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	5.0	5	28	4.7	4.9	69
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	5.0	5	39	4.7	4.9	69

Course:	SPAN - 3313 001 - Advanced Spanish for Heritage Speakers	Department:	LangCom
Responsible Faculty:	Mara Vaughn	Responses / Expected:	4 / 6 (66.67%)

						Mar	a Va	aughn				Survey Co	ompariso	ns
Cou	se Evaluation Questions	Re	spo	ons	es (•	ividual				gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17
Q4	My instructor provides material that helps me do well on assignments.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17
Q7	My instructor establishes a climate of respect for students.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17
Q8	My instructor is available to me on matters pertaining to the course.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17
Q9	My instructor encourages me to do my best work.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17
Q10	My instructor provides timely feedback to guide my progress.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.7	4.9	17
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17
Q13	My instructor encourages me to develop new viewpoints.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	16	4.8	5.0	17

				SP	AN - 3313	3 - 0	01			-	Survey C	omparison	s
Labs and Online Learning Questions		Responses (%)					C	ourse				All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	28	4.7	4.9	19
Q16 The course topics are organized in a coherent fashion.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	39	4.7	4.9	6

Course:	COMM - 4900 030 - Special Problems	Department:	LangCom
Responsible Faculty:	Sara Holmes	Responses / Expected:	2 / 12 (16.67%)

						Sara I	Holi	mes				Survey Co	ompariso	ns
Cou	se Evaluation Questions		Res	ро	nses (%)		Indi	vidual			Lan	gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50

				СО	мм -	490	0 - 030				Survey Co	mparisons	;
Labs and Online Learning Questions		Re	spon	ises (%)			Co	ourse			1	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	41	4.5	4.7	35
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	4.0	4	59	4.5	4.8	25

Cour	e: COUN - 5470 040 - Career Development and Information Resources	Department:	EDUCATION
Respons Facu	Shelley Jackson	Responses / Expected:	2 / 12 (16.67%)

					SI	helley J	lack	cson				Survey Co	mpariso	ns
Cou	se Evaluation Questions		R	espon	ses (%)		Indi	vidual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	40	4.3	4.6	35
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	40	4.6	4.7	35
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	40	4.7	4.8	12
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	39	4.6	4.8	73
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	39	4.4	4.7	35
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	40	4.5	4.8	69
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	40	4.7	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	40	4.5	4.8	77
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	39	4.7	4.9	69
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	40	4.3	4.7	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	40	4.7	4.8	73
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	40	4.7	4.8	73
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	40	4.6	4.8	19
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	39	4.5	4.8	27

					COUN -	547	70 - 040				Survey Co	omparisons	;
Labs and Online Learning Questions		Res	pon	ses	(%)	Course				All			
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	41	4.5	4.7	85
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	59	4.5	4.8	75

Course:	COUN - 5500 040 - Human Sexuality in Counseling	Department:	EDUCATION
Responsible Faculty:	Deborah Cain	Responses / Expected:	2 / 10 (20%)

					Deb	orah	Cai	in				Survey Co	mparisc	ons
Cou	se Evaluation Questions		Resp	onse	s (%)			Indi	ividual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	40	4.3	4.6	8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0	4.0	4	40	4.6	4.7	15
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	40	4.7	4.8	12
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0	4.0	4	39	4.6	4.8	19
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	39	4.4	4.7	8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	40	4.5	4.8	4
Q7	My instructor establishes a climate of respect for students.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	40	4.7	4.9	4
Q8	My instructor is available to me on matters pertaining to the course.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	40	4.5	4.8	4
Q9	My instructor encourages me to do my best work.	0	1 100%	0	0	0	1	2.0	2.0	2	39	4.7	4.9	4
Q10	My instructor provides timely feedback to guide my progress.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	40	4.3	4.7	4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	40	4.7	4.8	4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	40	4.7	4.8	19
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 100%	0	2	4.0	4.0	4	40	4.6	4.8	19
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	39	4.5	4.8	4

					CC	OUN -	5500	040				Survey Co	mparisons	:
La	os and Online Learning Questions	Responses (%)		Co	ourse			All						
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	41	4.5	4.7	35
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	4.0	4	59	4.5	4.8	25

Course:	COUN - 5580 001 - Family Counseling	Department:	EDUCATION
Responsible Faculty:	Amy McCortney	Responses / Expected:	3 / 7 (42.86%)

						Amy I	ИсС	ortney				Survey Co	mpariso	ns
Cou	se Evaluation Questions	F	≀es	poi	ıse	s (%)		Indi	vidua	l		EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.3	4.6	85
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.6	4.7	81
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.7	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	39	4.6	4.8	73
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	39	4.4	4.7	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.5	4.8	69
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.7	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.5	4.8	77
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	39	4.7	4.9	69
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.3	4.7	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.7	4.8	73
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.7	4.8	73
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.6	4.8	81
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	39	4.5	4.8	77

						COUN -	- 558	30 - 001				Survey Co	omparisons	;
La	os and Online Learning Questions		Res	pon	ses	(%)		C	ourse				All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q ²	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	41	4.5	4.7	85
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	59	4.5	4.8	75

Course:	COUN - 5670 040 - Developmental Processes and Strategies	Department:	EDUCATION
Responsible Faculty:	Yu-fen Lin	Responses / Expected:	5 / 7 (71.43%)

					Y	u-fen l	_in					Survey Co	mpariso	ns
Cour	se Evaluation Questions		Res	ponse	s (%)			Indi	vidual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 20%	3 60%	1 20%	0	5	3.0	3.0	3	40	4.3	4.6	8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	3 60%	1 20%	5	4.0	4.0	4	40	4.6	4.7	15
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 80%	1 20%	5	4.2	4.1	4	40	4.7	4.8	27
Q4	My instructor provides material that helps me do well on assignments.	0	1 20%	1 20%	2 40%	1 20%	5	3.6	3.8	4	39	4.6	4.8	4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 40%	1 20%	2 40%	0	5	3.0	3.0	3	39	4.4	4.7	8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 20%	1 20%	0	2 40%	1 20%	5	3.2	3.8	4	40	4.5	4.8	12
Q7	My instructor establishes a climate of respect for students.	0	0	1 20%	0	4 80%	5	4.6	4.9	5	40	4.7	4.9	27
Q8	My instructor is available to me on matters pertaining to the course.	0	1 20%	0	3 60%	1 20%	5	3.8	4.0	4	40	4.5	4.8	19
Q9	My instructor encourages me to do my best work.	0	1 20%	0	1 20%	3 60%	5	4.2	4.7	5	39	4.7	4.9	27
Q10	My instructor provides timely feedback to guide my progress.	1 20%	1 20%	0	2 40%	1 20%	5	3.2	3.8	4	40	4.3	4.7	15
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 40%	1 20%	2 40%	5	4.0	4.0	4	40	4.7	4.8	15
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 40%	2 40%	1 20%	5	3.8	3.8	4	40	4.7	4.8	4
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	3 60%	1 20%	5	4.0	4.0	4	40	4.6	4.8	19
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 40%	0	2 40%	1 20%	5	3.4	3.8	4	39	4.5	4.8	12

					COUN	- 567	70 -	040			-	Survey Co	mparison	s
Lab	s and Online Learning Questions		Resp	onse	es (%)			C	ourse			1	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 33.3%	0	2 66.7%	0	3	3.3	3.8	4	41	4.5	4.7	23
Q16	The course topics are organized in a coherent fashion.	0	2 40%	0	3 60%	0	5	3.2	3.7	4	59	4.5	4.8	13

Course:	COUN - 5720 001 - Internship in Counseling I	Department:	EDUCATION
Responsible Faculty:	Michael Becerra	Responses / Expected:	1 / 10 (10%)

						Micha	el E	Becerra				Survey Co	ompariso	ns
Cou	se Evaluation Questions	R	les	por	ıse	s (%)		Ind	ividua	l		EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.3	4.6	85
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.6	4.7	81
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.7	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	39	4.6	4.8	73
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	39	4.4	4.7	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.5	4.8	69
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.7	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.5	4.8	77
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	39	4.7	4.9	69
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.3	4.7	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.7	4.8	73
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.7	4.8	73
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.6	4.8	81
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	39	4.5	4.8	77

					COUN -	572	20 - 001				Survey Co	omparisons	;
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse				All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	41	4.5	4.7	85
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	59	4.5	4.8	75

Course:	COUN - 5720 002 - Internship in Counseling I	Department:	EDUCATION
Responsible Faculty:	Michael Becerra	Responses / Expected:	1 / 6 (16.67%)

				Mi	chae	el Be	ecerra				Survey Co	ompariso	ns
Cou	se Evaluation Questions		Res	ponses (%))		Indi	vidual			EDUC	ATION	
		SD	D	N A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0 1 1 100%	0	1	4.0	4.0	4	40	4.3	4.6	27
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0 1 100%	0	1	4.0	4.0	4	40	4.6	4.7	15
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0 1 100%	0	1	4.0	4.0	4	40	4.7	4.8	12
Q4	My instructor provides material that helps me do well on assignments.	0	0	0 1 100%	0	1	4.0	4.0	4	39	4.6	4.8	19
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0 1 100%	0	1	4.0	4.0	4	39	4.4	4.7	27
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0 1 100%	0	1	4.0	4.0	4	40	4.5	4.8	23
Q7	My instructor establishes a climate of respect for students.	0	0	0 1 100%	0	1	4.0	4.0	4	40	4.7	4.9	15
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0 1 100%	0	1	4.0	4.0	4	40	4.5	4.8	19
Q9	My instructor encourages me to do my best work.	0	0	0 1 100%	0	1	4.0	4.0	4	39	4.7	4.9	15
Q10	My instructor provides timely feedback to guide my progress.	0	0	0 1 100%	0	1	4.0	4.0	4	40	4.3	4.7	27
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0 1 100%	0	1	4.0	4.0	4	40	4.7	4.8	15
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0 1 100%	0	1	4.0	4.0	4	40	4.7	4.8	19
Q13	My instructor encourages me to develop new viewpoints.	0	0	0 1 100%	0	1	4.0	4.0	4	40	4.6	4.8	19
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0 1 100%	0	1	4.0	4.0	4	39	4.5	4.8	27

					cou	N - 57	'20 -	002				Survey Co	mparisons	ş
Lal	s and Online Learning Questions			Response	es (%)			C	ourse			1	AII	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	41	4.5	4.7	35
Q1	The course topics are organized in a coherent fashion.	0	0	1 100%	0	0	1	3.0	3.0	3	59	4.5	4.8	8

Course:	COUN - 5721 001 - Internship in Counseling II	Department:	EDUCATION
Responsible Faculty:	Jennifer Baggerly	Responses / Expected:	3 / 9 (33.33%)

						Jennife	er B	aggerly				Survey Co	mpariso	ns
Cou	se Evaluation Questions	F	Res	por	ıse	s (%)		Indi	vidua	l		EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.3	4.6	85
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.6	4.7	81
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.7	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	39	4.6	4.8	73
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	39	4.4	4.7	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.5	4.8	69
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.7	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.5	4.8	77
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	39	4.7	4.9	69
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.3	4.7	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.7	4.8	73
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.7	4.8	73
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.6	4.8	81
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	39	4.5	4.8	77

						COUN -	- 572	21 - 001				Survey Co	omparisons	
La	bs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			1	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	41	4.5	4.7	85
Q	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	59	4.5	4.8	75

Course:	COUN - 5740 001 - Group Counseling Theories and Procedures	Department:	EDUCATION
Responsible Faculty:	Shanda Riley	Responses / Expected:	3 / 4 (75%)

					Sh	anda R	iley	,				Survey Co	mpariso	ons
Cou	se Evaluation Questions		Res	pon	ses (%)			Indi	vidual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	40	4.3	4.6	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.6	4.7	81
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.7	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	39	4.6	4.8	73
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	39	4.4	4.7	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.5	4.8	69
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.7	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.5	4.8	77
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	39	4.7	4.9	69
Q10	My instructor provides timely feedback to guide my progress.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	40	4.3	4.7	42
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.7	4.8	73
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.7	4.8	73
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	40	4.6	4.8	81
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	39	4.5	4.8	77

						COUN -	- 574	10 - 001				Survey Co	omparisons	:
Labs and Online Learning Questions			Res	pons	ses	(%)		Co	ourse				All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated	d into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	41	4.5	4.7	85
Q16 The course topics are organized in	a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	59	4.5	4.8	75

Course:	COUN - 5765 040 - Appraisal in Counseling	Department:	EDUCATION
Responsible Faculty:	Jennifer Baggerly	Responses / Expected:	4 / 14 (28.57%)

		Jennifer Ba Responses (%)					Зас	ggerly				Survey Co	mpariso	ns
Cou	se Evaluation Questions	Responses (%)						Indi	vidual			EDUC	ATION	
		SD	D N	1	A :	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 0			3 '5%	4	4.8	4.8	5	40	4.3	4.6	65
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 0	2		3 '5%	4	4.8	4.8	5	40	4.6	4.7	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0 0			3 '5%	4	4.8	4.8	5	40	4.7	4.8	42
Q4	My instructor provides material that helps me do well on assignments.	0	0 0)	0 10	4 00%	4	5.0	5.0	5	39	4.6	4.8	73
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 0		1 25% 7	3 '5%	4	4.8	4.8	5	39	4.4	4.7	58
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 0)	0 10	4 00%	4	5.0	5.0	5	40	4.5	4.8	69
Q7	My instructor establishes a climate of respect for students.	0	0 0)	0 10	4	4	5.0	5.0	5	40	4.7	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0 0			3 '5%	4	4.8	4.8	5	40	4.5	4.8	42
Q9	My instructor encourages me to do my best work.	0	0 0)	0 10	4 00%	4	5.0	5.0	5	39	4.7	4.9	69
Q10	My instructor provides timely feedback to guide my progress.	0	0 0)	0 10	4	4	5.0	5.0	5	40	4.3	4.7	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 0)	0 10	4 00%	4	5.0	5.0	5	40	4.7	4.8	73
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 0)	0 10	4	4	5.0	5.0	5	40	4.7	4.8	73
Q13	My instructor encourages me to develop new viewpoints.	0	0 0			3 '5%	4	4.8	4.8	5	40	4.6	4.8	42
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 0) 2	1 25% 7	3	4	4.8	4.8	5	39	4.5	4.8	42

					(COUN -	576	5 - 040				Survey Co	mparisons	
La	bs and Online Learning Questions		Re	sponse	s (%)		Co	ourse			J	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	41	4.5	4.7	63
Q	The course topics are organized in a coherent fashion.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	59	4.5	4.8	40

Course:	COUN - 5790 001 - Counseling Culturally Diverse Clients	Department:	EDUCATION
Responsible Faculty:	Yu-fen Lin	Responses / Expected:	3 / 8 (37.50%)

					Yu-f	en Lin					\$	Survey Co	omparis	ons
Cou	se Evaluation Questions		Res	ponses	s (%)			Indi	vidual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	2 66.7%	0	3	3.7	3.8	4	40	4.3	4.6	19
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	40	4.6	4.7	15
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	40	4.7	4.8	35
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0	4.0	4	39	4.6	4.8	19
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	39	4.4	4.7	19
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	40	4.5	4.8	23
Q7	My instructor establishes a climate of respect for students.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	40	4.7	4.9	15
Q8	My instructor is available to me on matters pertaining to the course.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	40	4.5	4.8	19
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	39	4.7	4.9	15
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	0	2 66.7%	0	3	3.0	3.8	4	40	4.3	4.7	15
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	40	4.7	4.8	27
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	40	4.7	4.8	19
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	40	4.6	4.8	19
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	39	4.5	4.8	27

					COUN -	579	90 - 001				Survey Co	mparisons	;
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			1	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	41	4.5	4.7	-
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	59	4.5	4.8	75

Course:	COUN - 5900 001 - Special Problems	Department:	EDUCATION
Responsible Faculty:	Jamaica Chapple	Responses / Expected:	1 / 4 (25%)

						Jamai	ca (Chapple				Survey Co	ompariso	ns
Cou	se Evaluation Questions	R	esp	oon	se	s (%)		Indi	ividua			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.3	4.6	85
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.6	4.7	81
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.7	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	39	4.6	4.8	73
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	39	4.4	4.7	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.5	4.8	69
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.7	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.5	4.8	77
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	39	4.7	4.9	69
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.3	4.7	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.7	4.8	73
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.7	4.8	73
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	40	4.6	4.8	81
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	39	4.5	4.8	77

Course:	EDAD - 5500 024 - Internship in Educational Administration	Department:	SEHSTE
Responsible Faculty:	Danielle Reynolds	Responses / Expected:	3 / 15 (20%)

					Da	nielle R	eyr	nolds				Survey Co	mpariso	ns
Cou	rse Evaluation Questions		R	esp	onses (%)		Indi	vidual			SEI	ISTE	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	37	4.3	4.6	90
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	37	4.4	4.6	90
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	37	4.4	4.7	90
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	37	4.3	4.6	90
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	37	4.4	4.6	90
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	37	4.2	4.6	90
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	37	4.5	4.8	90
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	37	4.4	4.7	70
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	37	4.5	4.7	90
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	37	4.2	4.5	70
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	37	4.4	4.6	90
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	37	4.5	4.8	80
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	37	4.5	4.7	90
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	37	4.5	4.7	90

						EDAD -	550	0 - 024			Survey Co	omparisons	;	
I	Labs and Online Learning Questions		Res	pons	ses	(%)		Co	ourse				All	
			D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
	Q15 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	41	4.5	4.7	85
	Q16 The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	59	4.5	4.8	75

 Course:
 EDAD - 5500 025 - Internship in Educational Administration
 Department:
 SEHSTE

 Responsible Faculty:
 Jerry Burkett
 Responses / Expected:
 8 / 15 (53.33%)

					Jerr	y Burke	tt					Survey Co	omparis	ons
Cour	se Evaluation Questions		R	esponse	es (%)			Indi	vidual			SE	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4	4.7	5	37	4.3	4.6	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	37	4.4	4.6	70
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	37	4.4	4.7	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4	4.7	5	37	4.3	4.6	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	37	4.4	4.6	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1	4.3	4	37	4.2	4.6	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	37	4.5	4.8	70
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	37	4.4	4.7	50
Q9	My instructor encourages me to do my best work.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	37	4.5	4.7	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	6 75%	2 25%	8	4.3	4.2	4	37	4.2	4.5	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	37	4.4	4.6	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	8 100%	8	5.0	5.0	5	37	4.5	4.8	80
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	37	4.5	4.7	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	37	4.5	4.7	70

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					Е	EDAD - 55	00 -	025			-	Survey Co	mparisons	;
L	abs and Online Learning Questions			Resp	onses (%)		Co	ourse			1	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
q	The section or lab is well integrated into the course structure.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	41	4.5	4.7	58
q	The course topics are organized in a coherent fashion.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	59	4.5	4.8	40

Course:	EDBE - 4490 001 - Teaching ESL EC-12: Instructional Strategies and Resources	Department:	SEHSTE
Responsible Faculty:	Ana Coca	Responses / Expected:	7 / 19 (36.84%)

					An	a Coca					;	Survey Co	ompariso	ons
Cou	se Evaluation Questions		R	esponse	es (%)			Indi	ividual			SE	HSTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 14.3%	2 28.6%	1 14.3%	3 42.9%	7	3.9	4.0	4	37	4.3	4.6	20
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0	4.3	4	37	4.4	4.6	10
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	37	4.4	4.7	30
Q4	My instructor provides material that helps me do well on assignments.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0	4.3	4	37	4.3	4.6	30
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0	4.3	4	37	4.4	4.6	30
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 14.3%	2 28.6%	1 14.3%	3 42.9%	7	3.9	4.0	4	37	4.2	4.6	20
Q7	My instructor establishes a climate of respect for students.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	37	4.5	4.8	30
Q8	My instructor is available to me on matters pertaining to the course.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0	4.3	4	37	4.4	4.7	30
Q9	My instructor encourages me to do my best work.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1	4.3	4	37	4.5	4.7	30
Q10	My instructor provides timely feedback to guide my progress.	0	1 14.3%	2 28.6%	1 14.3%	3 42.9%	7	3.9	4.0	4	37	4.2	4.5	30
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1	4.3	4	37	4.4	4.6	30
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	37	4.5	4.8	30
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	37	4.5	4.7	30
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1	4.3	4	37	4.5	4.7	30

				EDB		-	Survey Co	mparison	s				
Labs and Online Learning Questions			Respon	ises (%)			Co	ourse			1	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	41	4.5	4.7	50
Q16 The course topics are organized in a coherent fashion.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0	4.0	4	59	4.5	4.8	25

Course:	EDUC - 3320 021 - Foundations of Education	Department:	SEHSTE
Responsible Faculty:	Yolanda Graham	Responses / Expected:	14 / 29 (48.28%)

					Yola	anda Gr	ahaı	n				Survey Co	mpariso	ons
Cou	se Evaluation Questions		F	Respon	ıses (%)			Indi	vidual			SE	ISTE	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 7.1%	0	1 7.1%	3 21.4%	9 64.3%	14	4.4	4.7	5	37	4.3	4.6	70
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 7.1%	0	0	5 35.7%	8 57.1%	14	4.4	4.6	5	37	4.4	4.6	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 7.1%	0	1 7.1%	3 21.4%	9 64.3%	14	4.4	4.7	5	37	4.4	4.7	70
Q4	My instructor provides material that helps me do well on assignments.	1 7.1%	0	1 7.1%	3 21.4%	9 64.3%	14	4.4	4.7	5	37	4.3	4.6	70
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 7.1%	0	0	4 28.6%	9 64.3%	14	4.4	4.7	5	37	4.4	4.6	70
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.1%	0	1 7.1%	2 14.3%	10 71.4%	14	4.4	4.8	5	37	4.2	4.6	70
Q7	My instructor establishes a climate of respect for students.	1 7.1%	0	0	3 21.4%	10 71.4%	14	4.5	4.8	5	37	4.5	4.8	50
Q8	My instructor is available to me on matters pertaining to the course.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6	4.9	5	37	4.4	4.7	90
Q9	My instructor encourages me to do my best work.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6	4.9	5	37	4.5	4.7	70
Q10	My instructor provides timely feedback to guide my progress.	1 7.1%	0	0	3 21.4%	10 71.4%	14	4.5	4.8	5	37	4.2	4.5	90
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 7.1%	0	0	4 28.6%	9 64.3%	14	4.4	4.7	5	37	4.4	4.6	70
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 7.1%	0	0	4 28.6%	9 64.3%	14	4.4	4.7	5	37	4.5	4.8	50
Q13	My instructor encourages me to develop new viewpoints.	1 7.1%	0	0	3 21.4%	10 71.4%	14	4.5	4.8	5	37	4.5	4.7	70
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.1%	0	0	4 28.6%	9 64.3%	14	4.4	4.7	5	37	4.5	4.7	50

						EDUC - 33	20 -		-	Survey Co	mparisons	s		
La	Labs and Online Learning Questions			Res	ponses (%)		Co	urse				All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	41	4.5	4.7	68
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 10%	9 90%	10	4.9	4.9	5	59	4.5	4.8	48

Course:	EPSY - 5050 040 - Foundations of Educational Research Methodology	Department:	EDUCATION
Responsible Faculty:	Phillip Ortiz	Responses / Expected:	7 / 21 (33.33%)

Cour	se Evaluation Questions		_			lip Ortiz	Z				;	Survey Co	•	ons
Cour	SE EVALUATION QUESTIONS	-	R	esponse	es (%)			Indi	vidual	I		EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	40	4.3	4.6	58
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	40	4.6	4.7	58
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	40	4.7	4.8	58
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	39	4.6	4.8	42
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	39	4.4	4.7	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	40	4.5	4.8	35
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	40	4.7	4.9	35
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	40	4.5	4.8	35
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	39	4.7	4.9	35
Q10	My instructor provides timely feedback to guide my progress.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0	4.3	4	40	4.3	4.7	35
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	40	4.7	4.8	42
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	40	4.7	4.8	42
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	40	4.6	4.8	58
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	0	6 85.7%	7	4.7	4.9	5	39	4.5	4.8	50

					EPSY -	505	0 - 040			Survey Comparisons						
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			-	All				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	41	4.5	4.7	-			
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	59	4.5	4.8	75			

Course:	HSML - 3000 040 - Human Service in the Nonprofit Sector	Department:	EDUCATION
Responsible Faculty:	Joy Patton	Responses / Expected:	5 / 14 (35.71%)

						Joy F	att	on				Survey Co	ompariso	ns
Cou	se Evaluation Questions		Resp	on	ıses (%)		Indi	vidual			EDUC	ATION	
		SD	D N	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 0	0	2 40%	3 60%	5	4.6	4.7	5	40	4.3	4.6	42
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 0	0	2 40%	3 60%	5	4.6	4.7	5	40	4.6	4.7	42
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0 0	0	1 20%	4 80%	5	4.8	4.9	5	40	4.7	4.8	50
Q4	My instructor provides material that helps me do well on assignments.	0	0 0	0	1 20%	4 80%	5	4.8	4.9	5	39	4.6	4.8	35
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 (0	2 40%	3 60%	5	4.6	4.7	5	39	4.4	4.7	42
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 0	0	0	5 100%	5	5.0	5.0	5	40	4.5	4.8	69
Q7	My instructor establishes a climate of respect for students.	0	0 0	0	0	5 100%	5	5.0	5.0	5	40	4.7	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0 (0	1 20%	4 80%	5	4.8	4.9	5	40	4.5	4.8	50
Q9	My instructor encourages me to do my best work.	0	0 0	0	0	5 100%	5	5.0	5.0	5	39	4.7	4.9	69
Q10	My instructor provides timely feedback to guide my progress.	0	0 0	0	0	5 100%	5	5.0	5.0	5	40	4.3	4.7	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 0	0	1 20%	4 80%	5	4.8	4.9	5	40	4.7	4.8	35
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 (0	1 20%	4 80%	5	4.8	4.9	5	40	4.7	4.8	35
Q13	My instructor encourages me to develop new viewpoints.	0	0 (0	1 20%	4 80%	5	4.8	4.9	5	40	4.6	4.8	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 0	ס	0	4 100%	4	5.0	5.0	5	39	4.5	4.8	77

					H	ISML - 30	00 -	040			Survey Comparisons						
Lab	s and Online Learning Questions			Resp	onses (%)		Co	ourse			1	All				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	41	4.5	4.7	50			
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	59	4.5	4.8	75			

Course:	KINE - 3551 001 - Physical and Health Literacy	Department:	SEHSTE
Responsible Faculty:	Shira Butler	Responses / Expected:	5 / 20 (25%)

					SI	hira Bu	ıtle	r				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	ponse	es (%)			Indi	vidual			SEF	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 20%	3 60%	1 20%	5	4.0	4.0	4	37	4.3	4.6	20
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	37	4.4	4.6	30
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 80%	1 20%	5	4.2	4.1	4	37	4.4	4.7	10
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 80%	1 20%	5	4.2	4.1	4	37	4.3	4.6	10
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	3 60%	1 20%	5	4.0	4.0	4	37	4.4	4.6	10
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	3 60%	1 20%	5	4.0	4.0	4	37	4.2	4.6	20
Q7	My instructor establishes a climate of respect for students.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	37	4.5	4.8	10
Q8	My instructor is available to me on matters pertaining to the course.	0	1 20%	0	3 60%	1 20%	5	3.8	4.0	4	37	4.4	4.7	10
Q9	My instructor encourages me to do my best work.	0	0	1 20%	3 60%	1 20%	5	4.0	4.0	4	37	4.5	4.7	10
Q10	My instructor provides timely feedback to guide my progress.	0	1 20%	1 20%	2 40%	1 20%	5	3.6	3.8	4	37	4.2	4.5	10
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 20%	0	3 60%	1 20%	5	3.8	4.0	4	37	4.4	4.6	10
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	3 60%	1 20%	5	4.0	4.0	4	37	4.5	4.8	10
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 80%	1 20%	5	4.2	4.1	4	37	4.5	4.7	10
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 80%	1 20%	5	4.2	4.1	4	37	4.5	4.7	10

					K	INE - :	3551	- 001			Survey Comparisons						
La	bs and Online Learning Questions		Re	spor	nses (%)			Co	ourse			J	All				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q.	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	41	4.5	4.7	35			
Q.	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	4.0	4	59	4.5	4.8	25			

Course:	LSCM - 4800 001 - Logistics Internship	Department:	BUSI
Responsible Faculty:	Subhro Mitra	Responses / Expected:	2 / 5 (40%)

						Subl	iro	Mitra				Survey C	ompariso	ns
Cou	se Evaluation Questions	R	es	por	se	s (%)		Ind	ividual			E	BUSI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50

	LSCM - 4800									Survey Comparisons					
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			,	All			
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	41	4.5	4.7	-		
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	59	4.5	4.8	75		

Course: ACCT - 2010 002 - Accounting Principles I (Financial Accounting)

Responsible Faculty: Cathy Scott

Responses / Expected: 4 / 6 (66.67%)

						Cathy	Sc	ott			5	Survey Co	nparisor	ıs
Cou	se Evaluation Questions	Responses (%)						Indi	vidual			BU	SI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.3	4.6	84
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.4	4.7	84
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.5	4.7	84
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.3	4.7	84
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.3	4.7	84
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	99	4.2	4.7	84
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.5	4.8	84
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0	5.0	5	99	4.5	4.8	88
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	5.0	5	98	4.4	4.7	84
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.4	4.7	88
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.5	4.7	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.4	4.7	84
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	100	4.4	4.7	69
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.2	4.7	84

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

					ACCT - 20	10 -	002				Survey Cor	nparisons	
Labs and Online Learning Questions			Res	onses (%	.)		C	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	234	4.3	4.6	69
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	324	4.4	4.7	69

Course:	AGER - 4560 040 - Minority Aging	Department:	EDUCATION
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	7 / 20 (35%)

					Iftekha	ar Amin					;	Survey Co	omparis	ons
Cour	se Evaluation Questions		Res	ponses	s (%)			Indi	vidual	l		EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0	4.0	4	56	4.3	4.5	32
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 14.3%	0	2 28.6%	3 42.9%	1 14.3%	7	3.4	3.7	4	56	4.2	4.5	14
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 14.3%	0	0	4 57.1%	2 28.6%	7	3.9	4.1	4	56	4.4	4.7	14
Q4	My instructor provides material that helps me do well on assignments.	1 14.3%	0	2 28.6%	4 57.1%	0	7	3.3	3.6	4	55	4.2	4.4	5
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 14.3%	0	3 42.9%	2 28.6%	1 14.3%	7	3.3	3.3	3	56	4.3	4.5	5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	1 14.3%	3 42.9%	2 28.6%	0	7	2.9	3.0	3	56	4.1	4.5	5
Q7	My instructor establishes a climate of respect for students.	1 14.3%	0	0	5 71.4%	1 14.3%	7	3.7	4.0	4	56	4.4	4.6	18
Q8	My instructor is available to me on matters pertaining to the course.	1 14.3%	0	1 14.3%	5 71.4%	0	7	3.4	3.8	4	55	4.3	4.5	5
Q9	My instructor encourages me to do my best work.	1 14.3%	0	3 42.9%	3 42.9%	0	7	3.1	3.3	3	56	4.5	4.7	5
Q10	My instructor provides timely feedback to guide my progress.	1 14.3%	1 14.3%	4 57.1%	1 14.3%	0	7	2.7	2.9	3	56	4.1	4.4	5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 14.3%	0	0	4 57.1%	2 28.6%	7	3.9	4.1	4	55	4.4	4.6	23
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 14.3%	0	2 28.6%	3 42.9%	1 14.3%	7	3.4	3.7	4	55	4.4	4.6	5
Q13	My instructor encourages me to develop new viewpoints.	1 14.3%	0	1 14.3%	5 71.4%	0	7	3.4	3.8	4	56	4.4	4.6	5
Q14	My instructor made the subject interesting and motivated me to learn.	1 14.3%	0	2 28.6%	3 42.9%	1 14.3%	7	3.4	3.7	4	56	4.4	4.7	5

				AGE	R - 4560 -	040)				Survey Cor	nparisons	s
Labs and Online Learning Questions		F	esponse	s (%)			C	ourse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 16.7%	0	1 16.7%	3 50%	1 16.7%	6	3.5	3.8	4	234	4.3	4.6	16
Q16 The course topics are organized in a coherent fashion.	1 16.7%	0	1 16.7%	3 50%	1 16.7%	6	3.5	3.8	4	324	4.4	4.7	6

Course:	ART - 1300 030 - Art Appreciation for Non-Art Majors	Department:	LiberalArt
Responsible Faculty:	Rafael Molina	Responses / Expected:	4 / 22 (18.18%)

						Rafae	I M	olina				Survey Co	mpariso	ns
Cou	se Evaluation Questions	Responses (%)				%)		Indi	vidual			Libe	ralArt	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.2	4.7	88
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.4	4.6	88
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	16	4.3	4.4	88
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.5	4.7	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.1	4.2	88
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.4	4.7	88
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.4	4.7	88
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.6	4.7	88
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.4	4.7	88
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.5	4.7	88
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.5	4.7	88
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.3	4.6	88
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.2	4.7	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	17	4.2	4.7	88

					ART - 130	0 - 0	30				Survey Cor	nparisons	
Labs and Online Learning Questions			Res	oonses (%	.)		C	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	234	4.3	4.6	26
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	324	4.4	4.7	56

Course:	BCIS - 3610 001 - Basic Information Systems	Department:	BUSI
Responsible Faculty:	Theodore Larson	Responses / Expected:	4 / 28 (14.29%)

		1												=
					The	odore L	ars	on			S	urvey Co	npariso	ns
Cou	se Evaluation Questions		Res	ponse	es (%)			Indi	vidual			BU	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 25%	1 25%	0	2 50%	4	3.8	4.0	4	100	4.3	4.6	19
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	100	4.4	4.7	28
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	100	4.5	4.7	25
Q4	My instructor provides material that helps me do well on assignments.	1 25%	0	1 25%	0	2 50%	4	3.5	4.0	4	100	4.3	4.7	16
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	100	4.3	4.7	31
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	99	4.2	4.7	31
Q7	My instructor establishes a climate of respect for students.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	100	4.5	4.8	28
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	99	4.5	4.8	28
Q9	My instructor encourages me to do my best work.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	98	4.4	4.7	31
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 50%	0	2 50%	4	4.0	4.0	4	100	4.4	4.7	16
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.5	4.7	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	100	4.4	4.7	31
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	100	4.4	4.7	31
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0	1 25%	0	2 50%	4	3.5	4.0	4	100	4.2	4.7	25

				BCI	S - 3610	0 - 0	01				Survey Cor	mparisons	;
bs and Online Learning Questions		Res	sponse	s (%)			C	ourse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	234	4.3	4.6	52
Q16 The course topics are organized in a coherent fashion.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	324	4.4	4.7	36

Course:	BIOL - 1082 001 - Biology for Educators	Department:	LIFESCI
Responsible Faculty:	Keriman Livingston	Responses / Expected:	10 / 10 (100%)

		1			Ker	iman	Livir	ngston				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Re	spons	ses (%				vidual		LIFESCI			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	52	4.5	4.7	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.7	4.8	60
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.8	4.8	45
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	52	4.7	4.8	70
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	0	9 90%	10	4.8	4.9	5	52	4.7	4.8	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	52	4.6	4.8	70
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 10%	9 90%	10	4.9	4.9	5	52	4.8	4.9	55
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.8	4.9	40
Q9	My instructor encourages me to do my best work.	0	0	0	1 10%	9 90%	10	4.9	4.9	5	52	4.7	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.7	4.9	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	51	4.8	4.9	40
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.7	4.8	70
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	52	4.7	4.8	60
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	52	4.7	4.8	60

					В	BIOL - 10		Survey Comparisons							
Labs	Labs and Online Learning Questions		R	espons	ses (%)			Co	urse		All				
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	4 40%	6 60%	10	4.6	4.7	5	234	4.3	4.6	61	
Q16	The course topics are organized in a coherent fashion.	0	0	1 10%	3 30%	6 60%	10	4.5	4.7	5	324	4.4	4.7	46	

Course:	BIOL - 1082 301 - Biology for Educators	Department:	LIFESCI
Responsible Faculty:	Keriman Livingston	Responses / Expected:	10 / 10 (100%)

					Ker	iman l	Livin	ngston				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Re	spons	ses (%	·)		Indi	vidual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 10%	2 20%	7 70%	10	4.6	4.8	5	52	4.5	4.7	55
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	52	4.7	4.8	60
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 30%	7 70%	10	4.7	4.8	5	52	4.8	4.8	35
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.7	4.8	70
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.7	4.8	55
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 10%	1 10%	8 80%	10	4.7	4.9	5	52	4.6	4.8	70
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.8	4.9	30
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.8	4.9	40
Q9	My instructor encourages me to do my best work.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.7	4.8	65
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.7	4.9	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	51	4.8	4.9	40
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.7	4.8	70
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.7	4.8	60
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	52	4.7	4.8	60

Labs and Online Learning Questions					BIOL -	1082		Survey Comparisons					
		Re	spoi	nses (%)		Co	urse		All			
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	4 40%	6 60%	10	4.6	4.7	5	234	4.3	4.6	61
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	324	4.4	4.7	72

Course:	BIOL - 1132 030 - Environmental Science	Department:	LIFESCI
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	2 / 17 (11.76%)

					Muham	mod V	0110	ufuddin				Survey Co	mnarica	nc	
Cou	se Evaluation Questions		F	Respo	nses (%		ous		vidual		LIFESCI				
		SD	Т	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	52	4.5	4.7	10	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	52	4.7	4.8	10	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	52	4.8	4.8	85	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.8	35	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	52	4.7	4.8	15	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	52	4.6	4.8	35	
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	52	4.8	4.9	5	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	52	4.8	4.9	10	
Q9	My instructor encourages me to do my best work.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	52	4.7	4.8	10	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.9	10	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0	4.0	4	51	4.8	4.9	5	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	52	4.7	4.8	10	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 100%	0	2	4.0	4.0	4	52	4.7	4.8	10	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.8	30	

Labs and Online Learning Questions					BIOL -	1132	2 - 030			Survey Comparisons					
		Responses (%)					Co	ourse		All					
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	234	4.3	4.6	52		
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	324	4.4	4.7	36		

Course:	BIOL - 1132 330 - Environmental Science	Department:	LIFESCI
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	2 / 17 (11.76%)

				Muha	mmed	l Yc	ousufudo	din			Survey Co	mpariso	ns
Cour	se Evaluation Questions		Res	ponses (%)		Indi	ividual			LIF	ESCI	
		SD	D	N A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.5	4.7	40
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.8	40
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.8	4.8	20
Q4	My instructor provides material that helps me do well on assignments.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.8	35
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.8	40
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.6	4.8	35
Q7	My instructor establishes a climate of respect for students.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.8	4.9	15
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.8	4.9	10
Q9	My instructor encourages me to do my best work.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.8	25
Q10	My instructor provides timely feedback to guide my progress.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.9	10
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	51	4.8	4.9	15
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.8	25
Q13	My instructor encourages me to develop new viewpoints.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.8	35
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0 1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.8	30

					BIOL -	1132	- 330				Survey Co	nparisons	
Labs and Online Learning Questions		Re	spoi	nses (%)		Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	234	4.3	4.6	52
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	324	4.4	4.7	36

Course:	BIOL - 2301 030 - Human Anatomy and Physiology I	Department:	LIFESCI
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	1 / 5 (20%)

						Aubr	ey I	Frantz				Survey Co	ompariso	ns
Cour	se Evaluation Questions	R	les	poı	ıse	s (%)		Ind	ividual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.5	4.7	90
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.7	4.8	90
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.8	4.8	85
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.7	4.8	95
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.7	4.8	90
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.6	4.8	95
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.8	4.9	80
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.8	4.9	85
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.7	4.8	90
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.7	4.9	85
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	51	4.8	4.9	85
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.7	4.8	90
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.7	4.8	90
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.7	4.8	90

					BIOL - 23	01 -	030				Survey Cor	nparisons	
Labs and Online Learning Questions		F	Resp	onses (%)		Co	ourse			A	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	234	4.3	4.6	26
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	324	4.4	4.7	90

Course:	BIOL - 2311 001 - Human Anatomy and Physiology I Laboratory	Department:	LIFESCI	
Responsible Faculty:	Mohammadmehdi Eslamieh	Responses / Expected:	1 / 6 (16.67%)	

				ı	Moham	madme	hd	i Eslami	ieh			Survey Co	mpariso	ns
Cour	se Evaluation Questions		Res	spo	nses (9	%)		Indi	vidual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.5	4.7	90
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0	4.0	4	52	4.7	4.8	10
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.8	4.8	85
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0	4.0	4	52	4.7	4.8	5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0	4.0	4	52	4.7	4.8	15
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	52	4.6	4.8	10
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.8	4.9	80
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.8	4.9	85
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0	4.0	4	52	4.7	4.8	10
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	52	4.7	4.9	85
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	51	4.8	4.9	85
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0	4.0	4	52	4.7	4.8	10
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0	4.0	4	52	4.7	4.8	10
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	52	4.7	4.8	5

						BIOL -	231	1 - 001				- Survey Con	nparisons	
Lab	s and Online Learning Questions		Res	pon	ses	(%)		C	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	234	4.3	4.6	92
Q10	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	324	4.4	4.7	90

Course:	BIOL - 3451 001 - Genetics	Department:	LIFESCI
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	8 / 9 (88.89%)

				Irene	Rodrigue	z V	/irgen				Survey Co	mparisc	ns
Cour	se Evaluation Questions		Res	onses ('	6)		Indi	vidual			LIF	ESCI	
		SD D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 0	0	2 25%	6 75%	8	4.8	4.8	5	52	4.5	4.7	65
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 0	0	0	8 100%	8	5.0	5.0	5	52	4.7	4.8	90
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 0	0	1 12.59	7 87.5%	8	4.9	4.9	5	52	4.8	4.8	65
Q4	My instructor provides material that helps me do well on assignments.	0 0	0	1 12.59	7 87.5%	8	4.9	4.9	5	52	4.7	4.8	85
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 0	0	0	8 100%	8	5.0	5.0	5	52	4.7	4.8	90
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 0	1 12.5	1 % 12.59	6 5 75%	8	4.6	4.8	5	52	4.6	4.8	55
Q7	My instructor establishes a climate of respect for students.	0 0	0	0	8 100%	8	5.0	5.0	5	52	4.8	4.9	80
Q8	My instructor is available to me on matters pertaining to the course.	0 0	0	1 12.59	7 87.5%	8	4.9	4.9	5	52	4.8	4.9	65
Q9	My instructor encourages me to do my best work.	0 0	1 12.5	1 % 12.59	6 3 75%	8	4.6	4.8	5	52	4.7	4.8	55
Q10	My instructor provides timely feedback to guide my progress.	0 0	0	2 25%	6 75%	8	4.8	4.8	5	52	4.7	4.9	35
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 0	0	1 12.5	7 87.5%	8	4.9	4.9	5	51	4.8	4.9	65
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 0	0	2 25%	6 75%	8	4.8	4.8	5	52	4.7	4.8	55
Q13	My instructor encourages me to develop new viewpoints.	0 0	0	1 12.5	7 87.5%	8	4.9	4.9	5	52	4.7	4.8	75
Q14	My instructor made the subject interesting and motivated me to learn.	0 0	0	2 25%	6 75%	8	4.8	4.8	5	52	4.7	4.8	45

					BI	OL - 3451	- 00)1				Survey Co	mparisons	;
Labs	and Online Learning Questions		Re	spo	nses (%)			C	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	234	4.3	4.6	92
Q16	The course topics are organized in a coherent fashion.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2	4.8	5	324	4.4	4.7	56

Course:	BIOL - 4311 030 - Herpetology	Department:	LIFESCI
Responsible Faculty:	Jerrod Tynes	Responses / Expected:	11 / 26 (42.31%)

					Je	rrod Tyr	es					Survey Co	mpariso	ons
Cour	se Evaluation Questions		R	espons	ses (%)			Indi	vidual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	6 54.5%	5 45.5%	11	4.5	4.4	4	52	4.5	4.7	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	52	4.7	4.8	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	52	4.8	4.8	55
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	52	4.7	4.8	55
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	52	4.7	4.8	65
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7	4.9	5	52	4.6	4.8	85
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	52	4.8	4.9	45
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7	4.9	5	52	4.8	4.9	55
Q9	My instructor encourages me to do my best work.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	4.7	5	52	4.7	4.8	45
Q10	My instructor provides timely feedback to guide my progress.	0	1 9.1%	0	1 9.1%	9 81.8%	11	4.6	4.9	5	52	4.7	4.9	65
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	51	4.8	4.9	55
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 27.3%	8 72.7%	11	4.7	4.8	5	52	4.7	4.8	45
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	52	4.7	4.8	45
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 18.2%	9 81.8%	11	4.8	4.9	5	52	4.7	4.8	75

					BIOL - 43	11 - (030				Survey Cor	nparisons	
Labs and Online Learning Questions			Res	ponses (%	.)		C	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	234	4.3	4.6	84
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	324	4.4	4.7	79

Course:	BUSI - 4940 011 - Business Policy	Department:	BUSI
Responsible Faculty:	Ayse Goktan Bilhan	Responses / Expected:	2 / 23 (8.70%)

						Ayse G	okta	n Bilhar	1		8	Survey Co	mpariso	1s
Cour	se Evaluation Questions	F	es	por	ses	s (%)		Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.3	4.6	84
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.4	4.7	84
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.5	4.7	84
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.3	4.7	84
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.3	4.7	84
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	99	4.2	4.7	84
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.5	4.8	84
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	99	4.5	4.8	88
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	98	4.4	4.7	84
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.4	4.7	88
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.5	4.7	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.4	4.7	84
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.4	4.7	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.2	4.7	84

					BUSI -	494	0 - 011				- Survey Con	nparisons	
Labs and Online Learning Questions		Res	pons	ses	(%)		Co	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	234	4.3	4.6	92
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	324	4.4	4.7	90

Course:	CDFS - 3320 040 - Developmental Sexuality	Department:	EDUCATION
Responsible Faculty:	Janice Moore	Responses / Expected:	1 / 12 (8.33%)

						Janice	Мо	ore				Survey Co	ompariso	ns
Cour	se Evaluation Questions		Re	spc	nses ('	%)		Indi	vidual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0	4.0	4	56	4.3	4.5	32
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	56	4.2	4.5	82
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	56	4.4	4.7	82
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	55	4.2	4.4	82
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	56	4.3	4.5	82
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	56	4.1	4.5	91
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	56	4.4	4.6	86
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	55	4.3	4.5	86
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0	4.0	4	56	4.5	4.7	18
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	56	4.1	4.4	86
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	55	4.4	4.6	82
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	55	4.4	4.6	82
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	56	4.4	4.6	91
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	56	4.4	4.7	82

						CDFS -	332	20 - 040				- Survey Con	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	234	4.3	4.6	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	324	4.4	4.7	90

Course:	CDFS - 4133 040 - Adolescent Development	Department:	EDUCATION
Responsible Faculty:	Nedra Washington	Responses / Expected:	8 / 11 (72.73%)

					Nedra '	Washin	gto	n				Survey Co	mpariso	ons
Cour	se Evaluation Questions		R	esponse	es (%)			Indi	vidual			EDUC	ATION	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 12.5%	2 25%	5 62.5%	0	8	3.5	3.7	4	56	4.3	4.5	14
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 25%	0	6 75%	0	8	3.5	3.8	4	56	4.2	4.5	23
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3	4.3	4	56	4.4	4.7	23
Q4	My instructor provides material that helps me do well on assignments.	0	1 12.5%	1 12.5%	6 75%	0	8	3.6	3.8	4	55	4.2	4.4	23
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	6 75%	1 12.5%	8	4.0	4.0	4	56	4.3	4.5	27
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	4 50%	1 12.5%	3 37.5%	8	3.9	3.5	3.5	56	4.1	4.5	14
Q7	My instructor establishes a climate of respect for students.	0	0	2 25%	4 50%	2 25%	8	4.0	4.0	4	56	4.4	4.6	18
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1	4.1	4	55	4.3	4.5	32
Q9	My instructor encourages me to do my best work.	0	0	0	5 62.5%	3 37.5%	8	4.4	4.3	4	56	4.5	4.7	32
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 37.5%	2 25%	3 37.5%	8	4.0	4.0	4	56	4.1	4.4	36
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 12.5%	1 12.5%	5 62.5%	1 12.5%	8	3.8	3.9	4	55	4.4	4.6	5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	6 75%	2 25%	8	4.3	4.2	4	55	4.4	4.6	23
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1	4.2	4	56	4.4	4.6	23
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1	4.2	4	56	4.4	4.7	27

				(CDFS - 413	33 -	040				Survey Co	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		C	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	5 83.3%	1 16.7%	6	4.2	4.1	4	234	4.3	4.6	36
Q16 The course topics are organized in a coherent fashion.	0	0	0	7 87.5%	1 12.5%	8	4.1	4.1	4	324	4.4	4.7	16

Course:	CDFS - 4333 040 - Family Resource Management	Department:	EDUCATION
Responsible Faculty:	Janice Moore	Responses / Expected:	6 / 9 (66.67%)

					Janie	се Моо	re					Survey Co	mpariso	ons
Cour	se Evaluation Questions		R	esponse	es (%)			Indi	ividual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	56	4.3	4.5	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	56	4.2	4.5	45
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	56	4.4	4.7	41
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	55	4.2	4.4	41
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	56	4.3	4.5	41
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	56	4.1	4.5	41
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	56	4.4	4.6	32
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 80%	1 20%	5	4.2	4.1	4	55	4.3	4.5	41
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	56	4.5	4.7	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	56	4.1	4.4	55
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	55	4.4	4.6	36
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	55	4.4	4.6	41
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	56	4.4	4.6	36
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3	4.8	5	56	4.4	4.7	45

				CI	DFS - 4333	3 - 0	40				Survey Co	nparisons	;
Labs and Online Learning Questions			Respons	ses (%)			С	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	234	4.3	4.6	44
Q16 The course topics are organized in a coherent fashion.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	324	4.4	4.7	19

Course:	CDFS - 4350 040 - Child Development Seminar: Current Trends and Issues	Department:	EDUCATION
Responsible Faculty:	Nedra Washington	Responses / Expected:	5 / 9 (55.56%)

					Nedra	Wash	ing	ton				Survey Co	mpariso	ons
Cou	se Evaluation Questions		Res	ponse	s (%)			Indi	ividual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 20%	0	1 20%	3 60%	0	5	3.2	3.7	4	56	4.3	4.5	5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 20%	2 40%	1 20%	1 20%	5	3.4	3.3	3	56	4.2	4.5	5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 20%	3 60%	1 20%	5	4.0	4.0	4	56	4.4	4.7	5
Q4	My instructor provides material that helps me do well on assignments.	1 20%	0	1 20%	3 60%	0	5	3.2	3.7	4	55	4.2	4.4	14
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 20%	0	4 80%	0	5	3.6	3.9	4	56	4.3	4.5	14
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 40%	2 40%	1 20%	5	3.8	3.8	4	56	4.1	4.5	23
Q7	My instructor establishes a climate of respect for students.	0	0	2 40%	2 40%	1 20%	5	3.8	3.8	4	56	4.4	4.6	5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	3 60%	1 20%	5	4.0	4.0	4	55	4.3	4.5	18
Q9	My instructor encourages me to do my best work.	0	0	2 40%	1 20%	2 40%	5	4.0	4.0	4	56	4.5	4.7	18
Q10	My instructor provides timely feedback to guide my progress.	0	1 20%	1 20%	2 40%	1 20%	5	3.6	3.8	4	56	4.1	4.4	14
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 40%	1 20%	2 40%	5	4.0	4.0	4	55	4.4	4.6	14
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	55	4.4	4.6	32
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 40%	1 20%	2 40%	5	4.0	4.0	4	56	4.4	4.6	14
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 40%	2 40%	1 20%	5	3.8	3.8	4	56	4.4	4.7	14

					CI	DFS - 43	350 -	- 040				Survey Cor	nparisons]
Lab	s and Online Learning Questions		Re	espo	nses (%)			Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	5 100%	0	5	4.0	4.0	4	234	4.3	4.6	26
Q10	The course topics are organized in a coherent fashion.	1 20%	0	0	3 60%	1 20%	5	3.6	4.0	4	324	4.4	4.7	11

Course:	CHEM - 4670 030 - Introduction to Medicinal Chemistry	Department:	LIFESCI
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	2 / 12 (16.67%)

					Muha	mmed	Yo	usufudd	in			Survey Co	mpariso	ns
Cour	se Evaluation Questions		Res	poi	nses ((%)		Indi	vidual			LIF	ESCI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	52	4.5	4.7	40
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.8	40
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	52	4.8	4.8	20
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.8	35
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	52	4.7	4.8	40
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	52	4.6	4.8	35
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	52	4.8	4.9	80
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	52	4.8	4.9	85
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	52	4.7	4.8	90
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	52	4.7	4.9	85
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	51	4.8	4.9	85
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	52	4.7	4.8	90
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	52	4.7	4.8	90
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	52	4.7	4.8	90

					(СНЕМ -	467	0 - 030				- Survey Cor	nparisons	
Labs	and Online Learning Questions		Re	spor	ıses (%)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	234	4.3	4.6	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	324	4.4	4.7	36

Course:	CJUS - 2100 030 - Crime and Justice in the United States	Department:	Criminal J
Responsible Faculty:	Mark Stallo	Responses / Expected:	2 / 13 (15.38%)

					M	lark S	talle	0				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	ponse	es (%)			Indi	vidual			Cri	ninal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	10	4.2	4.5	13
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	10	4.4	4.5	13
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	10	4.6	4.8	13
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	10	4.5	4.7	13
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	10	4.1	4.5	13
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	9	4.2	4.3	25
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	10	4.7	4.8	38
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	10	4.4	4.5	13
Q9	My instructor encourages me to do my best work.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	10	4.3	4.5	13
Q10	My instructor provides timely feedback to guide my progress.	0	1 50%	0	0	1 50%	2	3.5	3.5	3.5	10	4.3	4.5	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	10	4.6	4.7	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	10	4.4	4.5	13
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	10	4.5	4.7	13
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	10	4.6	4.8	13

				CJUS	S - 210	00 -	030				Survey Co	nparisons	
Labs and Online Learning Questions		Res	ponses	(%)			C	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	234	4.3	4.6	11
Q16 The course topics are organized in a coherent fashion.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	324	4.4	4.7	4

Course:	CJUS - 2600 030 - Diversity Issues in Criminal Justice	Department:	Criminal J
Responsible Faculty:	John Coleman	Responses / Expected:	3 / 25 (12%)

					Jol	hn Colei	mai	n				Survey Co	mpariso	ons
Cour	se Evaluation Questions			Respon	ses (%)			Indi	vidual			Crin	ninal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	10	4.2	4.5	88
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	10	4.4	4.5	88
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	10	4.6	4.8	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	10	4.5	4.7	63
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	10	4.1	4.5	63
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	9	4.2	4.3	88
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	10	4.7	4.8	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	10	4.4	4.5	88
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	10	4.3	4.5	88
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	10	4.3	4.5	88
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	10	4.6	4.7	88
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	10	4.4	4.5	88
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	10	4.5	4.7	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	10	4.6	4.8	75

					CJUS -	260	00 - 030				- Survey Con	nparisons	
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	234	4.3	4.6	92
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	324	4.4	4.7	90

Course:	CJUS - 4700 030 - Research Methods in Criminal Justice	Department:	Criminal J
Responsible Faculty:	Nahid Siddique	Responses / Expected:	3 / 14 (21.43%)

					Na	nid Sidd	iqu	e				Survey Co	mpariso	ons
Cou	se Evaluation Questions			Respon	ıses (%)			Indi	vidual			Crir	ninal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	10	4.2	4.5	38
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	10	4.4	4.5	38
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	10	4.6	4.8	38
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	10	4.5	4.7	38
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	10	4.1	4.5	38
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	9	4.2	4.3	63
Q 7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	10	4.7	4.8	13
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	10	4.4	4.5	38
Q9	My instructor encourages me to do my best work.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	10	4.3	4.5	38
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	10	4.3	4.5	38
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	10	4.6	4.7	13
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	10	4.4	4.5	38
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	10	4.5	4.7	38
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	10	4.6	4.8	38

				(CJUS - 470	00 -	030				Survey Co	nparisons	
Labs and Online Learning Questions			Res	ponses (%	.)		C	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	4.0	4	234	4.3	4.6	26
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	324	4.4	4.7	24

Course:	CJUS - 4700 031 - Research Methods in Criminal Justice	Department:	Criminal J
Responsible Faculty:	Nahid Siddique	Responses / Expected:	2 / 16 (12.50%)

					ı	Nahid S	idd	ique				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	spo	nses ('	%)		Indi	vidual			Cri	ninal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	10	4.2	4.5	63
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	10	4.4	4.5	63
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	10	4.6	4.8	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	10	4.5	4.7	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	5.0	5	10	4.1	4.5	88
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	9	4.2	4.3	25
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	10	4.7	4.8	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	10	4.4	4.5	63
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	10	4.3	4.5	63
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	10	4.3	4.5	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	10	4.6	4.7	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	10	4.4	4.5	63
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	10	4.5	4.7	63
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	10	4.6	4.8	75

					CJUS - 4	700	- 031				Survey Cor	nparisons	
Labs and Online Learning Questions		R	espo	nses (%	6)		Co	ourse			A	I	
	SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	234	4.3	4.6	52
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	324	4.4	4.7	90

Course:	COMM - 1010 031 - Introduction to Communication	Department:	LangCom
Responsible Faculty:	Dr. Glenda Balas	Responses / Expected:	4 / 20 (20%)

					GI	enda E	Bala	ıs				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	ponse	es (%)			Indi	vidual			Lan	gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	14	3.8	4.2	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	14	4.1	4.5	63
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	14	4.4	4.6	25
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	14	4.3	4.6	38
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	14	3.9	4.3	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	14	4.1	4.5	63
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	14	4.4	4.7	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	14	4.4	4.6	75
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	14	4.1	4.5	63
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	14	4.0	4.5	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	14	4.3	4.6	38
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	14	4.1	4.6	38
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	14	4.2	4.6	38
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 50%	0	2 50%	4	4.0	4.0	4	14	3.9	4.5	13

					COM	1M - 1010	- 03	31				Survey Cor	nparisons	;
Labs	and Online Learning Questions			Respon	ises (%)			Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 33.3%	2 66.7%	0	3	3.7	3.8	4	234	4.3	4.6	15
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	324	4.4	4.7	24

Course:	COMM - 4355 030 - Communication Theory	Department:	LangCom
Responsible Faculty:	Sara Holmes	Responses / Expected:	3 / 17 (17.65%)

		1			Sara I	Holmes					9	Survey Co	mnariso	ons
Cour	se Evaluation Questions		Res	sponses		Tomico		Indi	vidual				gCom	,,,,
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	3.0	3	14	3.8	4.2	13
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	14	4.1	4.5	13
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	14	4.4	4.6	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	14	4.3	4.6	63
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	3.0	3	14	3.9	4.3	13
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	3.0	3	14	4.1	4.5	13
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	14	4.4	4.7	38
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	14	4.4	4.6	25
Q9	My instructor encourages me to do my best work.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	14	4.1	4.5	13
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	14	4.0	4.5	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	14	4.3	4.6	63
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 33.3%	0	0	0	2 66.7%	3	3.7	4.8	5	14	4.1	4.6	63
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	14	4.2	4.6	63
Q14	My instructor made the subject interesting and motivated me to learn.	1 33.3%	0	0	0	2 66.7%	3	3.7	4.8	5	14	3.9	4.5	88

				сомм	1 - 4355 -	030					Survey Co	mparison	s
Labs and Online Learning Questions		Resp	onse	es (%)			Co	ourse			Α	ll .	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 33.3%	0	0	0	2 66.7%	3	3.7	4.8	5	234	4.3	4.6	69
Q16 The course topics are organized in a coherent fashion.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	324	4.4	4.7	11

Course:	COUN - 5610 001 - Addiction Counseling	Department:	EDUCATION
Responsible Faculty:	Phillip Ortiz	Responses / Expected:	4 / 13 (30.77%)

					Р	hillip O	rtiz	:				Survey Co	ompariso	ons
Cour	se Evaluation Questions		Re	spons	es (%)			Indi	vidual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.3	4.5	86
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.2	4.5	82
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.4	4.7	82
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0	5.0	5	55	4.2	4.4	82
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.3	4.5	82
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	56	4.1	4.5	68
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	56	4.4	4.6	55
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	55	4.3	4.5	55
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.5	4.7	82
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	1 25%	0	2 50%	4	3.8	4.0	4	56	4.1	4.4	36
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	5.0	5	55	4.4	4.6	82
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	55	4.4	4.6	82
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	56	4.4	4.6	64
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.4	4.7	82

						COUN -	- 56	10 - 001				- Survey Con	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	234	4.3	4.6	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	324	4.4	4.7	90

Course:	COUN - 5610 040 - Addiction Counseling	Department:	EDUCATION
Responsible Faculty:	Amy McCortney	Responses / Expected:	3 / 15 (20%)

					Aı	my McC	Cort	ney				Survey Co	ompariso	ns
Cour	se Evaluation Questions		R	espor	nses (%	%)		Indi	vidual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	56	4.3	4.5	86
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	56	4.2	4.5	82
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	56	4.4	4.7	82
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	55	4.2	4.4	82
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0 3	1 33.3%	2 66.7%	3	4.7	4.8	5	56	4.3	4.5	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0 3	1 33.3%	2 66.7%	3	4.7	4.8	5	56	4.1	4.5	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	56	4.4	4.6	86
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	55	4.3	4.5	86
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	56	4.5	4.7	82
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	56	4.1	4.4	86
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	55	4.4	4.6	82
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	55	4.4	4.6	82
Q13	My instructor encourages me to develop new viewpoints.	0	0	0 3	1 33.3%	2 66.7%	3	4.7	4.8	5	56	4.4	4.6	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0 3	1 33.3%	2 66.7%	3	4.7	4.8	5	56	4.4	4.7	45

				CC	UN -	561	0 - 040				- Survey Cor	nparisons	
Labs and Online Learning Questions		Re	spo	nses (%)			Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	234	4.3	4.6	26
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	4.0	4	324	4.4	4.7	11

Course:	DFST - 1013 020 - Human Development	Department:	SEHSTE
Responsible Faculty:	Alisha Brown	Responses / Expected:	3 / 14 (21.43%)

					Alisha	Brown					8	Survey Co	omparis	ons
Cour	se Evaluation Questions		Res	sponses	(%)			Indi	vidual	l		SEI	HSTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 33.3%	1 33.3%	1 33.3%	0	0	3	2.0	2.0	2	58	4.2	4.6	6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	3 100%	0	0	0	3	2.0	2.0	2	58	4.2	4.6	6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 66.7%	1 33.3%	0	0	0	3	1.3	1.3	1	58	4.3	4.7	6
Q4	My instructor provides material that helps me do well on assignments.	0	2 66.7%	0	1 33.3%	0	3	2.7	2.3	2	58	4.4	4.7	6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 66.7%	0	1 33.3%	0	3	2.7	2.3	2	58	4.3	4.6	6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 100%	0	0	3	3.0	3.0	3	58	4.3	4.6	19
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	58	4.4	4.7	19
Q8	My instructor is available to me on matters pertaining to the course.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	58	4.4	4.8	19
Q9	My instructor encourages me to do my best work.	0	0	3 100%	0	0	3	3.0	3.0	3	57	4.5	4.8	6
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	2 66.7%	0	0	3	2.3	2.8	3	58	4.4	4.7	19
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	2 66.7%	0	3	3.7	3.8	4	58	4.5	4.7	19
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	2 66.7%	0	1 33.3%	0	3	2.7	2.3	2	58	4.4	4.7	6
Q13	My instructor encourages me to develop new viewpoints.	0	2 66.7%	1 33.3%	0	0	3	2.3	2.3	2	58	4.4	4.7	6
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 66.7%	0	1 33.3%	0	3	2.7	2.3	2	58	4.4	4.7	6

				FS	T - 10	13 -	020				Survey Co	mparisons	
Labs and Online Learning Questions	F	Response	s (%)			С	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	1 100%	0	0	0	1	2.0	2.0	2	234	4.3	4.6	8
Q16 The course topics are organized in a coherent fashion.	2 66.7%	1 33.3%	0	0	0	3	1.3	1.3	1	324	4.4	4.7	1

Course:	DSCI - 3710 001 - Business Statistics with Spreadsheets	Department:	BUSI
Responsible Faculty:	Daniel Friesen	Responses / Expected:	7 / 13 (53.85%)

					Daniel	Frieser	1				Si	urvey Coi	mpariso	ns
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	ividua			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	2 28.6%	0	2 28.6%	3 42.9%	7	3.9	4.3	4	100	4.3	4.6	28
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3	4.3	4	100	4.4	4.7	22
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 14.3%	0	0	4 57.1%	2 28.6%	7	3.9	4.1	4	100	4.5	4.7	9
Q4	My instructor provides material that helps me do well on assignments.	1 14.3%	0	0	4 57.1%	2 28.6%	7	3.9	4.1	4	100	4.3	4.7	28
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9	4.3	4	100	4.3	4.7	19
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	0	1 14.3%	4 57.1%	1 14.3%	7	3.6	3.9	4	99	4.2	4.7	22
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 57.1%	3 42.9%	7	4.4	4.4	4	100	4.5	4.8	22
Q8	My instructor is available to me on matters pertaining to the course.	1 14.3%	0	0	4 57.1%	2 28.6%	7	3.9	4.1	4	99	4.5	4.8	16
Q9	My instructor encourages me to do my best work.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0	4.0	4	98	4.4	4.7	13
Q10	My instructor provides timely feedback to guide my progress.	0	1 14.3%	1 14.3%	3 42.9%	2 28.6%	7	3.9	4.0	4	100	4.4	4.7	16
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1	4.3	4	100	4.5	4.7	22
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1	4.1	4	100	4.4	4.7	16
Q13	My instructor encourages me to develop new viewpoints.	0	1 14.3%	1 14.3%	3 42.9%	2 28.6%	7	3.9	4.0	4	100	4.4	4.7	19
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0	4.0	4	100	4.2	4.7	25

					SCI - 3	710	- 001				Survey Cor	nparisons	
Labs and Online Learning Questions		Res	pon	ses (%)			Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 25%	0	0	2 50%	1 25%	4	3.5	4.0	4	234	4.3	4.6	26
Q16 The course topics are organized in a coherent fashion.	1 20%	0	0	3 60%	1 20%	5	3.6	4.0	4	324	4.4	4.7	11

Course:	DSCI - 3710 002 - Business Statistics with Spreadsheets	Department:	BUSI
Responsible Faculty:	Daniel Friesen	Responses / Expected:	13 / 15 (86.67%)

					Dani	el Fries	en				S	urvey Co	mpariso	ns
Cou	se Evaluation Questions		Re	spons	es (%)			Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 7.7%	0	1 7.7%	4 30.8%	7 53.8%	13	4.2	4.6	5	100	4.3	4.6	47
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 7.7%	0	0	4 30.8%	8 61.5%	13	4.4	4.7	5	100	4.4	4.7	41
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 7.7%	0	0	4 30.8%	8 61.5%	13	4.4	4.7	5	100	4.5	4.7	41
Q4	My instructor provides material that helps me do well on assignments.	1 7.7%	0	0	4 30.8%	8 61.5%	13	4.4	4.7	5	100	4.3	4.7	41
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 7.7%	0	1 7.7%	3 23.1%	8 61.5%	13	4.3	4.7	5	100	4.3	4.7	53
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.7%	0	1 7.7%	3 23.1%	8 61.5%	13	4.3	4.7	5	99	4.2	4.7	47
Q 7	My instructor establishes a climate of respect for students.	1 7.7%	0	0	4 30.8%	8 61.5%	13	4.4	4.7	5	100	4.5	4.8	34
Q8	My instructor is available to me on matters pertaining to the course.	1 7.7%	0	0	4 30.8%	8 61.5%	13	4.4	4.7	5	99	4.5	4.8	41
Q9	My instructor encourages me to do my best work.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4	4.8	5	98	4.4	4.7	41
Q10	My instructor provides timely feedback to guide my progress.	1 7.7%	0	0	4 30.8%	8 61.5%	13	4.4	4.7	5	100	4.4	4.7	41
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 7.7%	0	1 7.7%	3 23.1%	8 61.5%	13	4.3	4.7	5	100	4.5	4.7	41
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 7.7%	0	1 7.7%	3 23.1%	8 61.5%	13	4.3	4.7	5	100	4.4	4.7	41
Q13	My instructor encourages me to develop new viewpoints.	1 7.7%	1 7.7%	0	3 23.1%	8 61.5%	13	4.2	4.7	5	100	4.4	4.7	47
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.7%	0	1 7.7%	3 23.1%	8 61.5%	13	4.3	4.7	5	100	4.2	4.7	47

				DSCI	- 3710	- 002	2				Survey Co	nparisons	ş
Labs and Online Learning Questions		Re	sponses	(%)			Co	urse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 12.5%	0	1 12.5%	0	6 75%	8	4.3	4.8	5	234	4.3	4.6	77
Q16 The course topics are organized in a coherent fashion.	1 10%	0	0	2 20%	7 70%	10	4.4	4.8	5	324	4.4	4.7	62

Course:	ECON - 1100 010 - Principles of Microeconomics	Department:	BUSI
Responsible Faculty:	Danielle Zanzalari	Responses / Expected:	9 / 15 (60%)

		1			anielle	Zanzal	ari				St	urvey Coi	mpariso	ns
Cour	se Evaluation Questions		Res	ponses	s (%)			Indi	ividual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	3 33.3%	4 44.4%	2 22.2%	9	3.9	3.9	4	100	4.3	4.6	9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	100	4.4	4.7	47
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	100	4.5	4.7	47
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	100	4.3	4.7	47
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	100	4.3	4.7	41
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1	4.5	4.5	99	4.2	4.7	31
Q7	My instructor establishes a climate of respect for students.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	100	4.5	4.8	47
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	99	4.5	4.8	47
Q9	My instructor encourages me to do my best work.	0	1 11.1%	1 11.1%	3 33.3%	4 44.4%	9	4.1	4.3	4	98	4.4	4.7	22
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	100	4.4	4.7	59
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	100	4.5	4.7	34
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 22.2%	3 33.3%	4 44.4%	9	4.2	4.3	4	100	4.4	4.7	22
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	100	4.4	4.7	41
Q14	My instructor made the subject interesting and motivated me to learn.	1 11.1%	1 11.1%	2 22.2%	2 22.2%	3 33.3%	9	3.6	3.8	4	100	4.2	4.7	9

				E	CON - 11	00 -	010				Survey Cor	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		C	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	234	4.3	4.6	69
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	324	4.4	4.7	64

Course:	ECON - 4850 010 - International Trade	Department:	BUSI
Responsible Faculty:	Danielle Zanzalari	Responses / Expected:	15 / 22 (68.18%)

					Danielle	Zanza	lari				S	urvey Co	mpariso	ns
Cour	se Evaluation Questions		Re	sponse	s (%)			Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	4 26.7%	2 13.3%	9 60%	15	4.3	4.7	5	100	4.3	4.6	53
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 6.7%	2 13.3%	4 26.7%	8 53.3%	15	4.3	4.6	5	100	4.4	4.7	34
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 6.7%	5 33.3%	9 60%	15	4.5	4.7	5	100	4.5	4.7	34
Q4	My instructor provides material that helps me do well on assignments.	0	2 13.3%	3 20%	2 13.3%	8 53.3%	15	4.1	4.6	5	100	4.3	4.7	34
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 13.3%	1 6.7%	3 20%	9 60%	15	4.3	4.7	5	100	4.3	4.7	47
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	5 33.3%	1 6.7%	9 60%	15	4.3	4.7	5	99	4.2	4.7	41
Q7	My instructor establishes a climate of respect for students.	0	0	1 6.7%	3 20%	11 73.3%	15	4.7	4.8	5	100	4.5	4.8	53
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 26.7%	11 73.3%	15	4.7	4.8	5	99	4.5	4.8	53
Q9	My instructor encourages me to do my best work.	0	1 6.7%	2 13.3%	1 6.7%	11 73.3%	15	4.5	4.8	5	98	4.4	4.7	53
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 6.7%	2 13.3%	12 80%	15	4.7	4.9	5	100	4.4	4.7	72
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 6.7%	3 20%	11 73.3%	15	4.7	4.8	5	100	4.5	4.7	47
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 13.3%	2 13.3%	11 73.3%	15	4.6	4.8	5	100	4.4	4.7	53
Q13	My instructor encourages me to develop new viewpoints.	0	1 6.7%	2 13.3%	1 6.7%	11 73.3%	15	4.5	4.8	5	100	4.4	4.7	59
Q14	My instructor made the subject interesting and motivated me to learn.	1 6.7%	0	4 26.7%	0	10 66.7%	15	4.2	4.8	5	100	4.2	4.7	53

					ECC	ON - 4850	- 010	0				Survey Cor	nparisons	;
Labs	and Online Learning Questions			Respon	ses (%)			Co	urse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	3 37.5%	2 25%	3 37.5%	8	4.0	4.0	4	234	4.3	4.6	26
Q16	The course topics are organized in a coherent fashion.	0	0	2 14.3%	3 21.4%	9 64.3%	14	4.5	4.7	5	324	4.4	4.7	49

Course:	EDCI - 5011 001 - Introduction to Classroom Research	Department:	SEHSTE
Responsible Faculty:	Ratna Narayan	Responses / Expected:	23 / 23 (100%)

					Ratn	a Naray	an				;	Survey Co	ompariso	ons
Cour	se Evaluation Questions		Re	spons	es (%)			Indi	vidual			SE	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 4.3%	3 13%	2 8.7%	7 30.4%	10 43.5%	23	4.0	4.3	4	58	4.2	4.6	44
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 4.3%	1 4.3%	3 13%	11 47.8%	7 30.4%	23	4.0	4.1	4	58	4.2	4.6	31
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 4.3%	1 4.3%	0	8 34.8%	13 56.5%	23	4.3	4.6	5	58	4.3	4.7	56
Q4	My instructor provides material that helps me do well on assignments.	1 4.3%	1 4.3%	1 4.3%	9 39.1%	11 47.8%	23	4.2	4.4	4	58	4.4	4.7	44
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 4.3%	1 4.3%	2 8.7%	9 39.1%	10 43.5%	23	4.1	4.3	4	58	4.3	4.6	44
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 4.3%	1 4.3%	1 4.3%	8 34.8%	12 52.2%	23	4.3	4.5	5	58	4.3	4.6	44
Q 7	My instructor establishes a climate of respect for students.	1 4.3%	2 8.7%	2 8.7%	7 30.4%	11 47.8%	23	4.1	4.4	4	58	4.4	4.7	31
Q8	My instructor is available to me on matters pertaining to the course.	1 4.3%	1 4.3%	1 4.3%	6 26.1%	14 60.9%	23	4.3	4.7	5	58	4.4	4.8	44
Q9	My instructor encourages me to do my best work.	1 4.3%	0	1 4.3%	5 21.7%	16 69.6%	23	4.5	4.8	5	57	4.5	4.8	56
Q10	My instructor provides timely feedback to guide my progress.	1 4.3%	0	1 4.3%	7 30.4%	14 60.9%	23	4.4	4.7	5	58	4.4	4.7	31
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 4.3%	0	1 4.3%	9 39.1%	12 52.2%	23	4.3	4.5	5	58	4.5	4.7	31
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 4.3%	0	0	9 39.1%	13 56.5%	23	4.4	4.6	5	58	4.4	4.7	44
Q13	My instructor encourages me to develop new viewpoints.	1 4.3%	0	1 4.3%	8 34.8%	13 56.5%	23	4.4	4.6	5	58	4.4	4.7	44
Q14	My instructor made the subject interesting and motivated me to learn.	1 4.3%	2 8.7%	0	6 26.1%	14 60.9%	23	4.3	4.7	5	58	4.4	4.7	56

				EDCI	- 5011 - 0	001					Survey Co	mparisons	s
Labs and Online Learning Questions			Response	es (%)			Co	urse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure	1 12.5%	0	2 25%	2 25%	3 37.5%	8	3.8	4.0	4	234	4.3	4.6	26
Q16 The course topics are organized in a coherent fashion.	1 5.3%	0	2 10.5%	7 36.8%	9 47.4%	19	4.2	4.4	4	324	4.4	4.7	31

Course:	EDCI - 5301 001 - Teaching Essentials	Department:	SEHSTE
Responsible Faculty:	Aaron Tribble	Responses / Expected:	6 / 12 (50%)

		1												
						Aaron T	ribl	ble				Survey Co	mpariso	ns
Cou	se Evaluation Questions		R	esponse	es (%)		Indi	ividual	l		SE	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	6 100%	6	5.0	5.0	5	58	4.2	4.6	94
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	6 100%	6	5.0	5.0	5	58	4.2	4.6	94
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	6 100%	6	5.0	5.0	5	58	4.3	4.7	94
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	6 100%	6	5.0	5.0	5	58	4.4	4.7	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	6 100%	6	5.0	5.0	5	58	4.3	4.6	94
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	58	4.3	4.6	81
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0	5.0	5	58	4.4	4.7	88
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0	5.0	5	58	4.4	4.8	94
Q9	My instructor encourages me to do my best work.	0	0	0	0	6 100%	6	5.0	5.0	5	57	4.5	4.8	88
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	58	4.4	4.7	81
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0	5.0	5	58	4.5	4.7	88
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	6 100%	6	5.0	5.0	5	58	4.4	4.7	94
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	6 100%	6	5.0	5.0	5	58	4.4	4.7	94
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	6 100%	6	5.0	5.0	5	58	4.4	4.7	94

						EDCI -	530	1 - 001				- Survey Con	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	234	4.3	4.6	92
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	5.0	5	324	4.4	4.7	90

Course:	EDCI - 5321 001 - Foundations of Professional Teaching	Department:	SEHSTE
Responsible Faculty:	Aaron Tribble	Responses / Expected:	6 / 11 (54.55%)

				A	aron Tril	ble	9				Survey Co	mpariso	ons
Cour	se Evaluation Questions		Resp	nses (%))		Indi	vidual			SEI	ISTE	
		SD D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	58	4.2	4.6	81
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	58	4.2	4.6	69
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	58	4.3	4.7	69
Q4	My instructor provides material that helps me do well on assignments.	0 0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	58	4.4	4.7	69
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	58	4.3	4.6	69
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 0	1 16.79	1 16.7%	4 66.7%	6	4.5	4.8	5	58	4.3	4.6	69
Q7	My instructor establishes a climate of respect for students.	0 0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	58	4.4	4.7	69
Q8	My instructor is available to me on matters pertaining to the course.	0 0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	58	4.4	4.8	81
Q9	My instructor encourages me to do my best work.	0 0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	57	4.5	4.8	44
Q10	My instructor provides timely feedback to guide my progress.	0 0	1 16.79	1 16.7%	4 66.7%	6	4.5	4.8	5	58	4.4	4.7	44
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	58	4.5	4.7	69
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	58	4.4	4.7	69
Q13	My instructor encourages me to develop new viewpoints.	0 0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	58	4.4	4.7	69
Q14	My instructor made the subject interesting and motivated me to learn.	0 0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	58	4.4	4.7	69

					EDCI - S	5321	- 001				Survey Cor	nparisons	
Labs and Online Learning Questions		Re	spor	ıses (%))		Co	ourse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	234	4.3	4.6	77
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	324	4.4	4.7	69

Course:	EDRE - 4450 001 - Reading and Writing, Birth through Grade 6	Department:	SEHSTE
Responsible Faculty:	Catherine Stearns	Responses / Expected:	5 / 23 (21.74%)

					Cathe	rine S	tea	irns				Survey Co	mpariso	ons
Cour	se Evaluation Questions		Res	ponse	s (%)			Indi	ividual			SE	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	2 40%	0	1 20%	2 40%	5	3.6	4.0	4	58	4.2	4.6	31
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	58	4.2	4.6	56
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 20%	0	0	2 40%	2 40%	5	3.8	4.3	4	58	4.3	4.7	31
Q4	My instructor provides material that helps me do well on assignments.	1 20%	0	0	2 40%	2 40%	5	3.8	4.3	4	58	4.4	4.7	31
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 20%	0	0	2 40%	2 40%	5	3.8	4.3	4	58	4.3	4.6	31
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	58	4.3	4.6	56
Q 7	My instructor establishes a climate of respect for students.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	58	4.4	4.7	56
Q8	My instructor is available to me on matters pertaining to the course.	1 20%	0	1 20%	0	3 60%	5	3.8	4.7	5	58	4.4	4.8	31
Q9	My instructor encourages me to do my best work.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	57	4.5	4.8	31
Q10	My instructor provides timely feedback to guide my progress.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	58	4.4	4.7	69
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	58	4.5	4.7	44
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	58	4.4	4.7	56
Q13	My instructor encourages me to develop new viewpoints.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	58	4.4	4.7	56
Q14	My instructor made the subject interesting and motivated me to learn.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	58	4.4	4.7	44

						EDRE - 44	I50 ·	001				Survey Con	nparisons	
Lab	s and Online Learning Questions	R	esp	ons	es (9	%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	234	4.3	4.6	11
Q16	The course topics are organized in a coherent fashion.	1 33.3%	0	0	0	2 66.7%	3	3.7	4.8	5	324	4.4	4.7	56

Course:	EDRE - 4840 020 - Linguistically Diverse Learners	Department:	SEHSTE
Responsible Faculty:	Paula Mason	Responses / Expected:	4 / 31 (12.90%)

					F	Paula I	Иas	son				Survey Co	ompariso	ns
Cour	se Evaluation Questions		Re	spons	es (%	5)		Indi	vidual			SEI	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	58	4.2	4.6	56
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	58	4.2	4.6	44
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	58	4.3	4.7	44
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	58	4.4	4.7	56
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	58	4.3	4.6	56
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	58	4.3	4.6	31
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	58	4.4	4.7	44
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	58	4.4	4.8	56
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	57	4.5	4.8	69
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	58	4.4	4.7	56
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	58	4.5	4.7	56
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	58	4.4	4.7	31
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	58	4.4	4.7	31
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	58	4.4	4.7	31

						EDRE -	484	0 - 020				- Survey Con	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	234	4.3	4.6	92
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	324	4.4	4.7	90

Course:	EDRE - 4850 021 - Assessment and Evaluation of Reading	Department:	SEHSTE
Responsible Faculty:	Cynthia Rodriguez	Responses / Expected:	2 / 16 (12.50%)

					Cynthia	Roc	drig	uez				Survey Co	ompariso	ons
Cour	se Evaluation Questions		Res	ponse	s (%)			Indi	vidual			SE	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	58	4.2	4.6	19
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0	4.0	4	58	4.2	4.6	19
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	58	4.3	4.7	19
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	58	4.4	4.7	19
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	58	4.3	4.6	19
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	58	4.3	4.6	6
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 100%	0	2	4.0	4.0	4	58	4.4	4.7	6
Q8	My instructor is available to me on matters pertaining to the course.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	58	4.4	4.8	6
Q9	My instructor encourages me to do my best work.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	57	4.5	4.8	19
Q10	My instructor provides timely feedback to guide my progress.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	58	4.4	4.7	6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	58	4.5	4.7	6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	58	4.4	4.7	19
Q13	My instructor encourages me to develop new viewpoints.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	58	4.4	4.7	19
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	58	4.4	4.7	19

				E	RE - 4	4850	0 - 021				Survey Cor	nparisons	
Labs and Online Learning Questions		Re	spo	nses (%)			Co	ourse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	234	4.3	4.6	26
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	4.0	4	324	4.4	4.7	11

Course:	ENGL - 1323 030 - Computer Assisted College Writing II	Department:	LangCom
Responsible Faculty:	Robert Harris	Responses / Expected:	4 / 10 (40%)

						Robert	На	rris				Survey Co	mpariso	ns
Cour	se Evaluation Questions	ı	Res	pon	ses (%)		Indi	vidual			Lan	gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	14	3.8	4.2	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	14	4.1	4.5	88
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	14	4.4	4.6	25
Q4	My instructor provides material that helps me do well on assignments.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	14	4.3	4.6	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	14	3.9	4.3	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	14	4.1	4.5	88
Q7	My instructor establishes a climate of respect for students.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	14	4.4	4.7	75
Q8	My instructor is available to me on matters pertaining to the course.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	14	4.4	4.6	75
Q9	My instructor encourages me to do my best work.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	14	4.1	4.5	88
Q10	My instructor provides timely feedback to guide my progress.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	14	4.0	4.5	88
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	14	4.3	4.6	88
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	14	4.1	4.6	88
Q13	My instructor encourages me to develop new viewpoints.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	14	4.2	4.6	88
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	14	3.9	4.5	63

				Е	NGL - 1	323	- 030				- Survey Coi	nparisons	
Labs and Online Learning Questions		Res	pon	ses (%)			Co	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	234	4.3	4.6	52
Q16 The course topics are organized in a coherent fashion.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	324	4.4	4.7	69

Course:	FINA - 3770 010 - Finance	Department:	BUSI
Responsible Faculty:	John Rowland	Responses / Expected:	8 / 29 (27.59%)

					Jo	hn Rowl	and	d			S	urvey Co	mpariso	ns
Cour	se Evaluation Questions			Respon	ıses (%)			Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	100	4.3	4.6	59
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	100	4.4	4.7	56
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	100	4.5	4.7	63
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	100	4.3	4.7	59
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	4.7	5	100	4.3	4.7	59
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	99	4.2	4.7	63
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	100	4.5	4.8	41
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	99	4.5	4.8	69
Q9	My instructor encourages me to do my best work.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	98	4.4	4.7	47
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	100	4.4	4.7	66
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	100	4.5	4.7	59
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	100	4.4	4.7	63
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	100	4.4	4.7	69
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	100	4.2	4.7	63

					FINA - 377	70 -	010				Survey Co	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		C	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	234	4.3	4.6	77
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	324	4.4	4.7	76

Course:	FINA - 3770 011 - Finance	Department:	BUSI
Responsible Faculty:	John Rowland	Responses / Expected:	2 / 19 (10.53%)

						John	Ro	wland			8	Survey Co	mpariso	ns
Cou	se Evaluation Questions	R	les	por	ıse	s (%)		Ind	ividual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.3	4.6	84
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.4	4.7	84
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.5	4.7	84
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.3	4.7	84
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.3	4.7	84
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	99	4.2	4.7	84
Q 7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.5	4.8	84
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	99	4.5	4.8	88
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	98	4.4	4.7	84
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.4	4.7	88
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.5	4.7	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.4	4.7	84
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.4	4.7	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	100	4.2	4.7	84

						FINA -	377	0 - 011				- Survey Con	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	234	4.3	4.6	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	324	4.4	4.7	90

Course:	FINA - 4300 010 - Financial Statement Analysis and Liquidity Management	Department:	BUSI
Responsible Faculty:	Ajamu Loving	Responses / Expected:	6 / 20 (30%)

					Ajan	nu Lovii	ng				s	urvey Co	mpariso	ns
Cou	se Evaluation Questions		R	esponse	es (%)			Indi	vidual	l		BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	100	4.3	4.6	38
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 50%	0	3 50%	6	4.0	4.0	4	100	4.4	4.7	13
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	100	4.5	4.7	25
Q4	My instructor provides material that helps me do well on assignments.	0	1 16.7%	2 33.3%	0	3 50%	6	3.8	4.0	4	100	4.3	4.7	16
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	100	4.3	4.7	31
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 50%	1 16.7%	2 33.3%	6	3.8	3.5	3.5	99	4.2	4.7	16
Q7	My instructor establishes a climate of respect for students.	0	0	3 50%	0	3 50%	6	4.0	4.0	4	100	4.5	4.8	9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	99	4.5	4.8	28
Q9	My instructor encourages me to do my best work.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	98	4.4	4.7	31
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	100	4.4	4.7	31
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 50%	1 16.7%	2 33.3%	6	3.8	3.5	3.5	100	4.5	4.7	9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	100	4.4	4.7	31
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 66.7%	0	2 33.3%	6	3.7	3.3	3	100	4.4	4.7	6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	3 50%	0	3 50%	6	4.0	4.0	4	100	4.2	4.7	25

					F	INA - 430	00 - (010				Survey Con	nparisons	
Lai	os and Online Learning Questions		Respo	nses	(%))		C	ourse			Al	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	234	4.3	4.6	92
Q1	6 The course topics are organized in a coherent fashion.	0	1 16.7%	0	0	5 83.3%	6	4.5	4.9	5	324	4.4	4.7	74

Course:	GEOG - 1710 031 - Earth Science	Department:	LiberalArt
Responsible Faculty:	Donna Hamilton	Responses / Expected:	3 / 10 (30%)

					Donna	a Hamil	ton					Survey Co	mpariso	ons
Cour	se Evaluation Questions		F	Response	es (%)			Indi	ividual			Libe	ralArt	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.2	4.7	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	17	4.4	4.6	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	16	4.3	4.4	38
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.5	4.7	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	17	4.1	4.2	38
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.4	4.7	50
Q7	My instructor establishes a climate of respect for students.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.4	4.7	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	17	4.6	4.7	50
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.4	4.7	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	17	4.5	4.7	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	17	4.5	4.7	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.3	4.6	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.2	4.7	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	17	4.2	4.7	50

					GEO	G - 1710	- 03	1				Survey Cor	nparisons	;
Labs	and Online Learning Questions			Respor	ises (%)			Co	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	234	4.3	4.6	69
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	324	4.4	4.7	56

Course:	GEOG - 1710 331 - Earth Science	Department:	LiberalArt
Responsible Faculty:	Donna Hamilton	Responses / Expected:	3 / 10 (30%)

					Donna	a Hamilt	on					Survey Co	mpariso	ons
Cour	se Evaluation Questions		R	esponse	es (%)			Indi	vidual			Libe	ralArt	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.2	4.7	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.4	4.6	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	16	4.3	4.4	63
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	17	4.5	4.7	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.1	4.2	63
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.4	4.7	50
Q7	My instructor establishes a climate of respect for students.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.4	4.7	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	17	4.6	4.7	50
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.4	4.7	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	17	4.5	4.7	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.5	4.7	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.3	4.6	50
Q13	My instructor encourages me to develop new viewpoints.	0	1 33.3%	0	0	2 66.7%	3	4.0	4.8	5	17	4.2	4.7	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	17	4.2	4.7	50

				(GEOG - 17	10 -	331				- Survey Co	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	234	4.3	4.6	69
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	324	4.4	4.7	56

Course:	HSML - 3850 040 - Behavioral Addictions	Department:	EDUCATION
Responsible Faculty:	Shelia Lumar	Responses / Expected:	8 / 27 (29.63%)

					Sh	elia Lur	naı	•				Survey Co	mpariso	ns
Cour	se Evaluation Questions		R	espon	ses (%)			Indi	vidual			EDUC	ATION	
		SD E)	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 0)	0	1 12.5%	7 87.5%	8	4.9	4.9	5	56	4.3	4.5	68
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 0)	0	1 12.5%	7 87.5%	8	4.9	4.9	5	56	4.2	4.5	59
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 0	ו	0	1 12.5%	7 87.5%	8	4.9	4.9	5	56	4.4	4.7	59
Q4	My instructor provides material that helps me do well on assignments.	0 0	ו	0	1 12.5%	7 87.5%	8	4.9	4.9	5	55	4.2	4.4	59
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 0	ו	0	1 12.5%	7 87.5%	8	4.9	4.9	5	56	4.3	4.5	59
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 0) 1	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	56	4.1	4.5	68
Q7	My instructor establishes a climate of respect for students.	0 0)	0	1 12.5%	7 87.5%	8	4.9	4.9	5	56	4.4	4.6	68
Q8	My instructor is available to me on matters pertaining to the course.	0 0)	0	1 12.5%	7 87.5%	8	4.9	4.9	5	55	4.3	4.5	68
Q9	My instructor encourages me to do my best work.	0 0)	0	1 12.5%	7 87.5%	8	4.9	4.9	5	56	4.5	4.7	59
Q10	My instructor provides timely feedback to guide my progress.	0 0)	0	1 12.5%	7 87.5%	8	4.9	4.9	5	56	4.1	4.4	68
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 0)	0	1 12.5%	7 87.5%	8	4.9	4.9	5	55	4.4	4.6	59
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 0)	0	1 12.5%	7 87.5%	8	4.9	4.9	5	55	4.4	4.6	59
Q13	My instructor encourages me to develop new viewpoints.	0 0)	0	1 12.5%	7 87.5%	8	4.9	4.9	5	56	4.4	4.6	77
Q14	My instructor made the subject interesting and motivated me to learn.	0 0)	0	1 12.5%	7 87.5%	8	4.9	4.9	5	56	4.4	4.7	59

				H	ISML - 38	50 -	040				Survey Cor	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		C	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	234	4.3	4.6	81
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	324	4.4	4.7	76

Course:	HSML - 4301 040 - Theories of Peer Recovery and Advocacy	Department:	EDUCATION
Responsible Faculty:	Shelia Lumar	Responses / Expected:	4 / 10 (40%)

						Shel	ia L	umar				Survey Co	ompariso	ns
Cour	se Evaluation Questions	R	les	oon	se	s (%)		Ind	ividual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.3	4.5	86
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.2	4.5	82
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.4	4.7	82
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0	5.0	5	55	4.2	4.4	82
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.3	4.5	82
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.1	4.5	91
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.4	4.6	86
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0	5.0	5	55	4.3	4.5	86
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.5	4.7	82
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.1	4.4	86
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	55	4.4	4.6	82
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	55	4.4	4.6	82
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.4	4.6	91
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.4	4.7	82

					HSML	- 430	01 - 040				- Survey Con	nparisons	
Labs and Online Learning Questions		Res	pons	ses	(%)		Co	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	234	4.3	4.6	92
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	324	4.4	4.7	90

Course:	HSML - 4525 040 - Problems of Youth: Prevention and Intervention	Department:	EDUCATION
Responsible Faculty:	Cynthia Johnson	Responses / Expected:	6 / 17 (35.29%)

					Cynthia	Johnso	n				8	Survey Co	mpariso	ons
Cou	se Evaluation Questions		Res	ponses	s (%)			Indi	ividua	I		EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8	4.0	4	56	4.3	4.5	32
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8	4.0	4	56	4.2	4.5	32
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	56	4.4	4.7	41
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0	4.0	4	55	4.2	4.4	32
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0	4.0	4	56	4.3	4.5	27
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	1 16.7%	0	2 33.3%	2 33.3%	6	3.5	4.0	4	56	4.1	4.5	32
Q7	My instructor establishes a climate of respect for students.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	56	4.4	4.6	41
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0	4.0	4	55	4.3	4.5	18
Q9	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	56	4.5	4.7	41
Q10	My instructor provides timely feedback to guide my progress.	0	2 33.3%	0	3 50%	1 16.7%	6	3.5	3.8	4	56	4.1	4.4	23
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	4.5	4.5	55	4.4	4.6	36
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8	4.0	4	55	4.4	4.6	14
Q13	My instructor encourages me to develop new viewpoints.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2	4.5	4.5	56	4.4	4.6	36
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	56	4.4	4.7	27

					H	ISML - 45	25 -	040				Survey Cor	nparisons	
Lal	s and Online Learning Questions			Res	ponses (%)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	234	4.3	4.6	41
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	324	4.4	4.7	29

Course:	LING - 2050 020 - The Language of Now : Pop Culture, Technology, and Society	Department:	SEHSTE
Responsible Faculty:	Marco Shappeck	Responses / Expected:	9 / 13 (69.23%)

					М	larco Sh	арр	eck				Survey Co	mpariso	ns
Cou	se Evaluation Questions		R	esp	onses (9	%)		Indi	vidual			SEI	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	58	4.2	4.6	69
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	58	4.2	4.6	81
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	58	4.3	4.7	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	9 100%	9	5.0	5.0	5	58	4.4	4.7	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	58	4.3	4.6	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	58	4.3	4.6	94
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	9 100%	9	5.0	5.0	5	58	4.4	4.7	88
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	58	4.4	4.8	69
Q9	My instructor encourages me to do my best work.	0	0	0	0	8 100%	8	5.0	5.0	5	57	4.5	4.8	88
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	58	4.4	4.7	94
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	9 100%	9	5.0	5.0	5	58	4.5	4.7	88
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	58	4.4	4.7	81
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	58	4.4	4.7	81
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	58	4.4	4.7	81

					LIN	G - 2050	- 02	0				Survey Cor	nparisons	;
La	abs and Online Learning Questions			Respon	ıses (%)			C	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	234	4.3	4.6	77
Q	The course topics are organized in a coherent fashion.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	324	4.4	4.7	79

Course:	LSCM - 3960 001 - Logistics and Supply Chain Management	Department:	BUSI
Responsible Faculty:	Jeffrey Wendt	Responses / Expected:	3 / 10 (30%)

						Jeffr	ey \	Wendt			5	Survey Co	mpariso	ns
Cou	se Evaluation Questions	R	les	por	ıse	s (%)		Ind	ividual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	100	4.3	4.6	84
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	100	4.4	4.7	84
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	100	4.5	4.7	84
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	100	4.3	4.7	84
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	100	4.3	4.7	84
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	99	4.2	4.7	84
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	100	4.5	4.8	84
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	99	4.5	4.8	88
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	98	4.4	4.7	84
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	100	4.4	4.7	88
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	100	4.5	4.7	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	100	4.4	4.7	84
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	100	4.4	4.7	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	100	4.2	4.7	84

					LSCM -	- 39	50 - 001				- Survey Con	nparisons	
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	234	4.3	4.6	92
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	324	4.4	4.7	90

Course:	MATH - 1680 030 - Elementary Probability and Statistics	Department:	MATHIS
Responsible Faculty:	Noureen Khan	Responses / Expected:	3 / 20 (15%)

					No	ureen K	haı	n				Survey Co	ompariso	ons
Cour	se Evaluation Questions		R	espon	ses (%)			Indi	vidual			MA	THIS	
		SD I)	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 (ס	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 (ס	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 (ס	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50
Q4	My instructor provides material that helps me do well on assignments.	0 (כ	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 (כ	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 (ס	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50
Q7	My instructor establishes a climate of respect for students.	0 (ס	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50
Q8	My instructor is available to me on matters pertaining to the course.	0 (ס	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50
Q9	My instructor encourages me to do my best work.	0 (0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50
Q10	My instructor provides timely feedback to guide my progress.	0 (ס	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 (ס	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 (ס	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50
Q13	My instructor encourages me to develop new viewpoints.	0 () 3	1 3.3%	2 66.7%	0	3	3.7	3.8	4	3	3.7	3.8	50
Q14	My instructor made the subject interesting and motivated me to learn.	0 (0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	3	4.3	4.3	50

				ı	ИАТН - 16	80 -	- 030				- Survey Co	nparisons	
Labs and Online Learning Questions		F	Response	s (%)		C	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	234	4.3	4.6	69
Q16 The course topics are organized in a coherent fashion.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	324	4.4	4.7	56

Course:	MGMT - 3830 001 - Operations Management	Department:	BUSI
Responsible Faculty:	Jeffrey Wendt	Responses / Expected:	8 / 23 (34.78%)

					Je	ffrey W	end	t			S	urvey Co	mpariso	ns
Cour	se Evaluation Questions			Respon	ıses (%)			Indi	vidual			BU	ISI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	100	4.3	4.6	66
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	100	4.4	4.7	66
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	100	4.5	4.7	63
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	100	4.3	4.7	59
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	100	4.3	4.7	66
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	99	4.2	4.7	63
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	100	4.5	4.8	66
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	99	4.5	4.8	59
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	98	4.4	4.7	63
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	100	4.4	4.7	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	100	4.5	4.7	53
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6	4.8	5	100	4.4	4.7	63
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	100	4.4	4.7	53
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8	4.8	5	100	4.2	4.7	63

				N	1GMT - 38	30 -	001				Survey Co	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		C	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	234	4.3	4.6	81
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	324	4.4	4.7	64

Course:	MGMT - 3850 011 - Foundations of Entrepreneurship	Department:	BUSI
Responsible Faculty:	Matthew Houston	Responses / Expected:	3 / 25 (12%)

		1			/latthew	Houst	on				Si	ırvey Coı	npariso	ns
Cour	se Evaluation Questions		Res	sponses	s (%)			Indi	vidual			BU	ISI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 33.3%	2 66.7%	0	0	3	2.7	2.8	3	100	4.3	4.6	3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 33.3%	1 33.3%	0	1 33.3%	0	3	2.3	2.0	2	100	4.4	4.7	3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 33.3%	1 33.3%	0	1 33.3%	0	3	2.3	2.0	2	100	4.5	4.7	3
Q4	My instructor provides material that helps me do well on assignments.	1 33.3%	1 33.3%	1 33.3%	0	0	3	2.0	2.0	2	100	4.3	4.7	3
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 33.3%	1 33.3%	0	1 33.3%	0	3	2.3	2.0	2	100	4.3	4.7	3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 33.3%	1 33.3%	1 33.3%	0	0	3	2.0	2.0	2	99	4.2	4.7	3
Q7	My instructor establishes a climate of respect for students.	0	0	2 66.7%	0	1 33.3%	3	3.7	3.3	3	100	4.5	4.8	3
Q8	My instructor is available to me on matters pertaining to the course.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7	3.0	3	99	4.5	4.8	3
Q9	My instructor encourages me to do my best work.	0	0	3 100%	0	0	3	3.0	3.0	3	98	4.4	4.7	3
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	1 33.3%	1 33.3%	0	0	3	2.0	2.0	2	100	4.4	4.7	3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 100%	0	0	3	3.0	3.0	3	100	4.5	4.7	3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	3.0	3	100	4.4	4.7	3
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 66.7%	0	1 33.3%	3	3.7	3.3	3	100	4.4	4.7	6
Q14	My instructor made the subject interesting and motivated me to learn.	2 66.7%	0	0	1 33.3%	0	3	2.0	1.3	1	100	4.2	4.7	3

			N	исмт - з	850 -	011					Survey Cor	nparisons	;
Labs and Online Learning Questions		Respo	nses ('	%)			Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	1 50%	1 50%	0	0	2	2.5	2.5	2.5	234	4.3	4.6	9
Q16 The course topics are organized in a coherent fashion.	1 33.3%	1 33.3%	0	1 33.3%	0	3	2.3	2.0	2	324	4.4	4.7	2

Course:	MGMT - 4470 001 - Leadership	Department:	BUSI
Responsible Faculty:	Matthew Houston	Responses / Expected:	4 / 16 (25%)

					Ма	atthew I	Hou	ston			S	urvey Co	mpariso	ns
Cour	se Evaluation Questions		R	espon	ses (9	%)		Indi	vidual			BU	JSI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.3	4.6	84
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.4	4.7	84
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.5	4.7	84
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.3	4.7	84
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.3	4.7	84
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	99	4.2	4.7	84
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.5	4.8	84
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	99	4.5	4.8	28
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	5.0	5	98	4.4	4.7	84
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	100	4.4	4.7	31
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.5	4.7	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.4	4.7	84
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.4	4.7	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	100	4.2	4.7	84

						MGMT	- 44	70 - 001				- Survey Con	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	234	4.3	4.6	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	324	4.4	4.7	90

Course:	MKTG - 3650 010 - Foundations of Marketing Practice	Department:	BUSI
Responsible Faculty:	Gary Holmes	Responses / Expected:	8 / 29 (27.59%)

					Gar	y Holm	es				s	urvey Co	mpariso	ns
Cour	se Evaluation Questions		R	espons	es (%)	<u>-</u>		Indi	vidual			BU	ISI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1	4.5	4.5	100	4.3	4.6	38
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4	4.8	5	100	4.4	4.7	56
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4	4.8	5	100	4.5	4.7	53
Q4	My instructor provides material that helps me do well on assignments.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4	4.8	5	100	4.3	4.7	59
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0	4.3	4	100	4.3	4.7	19
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3	4.7	5	99	4.2	4.7	53
Q7	My instructor establishes a climate of respect for students.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4	4.8	5	100	4.5	4.8	59
Q8	My instructor is available to me on matters pertaining to the course.	1 12.5%	0	0	0	7 87.5%	8	4.5	4.9	5	99	4.5	4.8	69
Q9	My instructor encourages me to do my best work.	1 12.5%	0	1 12.5%	0	6 75%	8	4.3	4.8	5	98	4.4	4.7	63
Q10	My instructor provides timely feedback to guide my progress.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3	4.7	5	100	4.4	4.7	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1	4.5	4.5	100	4.5	4.7	28
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	100	4.4	4.7	47
Q13	My instructor encourages me to develop new viewpoints.	1 12.5%	0	2 25%	1 12.5%	4 50%	8	3.9	4.5	4.5	100	4.4	4.7	31
Q14	My instructor made the subject interesting and motivated me to learn.	1 12.5%	0	1 12.5%	2 25%	4 50%	8	4.0	4.5	4.5	100	4.2	4.7	41

				MKTG -	- 3650 -	- 010)				Survey Cor	mparisons	s
Labs and Online Learning Questions		F	esponse	s (%)			C	ourse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 20%	0	0	2 40%	2 40%	5	3.8	4.3	4	234	4.3	4.6	41
Q16 The course topics are organized in a coherent fashion.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	4.5	4.5	324	4.4	4.7	36

Course:	MKTG - 3650 011 - Foundations of Marketing Practice	Department:	BUSI
Responsible Faculty:	Gary Holmes	Responses / Expected:	4 / 24 (16.67%)

					Gar	y Holi	nes	s			S	urvey Co	npariso	ns
Cou	se Evaluation Questions		Res	ponse	s (%)			Indi	ividual			BL	SI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	100	4.3	4.6	19
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	100	4.4	4.7	13
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	100	4.5	4.7	16
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	100	4.3	4.7	16
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	100	4.3	4.7	9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 50%	0	1 25%	1 25%	4	3.3	3.0	3	99	4.2	4.7	9
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	100	4.5	4.8	16
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	99	4.5	4.8	9
Q9	My instructor encourages me to do my best work.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	98	4.4	4.7	13
Q10	My instructor provides timely feedback to guide my progress.	1 25%	0	0	2 50%	1 25%	4	3.5	4.0	4	100	4.4	4.7	16
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	100	4.5	4.7	16
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	100	4.4	4.7	9
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	100	4.4	4.7	19
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	100	4.2	4.7	25

				N	иктс -	365	0 - 011				- Survey Cor	nparisons	
Labs and Online Learning Questions		Re	spo	ıses (%)		Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	234	4.3	4.6	38
Q16 The course topics are organized in a coherent fashion.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	324	4.4	4.7	19

Course:	PACS - 4000 001 - Mediation	Department:	EDUCATION
Responsible Faculty:	Victor Buchanon	Responses / Expected:	4 / 8 (50%)

					٧	/ictor B	uch	nanon				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	spoi	nses ((%)		Indi	vidual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	56	4.3	4.5	59
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	56	4.2	4.5	45
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	56	4.4	4.7	41
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	55	4.2	4.4	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.3	4.5	82
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	56	4.1	4.5	68
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	56	4.4	4.6	55
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	55	4.3	4.5	55
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.5	4.7	82
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	56	4.1	4.4	55
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	55	4.4	4.6	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	55	4.4	4.6	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	56	4.4	4.6	64
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	56	4.4	4.7	82

				ı	PACS - 40	00 -	001				Survey Co	nparisons	
Labs and Online Learning Questions			Res	ponses (%)		C	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	234	4.3	4.6	69
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	324	4.4	4.7	56

Course:	PBHL - 3310 030 - Principles of Human Nutrition	Department:	LIFESCI
Responsible Faculty:	William Garner	Responses / Expected:	5 / 23 (21.74%)

					W	'illiam	Ga	rner				Survey Co	ompariso	ns
Cour	se Evaluation Questions		Re	spons	es (%	5)		Indi	ividual			LIF	ESCI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 20%	3 60%	1 20%	5	4.0	4.0	4	52	4.5	4.7	10
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	52	4.7	4.8	25
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	52	4.8	4.8	5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	52	4.7	4.8	15
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	3 60%	1 20%	5	4.0	4.0	4	52	4.7	4.8	15
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	3 60%	1 20%	5	4.0	4.0	4	52	4.6	4.8	10
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	52	4.8	4.9	30
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	52	4.8	4.9	25
Q9	My instructor encourages me to do my best work.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	52	4.7	4.8	35
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	52	4.7	4.9	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	51	4.8	4.9	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	52	4.7	4.8	35
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	52	4.7	4.8	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	52	4.7	4.8	15

				ı	PBHL - 33	10 -	030				Survey Cor	nparisons	;
Labs and Online Learning Questions			Res	ponses (%)		C	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	234	4.3	4.6	41
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	324	4.4	4.7	46

Course:	PLDR - 5355 030 - Leadership in the Administrative State	Department:	PUBLDR
Responsible Faculty:	Jessica Hickey	Responses / Expected:	6 / 15 (40%)

					Jessica	Hicke	y					Survey C	omparis	ons
Cou	se Evaluation Questions		Res	sponses	(%)			Indi	vidual			PU	BLDR	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2	4.5	4.5	6	4.2	4.5	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2	4.5	4.5	6	4.2	4.5	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	6	4.0	4.5	50
Q4	My instructor provides material that helps me do well on assignments.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	4.5	4.5	6	4.0	4.5	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3	4.8	5	6	4.3	4.8	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 16.7%	1 16.7%	0	4 66.7%	6	4.2	4.8	5	6	4.2	4.8	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	6	4.7	4.8	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	6	4.5	4.8	50
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	6	4.5	4.8	50
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3	4.8	5	6	4.3	4.8	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	6	4.5	4.8	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 16.7%	1 16.7%	0	4 66.7%	6	4.2	4.8	5	6	4.2	4.8	50
Q13	My instructor encourages me to develop new viewpoints.	0	1 16.7%	1 16.7%	0	4 66.7%	6	4.2	4.8	5	6	4.2	4.8	50
Q14	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0	1 16.7%	0	4 66.7%	6	4.0	4.8	5	6	4.0	4.8	50

				PLD	R - 5355	- 03	0				Survey Co	mparisons	;
Labs and Online Learning Questions			Respor	ıses (%)			C	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	234	4.3	4.6	26
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	324	4.4	4.7	46

Course:	PSCI - 1040 030 - American Government: Laws and Institutions	Department:	LiberalArt
Responsible Faculty:	Ronald Hy	Responses / Expected:	7 / 25 (28%)

					Ro	nald Hy	,					Survey Co	mpariso	ons
Cou	se Evaluation Questions		R	esponse	es (%)			Indi	vidual			Libe	ralArt	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 14.3%	2 28.6%	1 14.3%	3 42.9%	7	3.9	4.0	4	17	4.2	4.7	13
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 14.3%	0	4 57.1%	2 28.6%	7	4.0	4.1	4	17	4.4	4.6	13
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 14.3%	0	5 71.4%	1 14.3%	7	3.9	4.0	4	16	4.3	4.4	13
Q4	My instructor provides material that helps me do well on assignments.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3	4.6	5	17	4.5	4.7	13
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 14.3%	2 28.6%	3 42.9%	1 14.3%	7	3.6	3.7	4	17	4.1	4.2	13
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1	4.3	4	17	4.4	4.7	13
Q 7	My instructor establishes a climate of respect for students.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3	4.6	5	17	4.4	4.7	13
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	17	4.6	4.7	13
Q9	My instructor encourages me to do my best work.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1	4.3	4	17	4.4	4.7	13
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	17	4.5	4.7	38
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3	4.6	5	17	4.5	4.7	13
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0	4.0	4	17	4.3	4.6	13
Q13	My instructor encourages me to develop new viewpoints.	0	1 14.3%	2 28.6%	1 14.3%	3 42.9%	7	3.9	4.0	4	17	4.2	4.7	13
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 14.3%	2 28.6%	1 14.3%	3 42.9%	7	3.9	4.0	4	17	4.2	4.7	13

					P	SCI - 10	40 -	030				Survey Cor	nparisons	
La	bs and Online Learning Questions		F	Respons	ses (%)			Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	234	4.3	4.6	52
Q1	The course topics are organized in a coherent fashion.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	324	4.4	4.7	24

Course:	PSYC - 3000 030 - Positive Psychology	Department:	SOCPSY
Responsible Faculty:	Amy Dojahn	Responses / Expected:	2 / 29 (6.90%)

					An	ıy Doj	ahn	1				Survey Co	mpariso	ons
Cour	se Evaluation Questions		Res	spons	es (%)			Indi	vidual			soc	PSY	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	62	4.1	4.3	14
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	62	4.3	4.4	5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	62	4.5	4.5	55
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	60	4.4	4.5	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	62	4.2	4.4	41
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	62	4.2	4.4	14
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	62	4.4	4.6	18
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0	4.0	4	62	4.3	4.4	32
Q9	My instructor encourages me to do my best work.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	62	4.2	4.4	27
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	61	4.2	4.3	23
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0	4.0	4	62	4.4	4.4	27
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	62	4.3	4.4	32
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	62	4.3	4.3	18
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 50%	0	0	1 50%	2	3.5	3.5	3.5	62	4.3	4.5	14

				P	SYC - 3	000	- 030				Survey Cor	nparisons	
Labs and Online Learning Questions		R	espo	nses (%)			Co	ourse			A	I	
	SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	4.0	4	234	4.3	4.6	26
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	324	4.4	4.7	36

Course:	PSYC - 3200 030 - Research Methods	Department:	SOCPSY
Responsible Faculty:	Priya Eimerbrink	Responses / Expected:	3 / 25 (12%)

				ı	Priya Ei	merl	orin	k			:	Survey Co	mpariso	ons
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			SOC	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	2 66.7%	0	3	3.7	3.8	4	62	4.1	4.3	32
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	2 66.7%	0	3	3.7	3.8	4	62	4.3	4.4	23
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 100%	0	3	4.0	4.0	4	62	4.5	4.5	5
Q4	My instructor provides material that helps me do well on assignments.	0	1 33.3%	0	2 66.7%	0	3	3.3	3.8	4	60	4.4	4.5	14
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 33.3%	1 33.3%	1 33.3%	0	3	3.0	3.0	3	62	4.2	4.4	9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 33.3%	1 33.3%	1 33.3%	0	3	3.0	3.0	3	62	4.2	4.4	14
Q7	My instructor establishes a climate of respect for students.	0	0	1 33.3%	2 66.7%	0	3	3.7	3.8	4	62	4.4	4.6	32
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 66.7%	1 33.3%	0	3	3.3	3.3	3	62	4.3	4.4	9
Q9	My instructor encourages me to do my best work.	0	1 33.3%	1 33.3%	1 33.3%	0	3	3.0	3.0	3	62	4.2	4.4	5
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 66.7%	1 33.3%	0	3	3.3	3.3	3	61	4.2	4.3	14
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 66.7%	1 33.3%	0	3	3.3	3.3	3	62	4.4	4.4	5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 66.7%	1 33.3%	0	3	3.3	3.3	3	62	4.3	4.4	9
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	2 66.7%	0	3	3.7	3.8	4	62	4.3	4.3	32
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 33.3%	1 33.3%	1 33.3%	0	3	3.0	3.0	3	62	4.3	4.5	5

				PS	SYC -	320	0 - 030				Survey Cor	nparisons	
Labs and Online Learning Questions		Re	spo	nses (%)			Co	ourse			A	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	234	4.3	4.6	26
Q16 The course topics are organized in a coherent fashion.	0	0	0	3 100%	0	3	4.0	4.0	4	324	4.4	4.7	11

Course:	PSYC - 3620 030 - Developmental Psychology	Department:	SOCPSY
Responsible Faculty:	Priya Eimerbrink	Responses / Expected:	6 / 26 (23.08%)

					Priya	Eimerbr	ink					Survey Co	mpariso	ons
Cour	se Evaluation Questions		R	esponse	es (%)			Indi	vidual			SO	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 16.7%	0	4 66.7%	1 16.7%	6	3.8	4.0	4	62	4.1	4.3	45
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0	4.0	4	62	4.3	4.4	32
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	62	4.5	4.5	55
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 83.3%	1 16.7%	6	4.2	4.1	4	60	4.4	4.5	23
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0	4.0	4	62	4.2	4.4	41
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0	4.0	4	62	4.2	4.4	41
Q7	My instructor establishes a climate of respect for students.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	62	4.4	4.6	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 33.3%	3 50%	1 16.7%	6	3.8	3.8	4	62	4.3	4.4	23
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	62	4.2	4.4	41
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0	4.0	4	61	4.2	4.3	36
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 83.3%	1 16.7%	6	4.2	4.1	4	62	4.4	4.4	45
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	62	4.3	4.4	45
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0	4.0	4	62	4.3	4.3	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 33.3%	0	3 50%	1 16.7%	6	3.5	3.8	4	62	4.3	4.5	32

				ı	PSYC -	362	030 - 030				Survey Cor	nparisons	
Labs and Online Learning Questions		Re	spo	ıses (%)		Co	ourse			A	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	234	4.3	4.6	44
Q16 The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	324	4.4	4.7	29

Course:	PSYC - 3640 030 - Marital Adjustment	Department:	SOCPSY
Responsible Faculty:	Jessica Cintron	Responses / Expected:	12 / 29 (41.38%)

	·	Ī				Jessica	Cint	ron				Survey Co	mpariso	ns
Cour	se Evaluation Questions		R	esp	onses (%)		Indi	vidual			SO	CPSY	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	62	4.1	4.3	95
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	62	4.3	4.4	95
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	62	4.5	4.5	95
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	60	4.4	4.5	86
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	62	4.2	4.4	95
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	62	4.2	4.4	86
Q 7	My instructor establishes a climate of respect for students.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	62	4.4	4.6	77
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	62	4.3	4.4	95
Q9	My instructor encourages me to do my best work.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	62	4.2	4.4	95
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	61	4.2	4.3	95
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	62	4.4	4.4	95
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	62	4.3	4.4	95
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	62	4.3	4.3	95
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	62	4.3	4.5	86

						PSYC	- 364	0 - 030				Survey Cor	nparisons	
Labs	and Online Learning Questions		Res	pon	ses	(%)		Co	urse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	6 100%	6	5.0	5.0	5	234	4.3	4.6	92
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	11 100%	11	5.0	5.0	5	324	4.4	4.7	90

Course:	PSYC - 4040 030 - Advanced Seminar in Psychology (Capstone)	Department:	SOCPSY
Responsible Faculty:	Elizabeth Casadecalvo	Responses / Expected:	4 / 13 (30.77%)

				E	lizabe	eth Cas	ade	calvo				Survey Co	mpariso	ons
Cou	se Evaluation Questions		Re	spons	es (%))		Indi	vidual			soc	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	62	4.1	4.3	86
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	62	4.3	4.4	86
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	62	4.5	4.5	55
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0	5.0	5	60	4.4	4.5	95
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	62	4.2	4.4	86
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	62	4.2	4.4	95
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	5.0	5	62	4.4	4.6	91
Q8	My instructor is available to me on matters pertaining to the course.	0	1 25%	0	0	3 75%	4	4.3	4.8	5	62	4.3	4.4	86
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	62	4.2	4.4	86
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	0	0	3 75%	4	4.3	4.8	5	61	4.2	4.3	86
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	62	4.4	4.4	86
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	62	4.3	4.4	86
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	62	4.3	4.3	86
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	62	4.3	4.5	77

					1	PSYC -	4040	030 - 030				- Survey Co	mparisons	
Labs and	d Online Learning Questions		Re	spoi	ıses (%)		Co	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The	e section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	234	4.3	4.6	52
Q16 The	e course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	324	4.4	4.7	69

Course:	PSYC - 4470 030 - Sexual Behavior	Department:	SOCPSY
Responsible Faculty:	Jessica Cintron	Responses / Expected:	11 / 30 (36.67%)

					Je	ssica C	intro	on				Survey Co	mpariso	ns
Cour	se Evaluation Questions			Respo	nses (%)		Indi	vidual			SOC	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3	4.3	4	62	4.1	4.3	59
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 45.5%	6 54.5%	11	4.5	4.6	5	62	4.3	4.4	68
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 45.5%	6 54.5%	11	4.5	4.6	5	62	4.5	4.5	77
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 45.5%	6 54.5%	11	4.5	4.6	5	60	4.4	4.5	68
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5	4.6	5	62	4.2	4.4	68
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4	4.4	4	62	4.2	4.4	68
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	62	4.4	4.6	68
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	62	4.3	4.4	68
Q9	My instructor encourages me to do my best work.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5	4.6	5	62	4.2	4.4	68
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	5 45.5%	6 54.5%	11	4.5	4.6	5	61	4.2	4.3	68
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	62	4.4	4.4	68
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 45.5%	6 54.5%	11	4.5	4.6	5	62	4.3	4.4	68
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5	4.6	5	62	4.3	4.3	68
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 36.4%	7 63.6%	11	4.6	4.7	5	62	4.3	4.5	68

					ı	PSYC - 44	70 -	030				- Survey Co	mparisons	
Labs	and Online Learning Questions			Res	ponses (%	.)		C	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	234	4.3	4.6	64
Q16	The course topics are organized in a coherent fashion.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	324	4.4	4.7	42

Course:	PSYC - 4520 030 - Personality	Department:	SOCPSY
Responsible Faculty:	Jason Wright	Responses / Expected:	3 / 28 (10.71%)

				Ja	son Wri	ight	t				Survey Co	mparisc	ons
Cour	se Evaluation Questions		Respo	nses (%))		Indi	ividual			SO	CPSY	
		SD D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	62	4.1	4.3	77
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	62	4.3	4.4	77
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	62	4.5	4.5	86
Q4	My instructor provides material that helps me do well on assignments.	0 0	0	1 50%	1 50%	2	4.5	4.5	4.5	60	4.4	4.5	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	62	4.2	4.4	77
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	62	4.2	4.4	77
Q7	My instructor establishes a climate of respect for students.	0 0	0	0	3 100%	3	5.0	5.0	5	62	4.4	4.6	91
Q8	My instructor is available to me on matters pertaining to the course.	0 0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	62	4.3	4.4	77
Q9	My instructor encourages me to do my best work.	0 0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	62	4.2	4.4	77
Q10	My instructor provides timely feedback to guide my progress.	0 0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	61	4.2	4.3	77
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	62	4.4	4.4	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	62	4.3	4.4	77
Q13	My instructor encourages me to develop new viewpoints.	0 0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	62	4.3	4.3	77
Q14	My instructor made the subject interesting and motivated me to learn.	0 0	0	0	3 100%	3	5.0	5.0	5	62	4.3	4.5	95

				ı	PSYC - 45	20 -	030				Survey Co	nparisons	
Labs and Online Learning Questions			Res	ponses (%	.)		C	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	234	4.3	4.6	26
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	324	4.4	4.7	56

Course:	SOCI - 3110 030 - Sociology of Mental Health, Mental Illness and Mental Health	Department:	SOCPSY
Responsible Faculty:	Syeda Jesmin	Responses / Expected:	4 / 30 (13.33%)

					s	yeda .	Jes	min				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Re	spons	ses (%)		Indi	vidual			soc	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	62	4.1	4.3	45
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	62	4.3	4.4	45
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	62	4.5	4.5	23
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	60	4.4	4.5	32
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	62	4.2	4.4	41
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	62	4.2	4.4	41
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	62	4.4	4.6	41
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	62	4.3	4.4	50
Q9	My instructor encourages me to do my best work.	0	0	2 50%	1 25%	1 25%	4	3.8	3.5	3.5	62	4.2	4.4	27
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	61	4.2	4.3	36
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	62	4.4	4.4	27
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	62	4.3	4.4	45
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 50%	1 25%	1 25%	4	3.8	3.5	3.5	62	4.3	4.3	18
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	62	4.3	4.5	45

						SOCI - 31	10 - (030				Survey Cor	nparisons	
La	os and Online Learning Questions			Res	ponses (%	b)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	234	4.3	4.6	52
Q1	6 The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	324	4.4	4.7	24

Course:	SOCI - 3120 030 - Sociology of Health and Illness	Department:	SOCPSY
Responsible Faculty:	Syeda Jesmin	Responses / Expected:	6 / 29 (20.69%)

					Sy	eda Jes	miı	n				Survey Co	mpariso	ons
Cour	se Evaluation Questions			Respon	ses (%)			Indi	vidual			soc	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	3 50%	2 33.3%	1 16.7%	6	3.7	3.5	3.5	62	4.1	4.3	23
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	62	4.3	4.4	45
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 83.3%	1 16.7%	6	4.2	4.1	4	62	4.5	4.5	14
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	60	4.4	4.5	77
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 50%	2 33.3%	1 16.7%	6	3.7	3.5	3.5	62	4.2	4.4	23
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 33.3%	2 33.3%	2 33.3%	6	4.0	4.0	4	62	4.2	4.4	41
Q7	My instructor establishes a climate of respect for students.	0	0	3 50%	1 16.7%	2 33.3%	6	3.8	3.5	3.5	62	4.4	4.6	18
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 83.3%	1 16.7%	6	4.2	4.1	4	62	4.3	4.4	41
Q9	My instructor encourages me to do my best work.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	4.5	4.5	62	4.2	4.4	59
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	61	4.2	4.3	59
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 50%	1 16.7%	2 33.3%	6	3.8	3.5	3.5	62	4.4	4.4	14
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	4 66.7%	1 16.7%	1 16.7%	6	3.5	3.3	3	62	4.3	4.4	9
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 33.3%	3 50%	1 16.7%	6	3.8	3.8	4	62	4.3	4.3	41
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	62	4.3	4.5	45

				s	OCI - 312	20 -	030				Survey Co	mparisons	
Labs and Online Learning Questions		Res	pons	ses (%)			Co	ourse			А	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	234	4.3	4.6	92
Q16 The course topics are organized in a coherent fashion.	0	1 20%	0	2 40%	2 40%	5	4.0	4.3	4	324	4.4	4.7	24

Course:	SOCI - 3220 030 - Quantitative Data Collection	Department:	SOCPSY
Responsible Faculty:	Alexandra Veselka-Bush	Responses / Expected:	6 / 28 (21.43%)

					Alexa	ndra Ve	sel	ka-Bush	1			Survey Co	ompariso	ns
Cour	se Evaluation Questions		R	esp	onses (%)		Indi	vidual			so	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	62	4.1	4.3	68
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	62	4.3	4.4	59
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	62	4.5	4.5	55
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	60	4.4	4.5	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	62	4.2	4.4	59
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	62	4.2	4.4	59
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	62	4.4	4.6	59
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	62	4.3	4.4	59
Q9	My instructor encourages me to do my best work.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	62	4.2	4.4	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 80%	1 20%	5	4.2	4.1	4	61	4.2	4.3	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 83.3%	1 16.7%	6	4.2	4.1	4	62	4.4	4.4	45
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	62	4.3	4.4	59
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 66.7%	2 33.3%	6	4.3	4.3	4	62	4.3	4.3	59
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	62	4.3	4.5	59

					socı - 3	3220	- 030				Survey Co	nparisons	
Labs and Online Learning Questions		Re	spor	ıses (%)		Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	234	4.3	4.6	61
Q16 The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	324	4.4	4.7	46

Course:	SOCI - 4600 030 - Sociology of Mass Communication	Department:	SOCPSY
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	5 / 18 (27.78%)

					Iftel	har A	mir	n				Survey Co	mpariso	ns
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	vidual			soc	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	2 40%	3 60%	0	0	5	2.6	2.7	3	62	4.1	4.3	5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 60%	2 40%	0	5	3.4	3.3	3	62	4.3	4.4	14
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	62	4.5	4.5	32
Q4	My instructor provides material that helps me do well on assignments.	0	1 20%	3 60%	1 20%	0	5	3.0	3.0	3	60	4.4	4.5	5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	5 100%	0	0	5	3.0	3.0	3	62	4.2	4.4	9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 20%	3 60%	1 20%	0	5	3.0	3.0	3	62	4.2	4.4	14
Q7	My instructor establishes a climate of respect for students.	0	0	3 60%	1 20%	1 20%	5	3.6	3.3	3	62	4.4	4.6	5
Q8	My instructor is available to me on matters pertaining to the course.	0	1 20%	2 40%	1 20%	1 20%	5	3.4	3.3	3	62	4.3	4.4	9
Q9	My instructor encourages me to do my best work.	0	0	4 80%	1 20%	0	5	3.2	3.1	3	62	4.2	4.4	14
Q10	My instructor provides timely feedback to guide my progress.	1 20%	1 20%	3 60%	0	0	5	2.4	2.7	3	61	4.2	4.3	5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	2 40%	2 40%	5	4.2	4.3	4	62	4.4	4.4	59
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 60%	2 40%	0	5	3.4	3.3	3	62	4.3	4.4	23
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 60%	2 40%	0	5	3.4	3.3	3	62	4.3	4.3	5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 40%	3 60%	0	5	3.6	3.7	4	62	4.3	4.5	23

				so	CI - 4	600	- 030				Survey Cor	nparisons	
Labs and Online Learning Questions		Re	esponse	es (%)			C	ourse			A	I	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	234	4.3	4.6	14
Q16 The course topics are organized in a coherent fashion.	0	0	1 25%	3 75%	0	4	3.8	3.8	4	324	4.4	4.7	6

Course:	TECM - 2300 030 - New Media Writing	Department:	LangCom
Responsible Faculty:	Roberto Tinajero II	Responses / Expected:	3 / 9 (33.33%)

					Robe	rto Tina	jer	o II				Survey Co	mpariso	ns
Cour	se Evaluation Questions			Respon	ıses (%)			Indi	vidual			Lan	gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	14	3.8	4.2	38
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	14	4.1	4.5	38
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	14	4.4	4.6	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	14	4.3	4.6	13
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	14	3.9	4.3	38
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	14	4.1	4.5	38
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	14	4.4	4.7	13
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	14	4.4	4.6	25
Q9	My instructor encourages me to do my best work.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	14	4.1	4.5	38
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	14	4.0	4.5	38
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	4.0	4	14	4.3	4.6	13
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	14	4.1	4.6	13
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	14	4.2	4.6	13
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	14	3.9	4.5	38

				7	ГЕСМ -	230	0 - 030				Survey Cor	nparisons	
Labs and Online Learning Questions		Re	spoi	ıses (%)		Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	234	4.3	4.6	52
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	324	4.4	4.7	36

Course:	ACCT - 5130 010 - Accounting for Management	Department:	BUSI
Responsible Faculty:	Cathy Scott	Responses / Expected:	3 / 16 (18.75%)

						Cathy	Sco	tt				Survey Co	mpariso	ns
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	vidual			В	USI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	33	4.5	4.6	69
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	33	4.6	4.8	75
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	33	4.7	4.8	56
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	32	4.7	4.8	56
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	33	4.5	4.7	56
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	33	4.5	4.7	63
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	33	4.6	4.8	44
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	33	4.6	4.7	88
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	33	4.6	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	33	4.4	4.6	69
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	33	4.5	4.8	56
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	32	4.6	4.8	56
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	32	4.4	4.7	56
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	33	4.5	4.7	63

				AC	CT - 5130) - O	10			-	Survey Co	omparison	s
Labs and Online Learning Questions		Re	spo	nses (%)			Co	ourse				All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	47	4.2	4.7	35
Q16 The course topics are organized in a coherent fashion.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	4.0	4	77	4.5	4.8	13

Course: BCIS - 5900 010 - Special Problems	Department:	BUSI
Responsible Faculty: Theodore Larson	Responses / Expected:	3 / 10 (30%)

					T	heodore	La	rson				Survey Co	mpariso	ns
Cour	se Evaluation Questions		R	esp	onses (%)		Indi	vidual			В	USI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	33	4.5	4.6	31
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	33	4.6	4.8	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	33	4.7	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	32	4.7	4.8	56
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	33	4.5	4.7	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	33	4.5	4.7	63
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	33	4.6	4.8	81
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	33	4.6	4.7	56
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	33	4.6	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	33	4.4	4.6	19
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	33	4.5	4.8	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	32	4.6	4.8	81
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	32	4.4	4.7	81
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	33	4.5	4.7	63

						BCIS - 590	00 -	010			-	Survey Co	mparisons	ş
Labs	s and Online Learning Questions			Res	ponses (%)		Co	ourse			1	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	0.0	0	47	4.2	4.7	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	77	4.5	4.8	39

Course:	BUSI - 5190 010 - Administrative Strategy	Department:	BUSI
Responsible Faculty:	Ayse Goktan Bilhan	Responses / Expected:	4 / 20 (20%)

					Ays	e Gokt	an	Bilhan				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Re	spons	ses (%)		Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	33	4.5	4.6	44
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	33	4.6	4.8	31
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	33	4.7	4.8	19
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	32	4.7	4.8	19
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	33	4.5	4.7	31
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 75%	1 25%	4	4.3	4.2	4	33	4.5	4.7	19
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	33	4.6	4.8	31
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	33	4.6	4.7	31
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	33	4.6	4.8	31
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	33	4.4	4.6	31
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	33	4.5	4.8	31
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	32	4.6	4.8	31
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	2 50%	1 25%	4	4.0	4.0	4	32	4.4	4.7	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	33	4.5	4.7	31

				В	USI - 51	90 -	010				Survey Co	mparison	s
Labs and Online Learning Questions		F	Respons	ses (%)			C	ourse			,	AII	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	47	4.2	4.7	24
Q16 The course topics are organized in a coherent fashion.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	77	4.5	4.8	24

Course: CJUS - 4200 030 - Criminal Procedure	Department:	Criminal J
Responsible Faculty: Gretchen Hackard	Responses / Expected:	4 / 15 (26.67%)

					Gretc	nen H	lacka	rd				- Survey C	ompariso	ons
Cou	se Evaluation Questions		Resp	on	ses (%)			Indiv	ridual			Cri	minal	
		SD	DN	1	A S	N	Ме		Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0 0	2	1 3 25% 75	4	4.	8	4.8	5	9	4.8	4.9	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0 0	2	1 3 25% 75	_% 4	4.	8	4.8	5	9	4.8	4.9	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0 0	2	1 3 25% 75	_% 4	4.	8	4.8	5	9	4.9	4.9	17
Q4	My instructor provides material that helps me do well on assignments.	0	0 0	2	1 3 25% 75	_% 4	4.	8	4.8	5	9	4.9	4.9	17
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 0	2	1 3 25% 75	_% 4	4.	8	4.8	5	9	4.8	4.9	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 0	2	1 3 25% 75	_% 4	4.	8	4.8	5	9	4.9	4.9	17
Q7	My instructor establishes a climate of respect for students.	0	0 0	2	1 3 25% 75		4.	8	4.8	5	9	4.9	4.9	17
Q8	My instructor is available to me on matters pertaining to the course.	0	0 0	2	1 3 25% 75		4.	8	4.8	5	9	4.9	4.9	17
Q9	My instructor encourages me to do my best work.	0	0 0)	0 3	% з	5.	0	5.0	5	8	5.0	5.0	50
Q10	My instructor provides timely feedback to guide my progress.	0	0 0	,	2 2 50% 50		4.	5	4.5	4.5	9	4.8	4.9	17
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 0	2	1 3 25% 75	_% 4	4.	8	4.8	5	9	4.9	4.9	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 0	2	1 3 25% 75	_% 4	4.	8	4.8	5	9	4.9	4.9	17
Q13	My instructor encourages me to develop new viewpoints.	0	0 0	2	1 3 25% 75	_% 4	4.	8	4.8	5	9	4.9	4.9	17
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 0	2	1 3 25% 75	_% 4	4.	8	4.8	5	9	4.8	4.9	50

				(CJUS -	4200	- 030				Survey Co	mparisons	ş
Labs and Online Learning Questions		Re	spoi	nses (%)		Co	ourse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	47	4.2	4.7	48
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	77	4.5	4.8	48

Course:	CJUS - 5050 030 - Criminals and Substance Abuse	Department:	Criminal J
Responsible Faculty:	Michael Noyes	Responses / Expected:	3 / 11 (27.27%)

					N	Michael	No	yes				Survey C	ompariso	ons
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	vidual			Cri	minal	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	9	4.8	4.9	17
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	9	4.8	4.9	83
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	9	4.9	4.9	67
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	9	4.9	4.9	67
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	9	4.8	4.9	83
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	9	4.9	4.9	67
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	9	4.9	4.9	67
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	9	4.9	4.9	67
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	8	5.0	5.0	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	9	4.8	4.9	67
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	9	4.9	4.9	67
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	9	4.9	4.9	67
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	9	4.9	4.9	67
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	9	4.8	4.9	17

					CJUS -	505	0 - 030				Survey Co	mparisons	;
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	urse			A	All .	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.2	4.7	80
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	77	4.5	4.8	80

Course:	CJUS - 5200 030 - Legal Aspects of the Criminal Justice System	Department:	Criminal J
Responsible Faculty:	John Coleman	Responses / Expected:	2 / 12 (16.67%)

						John C	ole	man				Survey C	ompariso	ns
Cou	se Evaluation Questions		Res	poi	nses	(%)		Indi	ividual			Cri	minal	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	5.0	5	9	4.8	4.9	83
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	9	4.8	4.9	17
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	9	4.9	4.9	67
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	9	4.9	4.9	67
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	9	4.8	4.9	17
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	9	4.9	4.9	67
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	9	4.9	4.9	67
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	9	4.9	4.9	67
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	8	5.0	5.0	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	9	4.8	4.9	67
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	9	4.9	4.9	67
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	9	4.9	4.9	67
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	9	4.9	4.9	67
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	9	4.8	4.9	83

	Labs and Online Learning Questions					CJUS -	520	030 - 030		Survey Comparisons					
L			Responses (%)					Co	ourse		All				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.2	4.7	80	
(The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	77	4.5	4.8	80	

Course:	EDAD - 5330 021 - The Principalship	Department:	SEHSTE
Responsible Faculty:	Jerry Burkett	Responses / Expected:	6 / 6 (100%)

					Je	rry Burl	cett	t				Survey Co	mpariso	ns
Cou	se Evaluation Questions			Respor	ıses (%)			Indi	vidual			SE	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	27	4.4	4.8	58
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	27	4.6	4.9	42
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	27	4.6	4.8	58
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	27	4.5	4.8	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	27	4.5	4.7	58
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	27	4.4	4.7	58
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	27	4.6	4.8	58
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	27	4.6	4.8	42
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	27	4.4	4.7	58
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	27	3.8	4.2	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0	5.0	5	27	4.6	4.8	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	27	4.6	4.8	42
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	27	4.6	4.8	42
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	27	4.6	4.8	42

Labs and Online Learning Questions				ı	EDAD - 53	30 -		Survey Comparisons						
			Res	ponses (%)		Co	ourse			,	All		
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	47	4.2	4.7	57	
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	77	4.5	4.8	57	

Course:	EDAD - 5370 021 - Leadership of Assessment, Accountability, and Evaluation	Department:	SEHSTE
Responsible Faculty:	Cynthia Mika	Responses / Expected:	11 / 29 (37.93%)

					Cynth	ia Mika					5	Survey Co	omparis	ons
Cou	se Evaluation Questions		Res	SEI	HSTE									
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 9.1%	1 9.1%	0	4 36.4%	5 45.5%	11	4.0	4.4	4	27	4.4	4.8	8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 9.1%	0	1 9.1%	2 18.2%	7 63.6%	11	4.3	4.7	5	27	4.6	4.9	8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 9.1%	0	0	5 45.5%	5 45.5%	11	4.2	4.4	4	27	4.6	4.8	8
Q4	My instructor provides material that helps me do well on assignments.	1 9.1%	0	1 9.1%	3 27.3%	6 54.5%	11	4.2	4.6	5	27	4.5	4.8	42
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1	4.4	4	27	4.5	4.7	8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	0	3 27.3%	3 27.3%	4 36.4%	11	3.8	4.0	4	27	4.4	4.7	8
Q7	My instructor establishes a climate of respect for students.	1 9.1%	0	1 9.1%	2 18.2%	7 63.6%	11	4.3	4.7	5	27	4.6	4.8	25
Q8	My instructor is available to me on matters pertaining to the course.	1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1	4.4	4	27	4.6	4.8	8
Q9	My instructor encourages me to do my best work.	1 9.1%	0	3 27.3%	3 27.3%	4 36.4%	11	3.8	4.0	4	27	4.4	4.7	8
Q10	My instructor provides timely feedback to guide my progress.	3 27.3%	3 27.3%	0	4 36.4%	1 9.1%	11	2.7	2.3	2	27	3.8	4.2	8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1	4.4	4	27	4.6	4.8	8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 9.1%	0	0	4 36.4%	6 54.5%	11	4.3	4.6	5	27	4.6	4.8	8
Q13	My instructor encourages me to develop new viewpoints.	1 9.1%	0	0	6 54.5%	4 36.4%	11	4.1	4.3	4	27	4.6	4.8	8
Q14	My instructor made the subject interesting and motivated me to learn.	1 9.1%	0	1 9.1%	3 27.3%	6 54.5%	11	4.2	4.6	5	27	4.6	4.8	8

Labs and Online Learning Questions		EDAD - 5370 - 021 Survey Comparisons												
			Res	spon	ses (%)			Co	urse			,	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
-	Q15 The section or lab is well integrated into the course structure.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	47	4.2	4.7	48
	Q16 The course topics are organized in a coherent fashion.	1 10%	0	0	3 30%	6 60%	10	4.3	4.7	5	77	4.5	4.8	33

Course: EDAD - 5620 003 - Leadership for Student Educational Services Department: SEHSTE

Responsible Faculty: Eric Creeger Responses / Expected: 2 / 30 (6.67%)

					Eric	Cree	ger				Survey Co	mpariso	ons
Cou	se Evaluation Questions		R	esp	onses (%)		Ind	ividual			SEI	ISTE	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 1 50% 50%	2	4.5	4.5	4.5	27	4.4	4.8	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 2 1009	2	5.0	5.0	5	27	4.6	4.9	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 1 50% 50%	2	4.5	4.5	4.5	27	4.6	4.8	25
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 1 50% 50%	2	4.5	4.5	4.5	27	4.5	4.8	17
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 1 50% 50%	2	4.5	4.5	4.5	27	4.5	4.7	33
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 1 50% 50%	2	4.5	4.5	4.5	27	4.4	4.7	25
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 1 50% 50%	2	4.5	4.5	4.5	27	4.6	4.8	8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 2 1009	2	5.0	5.0	5	27	4.6	4.8	75
Q9	My instructor encourages me to do my best work.	0	0	0	0 2 1009	2	5.0	5.0	5	27	4.4	4.7	83
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 100% 0	2	4.0	4.0	4	27	3.8	4.2	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 1 50% 50%	2	4.5	4.5	4.5	27	4.6	4.8	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 2 1009	2	5.0	5.0	5	27	4.6	4.8	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0 2 1009	2	5.0	5.0	5	27	4.6	4.8	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 2	2	5.0	5.0	5	27	4.6	4.8	75

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5 Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

						EDAD - 56	EDAD - 5620 - 003										
Labs and Online Learning Questions			R	espo	onses (%)		Co	ourse			,	All				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15 The section or lab is well integrated into the	e course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.2	4.7	35			
Q16 The course topics are organized in a cohere	ent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	77	4.5	4.8	80			

Course: EDAD - 5650 021 - Professional Development and Supervision Department: SEHSTE

Responsible Faculty: Eric Creeger Responses / Expected: 4 / 9 (44.44%)

					Er	ic Cre	ege	r				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	ponse	es (%)			Indi	vidual			SEI	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 25%	0	0	3 75%	4	4.3	4.8	5	27	4.4	4.8	42
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	27	4.6	4.9	25
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	27	4.6	4.8	42
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	27	4.5	4.8	58
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	27	4.5	4.7	33
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	27	4.4	4.7	42
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	27	4.6	4.8	42
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	27	4.6	4.8	25
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	27	4.4	4.7	42
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	27	3.8	4.2	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	27	4.6	4.8	42
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	27	4.6	4.8	25
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	27	4.6	4.8	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	27	4.6	4.8	25

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

						EDAD - 56	50 -	021				Survey Co	mparisons	s
Labs and Online Lea	rning Questions			Res	ponses (%)		Co	ourse			,	All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or	lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	47	4.2	4.7	57
Q16 The course top	ics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	77	4.5	4.8	80

Course:	EDAD - 5680 021 - Administration of the K-12 Curriculum	Department:	SEHSTE
Responsible Faculty:	Deborah Tribble	Responses / Expected:	2 / 6 (33.33%)

						Debor	ah 1	Tribble				Survey Co	mpariso	ns
Cou	rse Evaluation Questions	R	lesp	on	ses	s (%)		Indi	ividual			SEI	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.4	4.8	83
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.9	75
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	83
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.5	4.8	92
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.5	4.7	83
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.4	4.7	83
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	75
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.4	4.7	83
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	27	3.8	4.2	92
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	75

Course:	EDAD - 5700 001 - Practicum in Educational Leadership	Department:	SEHSTE
Responsible Faculty:	Eric Creeger	Responses / Expected:	2 / 5 (40%)

						Eric C	ree	ger				Survey Co	mpariso	ons
Cou	se Evaluation Questions		Res	or	ises	(%)		Indi	vidual			SEI	ISTE	
		SD	D I	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.4	4.8	83
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.9	75
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	83
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	27	4.5	4.8	17
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.5	4.7	83
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.4	4.7	83
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	75
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	27	4.4	4.7	25
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	27	3.8	4.2	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	27	4.6	4.8	75

				E	DAD - 57	700 ·	001				Survey Co	mparison	s
Labs and Online Learning Questions		R	Respons	ses (%)			C	ourse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	47	4.2	4.7	35
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	77	4.5	4.8	24

Course: FINA - 5170 010 - Financial Management	Department:	BUSI
Responsible Faculty: Ajamu Loving	Responses / Expected:	7 / 17 (41.18%)

					Aja	mu Lov	inç)				Survey Co	mpariso	ons
Cou	se Evaluation Questions			Responses	s (%)			Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	2 28.6% 42	3 2.9%	2 28.6%	7	4.0	4.0	4	33	4.5	4.6	19
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3% 42	3 2.9%	3 42.9%	7	4.3	4.3	4	33	4.6	4.8	19
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3% 28	2 3.6%	4 57.1%	7	4.4	4.6	5	33	4.7	4.8	31
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 16.7% 16	1 5.7%	4 66.7%	6	4.5	4.8	5	32	4.7	4.8	56
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0		3 2.9%	2 28.6%	7	4.0	4.0	4	33	4.5	4.7	19
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3% 42	3 2.9%	3 42.9%	7	4.3	4.3	4	33	4.5	4.7	31
Q7	My instructor establishes a climate of respect for students.	0	0	2 28.6% 28	2 3.6%	3 42.9%	7	4.1	4.3	4	33	4.6	4.8	19
Q8	My instructor is available to me on matters pertaining to the course.	0	0		2 3.6%	4 57.1%	7	4.4	4.6	5	33	4.6	4.7	44
Q9	My instructor encourages me to do my best work.	0	0	2 28.6% 28	2 3.6%	3 42.9%	7	4.1	4.3	4	33	4.6	4.8	19
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 28.6% 14	1 4.3%	4 57.1%	7	4.3	4.6	5	33	4.4	4.6	44
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 42.9% 14	1 4.3%	3 42.9%	7	4.0	4.0	4	33	4.5	4.8	19
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 42.9% 14	1 4.3%	3 42.9%	7	4.0	4.0	4	32	4.6	4.8	13
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 28.6% 28	2 3.6%	3 42.9%	7	4.1	4.3	4	32	4.4	4.7	44
Q14	My instructor made the subject interesting and motivated me to learn.	0	0		2	3 42.9%	7	4.1	4.3	4	33	4.5	4.7	19

					FINA - 5	170	- 010				Survey Co	mparisons	s
Labs and Online Learning Questions		R	espo	nses (%	6)		Co	ourse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.2	4.7	80
Q16 The course topics are organized in a coherent fashion.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	77	4.5	4.8	24

Course: HIST - 2610 030 - United States History to 1865	Department:	LiberalArt
Responsible Faculty: Mark Stanley	Responses / Expected:	3 / 15 (20%)

						Marl	c St	anley				- Survey C	ompariso	ons
Cou	se Evaluation Questions	F	Resp	por	se	s (%)		Ind	ividual			Libe	eralArt	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	5	4.2	4.9	75

					HIST -	261		Survey Comparisons					
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	urse			, and a	All .	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.2	4.7	80
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	77	4.5	4.8	80

Course: HIST	- 2620 030 - United States History Since 1865	Department:	LiberalArt
Responsible Faculty: Mark	k Stanley	Responses / Expected:	2 / 18 (11.11%)

						Mari	c St	anley				- Survey C	ompariso	ns
Cour	se Evaluation Questions	Re	spc	nse	es ((%)		Indi	ividual			Libe	eralArt	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q4	My instructor provides material that helps me do well on assignments.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q7	My instructor establishes a climate of respect for students.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q8	My instructor is available to me on matters pertaining to the course.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q9	My instructor encourages me to do my best work.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q10	My instructor provides timely feedback to guide my progress.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q13	My instructor encourages me to develop new viewpoints.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25
Q14	My instructor made the subject interesting and motivated me to learn.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	5	4.2	4.9	25

				H	IIST	262		Survey Comparisons						
Labs and Online Learning Questions	Re	spor	ıses	(%)			Co	ourse			A	All		
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	1 100%	0	0	0	0	1	1.0	1.0	1	47	4.2	4.7	11	
Q16 The course topics are organized in a coherent fashion.	1 100%	0	0	0	0	1	1.0	1.0	1	77	4.5	4.8	7	

Course:	MATH - 1710 030 - Calculus I	Department:	MATHIS
Responsible Faculty:	Byungik Kahng	Responses / Expected:	4 / 10 (40%)

					Byu	ıngik K	ahr	ng				Survey Co	mpariso	ons
Cou	se Evaluation Questions		Resp	oonse	es (%)			Indi	vidual			MA	THIS	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 25%	1 25%	0	1 25%	1 25%	4	3.0	3.0	3	10	3.8	4.5	17
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	11	3.6	4.6	17
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	11	3.6	4.6	17
Q4	My instructor provides material that helps me do well on assignments.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	11	3.7	4.7	17
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 25%	1 25%	0	1 25%	1 25%	4	3.0	3.0	3	11	3.5	4.3	17
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	11	3.6	4.6	17
Q7	My instructor establishes a climate of respect for students.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	11	3.9	4.7	17
Q8	My instructor is available to me on matters pertaining to the course.	1 25%	1 25%	1 25%	0	1 25%	4	2.8	2.5	2.5	11	3.5	4.0	17
Q9	My instructor encourages me to do my best work.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	11	3.6	4.6	17
Q10	My instructor provides timely feedback to guide my progress.	1 25%	2 50%	0	0	1 25%	4	2.5	2.0	2	11	3.4	4.0	17
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	11	3.6	4.6	17
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	11	3.5	4.6	50
Q13	My instructor encourages me to develop new viewpoints.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	11	3.6	4.6	17
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	1 25%	0	0	2 50%	4	3.3	3.5	3.5	11	3.6	4.6	17

	MATH - 1710 - 030									Survey Comparisons						
Labs and Online Learning Questions		Respo	nses (%	6)			Co	ourse			-	All				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15 The section or lab is well integrated into the course structure.	1 33.3%	1 33.3%	0	0	1 33.3%	3	2.7	2.0	2	47	4.2	4.7	15			
Q16 The course topics are organized in a coherent fashion.	1 25%	0	1 25%	0	2 50%	4	3.5	4.0	4	77	4.5	4.8	13			

Course: MATH - 1710 230 - Calculus I	Department:	MATHIS
Responsible Faculty: Byungik Kahng	Responses / Expected:	5 / 10 (50%)

					Byu	ngik K	ahr	ng				Survey Co	ompariso	ons
Cou	se Evaluation Questions		Resp	onse	s (%)			Indi	vidual			MA	THIS	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	10	3.8	4.5	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	4.0	4	11	3.6	4.6	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	4.0	4	11	3.6	4.6	50
Q4	My instructor provides material that helps me do well on assignments.	1 20%	1 20%	0	0	3 60%	5	3.6	4.7	5	11	3.7	4.7	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	4.0	4	11	3.5	4.3	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	4.0	4	11	3.6	4.6	50
Q7	My instructor establishes a climate of respect for students.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	11	3.9	4.7	50
Q8	My instructor is available to me on matters pertaining to the course.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	4.0	4	11	3.5	4.0	50
Q9	My instructor encourages me to do my best work.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	4.0	4	11	3.6	4.6	50
Q10	My instructor provides timely feedback to guide my progress.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	4.0	4	11	3.4	4.0	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	4.0	4	11	3.6	4.6	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 20%	1 20%	1 20%	0	2 40%	5	3.2	3.0	3	11	3.5	4.6	17
Q13	My instructor encourages me to develop new viewpoints.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	4.0	4	11	3.6	4.6	50
Q14	My instructor made the subject interesting and motivated me to learn.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	4.0	4	11	3.6	4.6	50

					MATH - 1		Survey Comparisons						
Labs and Online Learning Questions	R	esp	ons	es ('	%)		Co	ourse			-	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	47	4.2	4.7	20
Q16 The course topics are organized in a coherent fashion.	1 33.3%	0	0	0	2 66.7%	3	3.7	4.8	5	77	4.5	4.8	39

Course: MATH - 4900 001 - Special Problems	Department:	MATHIS
Responsible Faculty: Richard Chandler	Responses / Expected:	2 / 7 (28.57%)

						Richar	d Cl	handler				Survey Co	mpariso	ns
Cour	se Evaluation Questions	R	lesp	oon	ses	s (%)		Indi	ividual			МА	THIS	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	5.0	5	10	3.8	4.5	83
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.6	4.6	83
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.6	4.6	83
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.7	4.7	83
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.5	4.3	83
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.6	4.6	83
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.9	4.7	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.5	4.0	83
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.6	4.6	83
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.4	4.0	83
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.6	4.6	83
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.5	4.6	83
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.6	4.6	83
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	11	3.6	4.6	83

					MATH -	49	00 - 001		Survey Comparisons					
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	urse			, and a	All		
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.2	4.7	80	
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	77	4.5	4.8	80	

Course:MGMT - 4880 010 - Management of Projects and SystemsDepartment:BUSIResponsible Faculty:Subhro MitraResponses / Expected:5 / 29 (17.24%)

					Su	bhro N	∕litr	ra				Survey Co	ompariso	ons
Cou	se Evaluation Questions		Res	ponse	es (%)			Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	33	4.5	4.6	56
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	33	4.6	4.8	44
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	33	4.7	4.8	44
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	32	4.7	4.8	31
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	33	4.5	4.7	44
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 20%	0	1 20%	3 60%	5	4.2	4.7	5	33	4.5	4.7	44
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	33	4.6	4.8	56
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 60%	2 40%	5	4.4	4.3	4	33	4.6	4.7	19
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	33	4.6	4.8	44
Q10	My instructor provides timely feedback to guide my progress.	0	1 20%	0	1 20%	3 60%	5	4.2	4.7	5	33	4.4	4.6	56
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	33	4.5	4.8	44
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	32	4.6	4.8	44
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 40%	1 20%	2 40%	5	4.0	4.0	4	32	4.4	4.7	25
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	33	4.5	4.7	44

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Grp Med)

				М	GMT -	4880		Survey Comparisons					
Labs and Online Learning Questions		R	espo	onses (%)			Co	ourse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	4.0	4	47	4.2	4.7	35
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	77	4.5	4.8	57

Course:	MGMT - 5210 010 - Human Resource Management Seminar	Department:	BUSI
Responsible Faculty:	Christopher DeClerk	Responses / Expected:	5 / 13 (38.46%)

					Ch	ristoph	er [DeClerk				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	poı	nses	(%)		Indi	vidual			В	JSI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	5 100%	5	5.0	5.0	5	33	4.5	4.6	88
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0	5.0	5	33	4.6	4.8	75
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	33	4.7	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0	5.0	5	32	4.7	4.8	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	5 100%	5	5.0	5.0	5	33	4.5	4.7	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0	5.0	5	33	4.5	4.7	88
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0	5.0	5	33	4.6	4.8	81
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	33	4.6	4.7	69
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0	5.0	5	33	4.6	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	33	4.4	4.6	94
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0	5.0	5	33	4.5	4.8	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0	5.0	5	32	4.6	4.8	81
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0	5.0	5	32	4.4	4.7	81
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0	5.0	5	33	4.5	4.7	88

						MGMT	- 52	10 - 010				Survey Co	omparisons	
Labs	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse				All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.2	4.7	80
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	77	4.5	4.8	80

Course: MGMT - 5240 010 - Project Management	Department:	BUSI
Responsible Faculty: Subhro Mitra	Responses / Expected:	2 / 16 (12.50%)

					Sul	bhro	Mit	tra				Survey Co	ompariso	ons
Cour	se Evaluation Questions		R	espons	es (%)			Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	33	4.5	4.6	6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	33	4.6	4.8	6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	33	4.7	4.8	6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0	4.0	4	32	4.7	4.8	6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	33	4.5	4.7	6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	33	4.5	4.7	6
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	33	4.6	4.8	6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0	4.0	4	33	4.6	4.7	6
Q9	My instructor encourages me to do my best work.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	33	4.6	4.8	6
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	33	4.4	4.6	6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	33	4.5	4.8	6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0	4.0	4	32	4.6	4.8	13
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	32	4.4	4.7	6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 100%	0	0	2	3.0	3.0	3	33	4.5	4.7	6

					MGMT	- 52	40 - 010		Survey Comparisons					
Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse				All		
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.2	4.7	80	
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	77	4.5	4.8	80	

Course:	MGMT - 5870 010 - Leadership Research and Development	Department:	BUSI
Responsible Faculty:	Chemene Crawford	Responses / Expected:	4 / 21 (19.05%)

					С	hemene	Cr	awford				Survey Co	mpariso	ns
Cou	rse Evaluation Questions		Res	poı	ıses	(%)		Indi	vidual			В	USI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0	5.0	5	33	4.5	4.6	88
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0	5.0	5	33	4.6	4.8	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	33	4.7	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0	5.0	5	32	4.7	4.8	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0	5.0	5	33	4.5	4.7	81
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	33	4.5	4.7	88
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	5.0	5	33	4.6	4.8	81
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0	5.0	5	33	4.6	4.7	88
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	5.0	5	33	4.6	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	33	4.4	4.6	81
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	5.0	5	33	4.5	4.8	81
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	32	4.6	4.8	81
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0	5.0	5	32	4.4	4.7	81
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	33	4.5	4.7	88

						MGMT	- 58	70 - 010				Survey C	omparisons	
Lab	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse				All	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1!	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.2	4.7	80
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	77	4.5	4.8	80

Course:	SOCI - 4540 030 - Race and Ethnic Minorities	Department:	SOCPSY
Responsible Faculty:	Adrian Tan	Responses / Expected:	4 / 26 (15.38%)

						Adrian	Ta	n				Survey C	ompariso	ns
Cou	se Evaluation Questions		Re	espon	ses (9	%)		Indi	vidual			so	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	4	4.5	4.5	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	3	5.0	5.0	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	4	4.5	4.8	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	5.0	5	4	5.0	5.0	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	5.0	5	4	5.0	5.0	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	5.0	5	4	5.0	5.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	4	4.8	4.8	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	4	5.0	5.0	50

					SOCI - 4	540	- 030				Survey Co	mparisons	5
Labs and Online Learning Questions		R	espo	nses (9	%)		Co	ourse			,	All	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.2	4.7	80
Q16 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	77	4.5	4.8	48

Course:	ACCT - 2020 001 - Accounting Principles II (Managerial Accounting)	Department:	BUSI
Responsible Faculty:	Patricia Wynn	Responses / Expected:	9 / 11 (81.82%)

					Patricia W	ynr	1				Survey Co	mpariso	ns
Cou	se Evaluation Questions			Respon	ises (%)		Indi	vidual			В	USI	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 7 22.2% 77.8%	9	4.8	4.9	5	74	4.5	4.8	54
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 7 22.2% 77.8%	9	4.8	4.9	5	74	4.6	4.9	38
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 6 33.3% 66.7%	9	4.7	4.8	5	74	4.6	4.8	33
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	1 7 11.1% 77.8%	9	4.7	4.9	5	74	4.6	4.8	46
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 6 33.3% 66.7%	9	4.7	4.8	5	74	4.5	4.8	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 8 11.1% 88.9%	9	4.9	4.9	5	74	4.5	4.8	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 7 22.2% 77.8%	9	4.8	4.9	5	74	4.6	4.8	38
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 7 22.2% 77.8%	9	4.8	4.9	5	74	4.7	4.9	38
Q9	My instructor encourages me to do my best work.	0	0	0	3 6 33.3% 66.7%	9	4.7	4.8	5	74	4.6	4.9	25
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 7 22.2% 77.8%	9	4.8	4.9	5	74	4.7	4.9	38
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 7 22.2% 77.8%	9	4.8	4.9	5	74	4.6	4.9	38
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	1 7 11.1% 77.8%	9	4.7	4.9	5	74	4.6	4.8	38
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 5 44.4% 55.6%	9	4.6	4.6	5	74	4.5	4.8	13
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	1 7 11.1% 77.8%	9	4.7	4.9	5	74	4.5	4.8	46

						ACCT - 202	20 -	001				- Survey Coi	mparisons	
Lab	s and Online Learning Questions			Res	ponses (%)		C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	150	4.5	4.8	62
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	214	4.5	4.8	68

Course:	ACCT - 2020 002 - Accounting Principles II (Managerial Accounting)	Department:	BUSI
Responsible Faculty:	Patricia Wynn	Responses / Expected:	8 / 11 (72.73%)

						Patrici	a W	ynn				Survey Co	ompariso	ns
Cou	se Evaluation Questions	Re	spo	ns	es	(%)		Ind	ividual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 12.5%	0	0	0	7 87.5%	8	4.5	4.9	5	74	4.5	4.8	79
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	0	0	0	7 87.5%	8	4.5	4.9	5	74	4.6	4.9	63
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	0	0	7 87.5%	8	4.5	4.9	5	74	4.6	4.8	71
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	8 100%	8	5.0	5.0	5	74	4.6	4.8	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	8 100%	8	5.0	5.0	5	74	4.5	4.8	92
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	8 100%	8	5.0	5.0	5	74	4.5	4.8	92
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	8 100%	8	5.0	5.0	5	74	4.6	4.8	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	8 100%	8	5.0	5.0	5	74	4.7	4.9	79
Q9	My instructor encourages me to do my best work.	0	0	0	0	8 100%	8	5.0	5.0	5	74	4.6	4.9	83
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	8 100%	8	5.0	5.0	5	74	4.7	4.9	83
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	8 100%	8	5.0	5.0	5	74	4.6	4.9	88
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	8 100%	8	5.0	5.0	5	74	4.6	4.8	88
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	8 100%	8	5.0	5.0	5	74	4.5	4.8	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	8 100%	8	5.0	5.0	5	74	4.5	4.8	88

						ACCT - 20	020	- 002				- Survey Co	mparisons	
Lab	s and Online Learning Questions	F	lesp	ons	es (%	6)		Co	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 33.3%	0	0	0	2 66.7%	3	3.7	4.8	5	150	4.5	4.8	50
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	6 100%	6	5.0	5.0	5	214	4.5	4.8	86

Course:	AGER - 2250 040 - Images of Aging in Film and Literature	Department:	EDUCATION
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	2 / 11 (18.18%)

					Ifte	khar	Ami	in				Survey Co	ompariso	ns
Cou	se Evaluation Questions		Res	ponse	s (%)			Indi	ividual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	13	3.5	3.9	40
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 50%	1 50%	0	0	2	2.5	2.5	2.5	13	3.9	4.3	20
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	13	3.7	4.1	60
Q4	My instructor provides material that helps me do well on assignments.	1 50%	0	1 50%	0	0	2	2.0	2.0	2	13	3.4	3.3	20
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	13	3.8	4.0	40
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 50%	0	1 50%	0	0	2	2.0	2.0	2	13	2.8	2.8	30
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	13	4.5	4.4	50
Q8	My instructor is available to me on matters pertaining to the course.	1 50%	0	1 50%	0	0	2	2.0	2.0	2	13	3.5	3.9	10
Q9	My instructor encourages me to do my best work.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	13	4.1	4.3	50
Q10	My instructor provides timely feedback to guide my progress.	0	1 50%	1 50%	0	0	2	2.5	2.5	2.5	13	3.1	3.0	30
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	13	4.3	4.4	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	13	3.8	4.6	70
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	13	3.5	3.6	70
Q14	My instructor made the subject interesting and motivated me to learn.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	13	3.5	4.3	30

					AGE	R - 22	50 -	040				- Survey Co	nparisons	
Labs	s and Online Learning Questions		- 1	Response	es (%)			C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 100%	0	0	1	3.0	3.0	3	150	4.5	4.8	11
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	4.0	4	214	4.5	4.8	16

Course:	BIOL - 1132 031 - Environmental Science	Department:	LIFESCI
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	3 / 22 (13.64%)

				Ir	ene	Rodrig	uez	Virgen			Survey Comparisons						
Cou	se Evaluation Questions		Re	esponse	s (S	%)		Indi	ividual			LIF	ESCI				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50			
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50			
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.2	4.8	50			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.2	4.8	50			
Q7	My instructor establishes a climate of respect for students.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50			
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50			
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50			
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50			

						BIOL - 113		Survey Comparisons						
Labs and Online Learning Questions				Response	s (%	b)		C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	150	4.5	4.8	50
Q16	The course topics are organized in a coherent fashion.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	214	4.5	4.8	49

Course:	BIOL - 1132 331 - Environmental Science	Department:	LIFESCI
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	3 / 22 (13.64%)

			Iren	e Rodrigue	Survey Comparisons									
Cou	se Evaluation Questions		Res	ponses	(%)		Indi	vidual		LIFESCI				
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50	
Q4	My instructor provides material that helps me do well on assignments.	0	1 33.3%	0	0 2 66.7%	3	4.0	4.8	5	6	4.2	4.8	50	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 33.3%	0	0 2 66.7%	3	4.0	4.8	5	6	4.2	4.8	50	
Q7	My instructor establishes a climate of respect for students.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50	
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50	
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50	
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	6	4.3	4.8	50	

						BIOL - 113		Survey Comparisons						
Labs and Online Learning Questions				Response	s (%	.)		C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	150	4.5	4.8	50
Q16	The course topics are organized in a coherent fashion.	0	0	1 33.3%	0	2 66.7%	3	4.3	4.8	5	214	4.5	4.8	49

Course:	BLAW - 2300 001 - Legal and Ethical Environment of Business	Department:	BUSI
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	1 / 12 (8.33%)

							Survey Comparisons							
Cou	se Evaluation Questions	F	les	por	ises	(%)		Indi	ividual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.5	4.8	96
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.6	4.9	88
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.6	4.8	92
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.6	4.8	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.5	4.8	92
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.5	4.8	92
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.6	4.8	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.7	4.9	79
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.6	4.9	83
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.7	4.9	83
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.6	4.9	88
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.6	4.8	88
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.5	4.8	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	74	4.5	4.8	88

Course:	BLAW - 2300 002 - Legal and Ethical Environment of Business	Department:	BUSI
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	3 / 18 (16.67%)

					s	haron F	jord	lbak			Survey Comparisons					
Cou	se Evaluation Questions		R	esp	onses (%)		Individual				В	USI			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.5	4.8	38		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	74	4.6	4.9	88		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.6	4.8	33		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.6	4.8	33		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.5	4.8	50		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.5	4.8	33		
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.6	4.8	21		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.7	4.9	29		
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.6	4.9	25		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.7	4.9	25		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.6	4.9	25		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.6	4.8	25		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.5	4.8	33		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	74	4.5	4.8	17		

						BLAW	- 23	Survey Comparisons								
Labs and Online Learning Questions			Res	pon	ses	(%)		Co	ourse		All					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	150	4.5	4.8	82		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	214	4.5	4.8	86		

Course:	BUSI - 4940 010 - Business Policy	Department:	BUSI
Responsible Faculty:	Isaura Flores	Responses / Expected:	6 / 29 (20.69%)

						Isaura F	lor	es				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Re	esp	onses (S	%)		Indi	ividual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	74	4.5	4.8	71
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	6 100%	6	5.0	5.0	5	74	4.6	4.9	88
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	74	4.6	4.8	58
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	6 100%	6	5.0	5.0	5	74	4.6	4.8	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	74	4.5	4.8	71
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	74	4.5	4.8	63
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	74	4.6	4.8	54
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0	5.0	5	74	4.7	4.9	79
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	74	4.6	4.9	46
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	6 100%	6	5.0	5.0	5	74	4.7	4.9	83
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	74	4.6	4.9	54
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	74	4.6	4.8	58
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	74	4.5	4.8	63
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	74	4.5	4.8	63

						BUSI - 494	10 - 0	010				- Survey Co	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		Course				А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	214	4.5	4.8	49

Course:	CJUS - 3600 030 - Criminology	Department:	Criminal J
Responsible Faculty:	Michael Noyes	Responses / Expected:	6 / 23 (26.09%)

					Michael N	loy	es				Survey Co	mpariso	ns
Cou	se Evaluation Questions	F	Resp	onses	(%)			Cri	ninal				
		SD	D N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 16.7%	0 0	50°	33.3%	6	3.8	4.2	4	27	4.3	4.5	38
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 16.7%	0 0	50°	33.3%	6	3.8	4.2	4	27	4.4	4.7	13
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	0 0	33.3	3 % 50%	6	4.0	4.5	4.5	27	4.6	4.8	38
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	0 0	33.3	3 50%	6	4.0	4.5	4.5	27	4.5	4.7	38
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 16.7%	0 0	3 50°	33.3%	6	3.8	4.2	4	27	4.4	4.6	13
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0 0	3 50°	33.3%	6	3.8	4.2	4	27	4.5	4.7	13
Q7	My instructor establishes a climate of respect for students.	1 16.7%	0 0	3 50°	33.3%	6	3.8	4.2	4	27	4.5	4.7	13
Q8	My instructor is available to me on matters pertaining to the course.	1 16.7%	0 0	33.3	3 % 50%	6	4.0	4.5	4.5	27	4.4	4.6	38
Q9	My instructor encourages me to do my best work.	1 16.7%	0 0	3 50°	33.3%	6	3.8	4.2	4	26	4.3	4.6	13
Q10	My instructor provides timely feedback to guide my progress.	1 16.7%	0 0	3 50°	33.3%	6	3.8	4.2	4	27	4.4	4.5	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 16.7%	0 0	3 50°	33.3%	6	3.8	4.2	4	27	4.5	4.7	13
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 16.7%	0 0	3 50°	33.3%	6	3.8	4.2	4	27	4.4	4.7	13
Q13	My instructor encourages me to develop new viewpoints.	1 16.7%	0 0	3 50°	33.3%	6	3.8	4.2	4	27	4.3	4.5	13
Q14	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0 0	3 50°	33.3%	6	3.8	4.2	4	27	4.5	4.8	13

					CJL	JS - 360	0 - 0	30				Survey Con	nparisons				
Lab	s and Online Learning Questions	Responses (%)					Responses (%) Course								Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	1 25%	0	0	2 50%	1 25%	4	3.5	4.0	4	150	4.5	4.8	22			
Q16	The course topics are organized in a coherent fashion.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	4.5	4.5	214	4.5	4.8	33			

Course:	CJUS - 3610 030 - Juvenile Justice	Department:	Criminal J
Responsible Faculty:	Paul Reynolds	Responses / Expected:	6 / 30 (20%)

					Paul Reyr	olds	3				Survey Co	mpariso	ns
Cou	rse Evaluation Questions			Respor	nses (%)		Indi	vidual			Crir	ninal	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 4 33.3% 66.7%	6	4.7	4.8	5	27	4.3	4.5	63
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 4 33.3% 66.7%	6	4.7	4.8	5	27	4.4	4.7	63
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 5 16.7% 83.3%	6	4.8	4.9	5	27	4.6	4.8	63
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 4 33.3% 66.7%	6	4.7	4.8	5	27	4.5	4.7	63
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 3 50% 50%	6	4.5	4.5	4.5	27	4.4	4.6	63
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 4 33.3% 66.7%	6	4.7	4.8	5	27	4.5	4.7	63
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 3 50% 50%	6	4.5	4.5	4.5	27	4.5	4.7	38
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	1 4 16.7% 66.7%	6	4.5	4.8	5	27	4.4	4.6	63
Q9	My instructor encourages me to do my best work.	0	0	1 20%	0 4 80%	5	4.6	4.9	5	26	4.3	4.6	88
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	1 4 16.7% 66.7%	6	4.5	4.8	5	27	4.4	4.5	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 5 16.7% 83.3%	6	4.8	4.9	5	27	4.5	4.7	63
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 4 33.3% 66.7%	6	4.7	4.8	5	27	4.4	4.7	63
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 3 50% 50%	6	4.5	4.5	4.5	27	4.3	4.5	63
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 5 16.7% 83.3%	6	4.8	4.9	5	27	4.5	4.8	63

						CJUS - 361	10 -	030				- Survey Co	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		Course				А	П	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	150	4.5	4.8	36
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	214	4.5	4.8	49

Course:	CJUS - 4500 030 - Administration of Criminal Justice Agencies	Department:	Criminal J
Responsible Faculty:	Richard Holden	Responses / Expected:	9 / 30 (30%)

					Richard Ho	lde	n				Survey Co	mpariso	ons
Cou	se Evaluation Questions	Responses (%) Individual									Crir	ninal	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	2 22.2%	4 3 44.4% 33.3%	9	4.1	4.1	4	27	4.3	4.5	13
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	4 4 44.4% 44.4%	9	4.3	4.4	4	27	4.4	4.7	38
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 4 55.6% 44.4%	9	4.4	4.4	4	27	4.6	4.8	13
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 4 55.6% 44.4%	9	4.4	4.4	4	27	4.5	4.7	13
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	4 4 44.4% 44.4%	9	4.3	4.4	4	27	4.4	4.6	38
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 4 55.6% 44.4%	9	4.4	4.4	4	27	4.5	4.7	38
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 6 33.3% 66.7%	9	4.7	4.8	5	27	4.5	4.7	63
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	6 3 66.7% 33.3%	9	4.3	4.3	4	27	4.4	4.6	13
Q9	My instructor encourages me to do my best work.	0	0	1 11.1%	4 4 44.4% 44.4%	9	4.3	4.4	4	26	4.3	4.6	38
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	6 3 66.7% 33.3%	9	4.3	4.3	4	27	4.4	4.5	38
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 4 55.6% 44.4%	9	4.4	4.4	4	27	4.5	4.7	38
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	4 4 44.4% 44.4%	9	4.3	4.4	4	27	4.4	4.7	38
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	4 4 44.4% 44.4%	9	4.3	4.4	4	27	4.3	4.5	38
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	3 5 33.3% 55.6%	9	4.4	4.6	5	27	4.5	4.8	38

					CJUS -	4500	- 030				Survey Co	nparisons		
Labs	s and Online Learning Questions	Responses (%)					Co	ourse		All				
		SD	D N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0 0	3 50%	3 50%	6	4.5	4.5	4.5	150	4.5	4.8	36	
Q16	The course topics are organized in a coherent fashion.	0	0 0	4 50%	4 50%	8	4.5	4.5	4.5	214	4.5	4.8	33	

Course:	CJUS - 4901 030 - Senior Seminar: Criminal Justice and Public Policy	Department:	Criminal J
Responsible Faculty:	Richard Holden	Responses / Expected:	6 / 27 (22.22%)

					Richard H	olde	n				Survey Co	mpariso	ns
Cou	se Evaluation Questions			Respon	nses (%)		Indi	vidual			Crir	ninal	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 5 16.7% 83.3%	6	4.8	4.9	5	27	4.3	4.5	88
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0 6 100%	6	5.0	5.0	5	27	4.4	4.7	88
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 6 100%	6	5.0	5.0	5	27	4.6	4.8	88
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0 6 100%	6	5.0	5.0	5	27	4.5	4.7	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0 6 100%	6	5.0	5.0	5	27	4.4	4.6	88
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0 6 100%	6	5.0	5.0	5	27	4.5	4.7	88
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 6 100%	6	5.0	5.0	5	27	4.5	4.7	88
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 5 16.7% 83.3%	6	4.8	4.9	5	27	4.4	4.6	88
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	1 4 16.7% 66.7%	6	4.5	4.8	5	26	4.3	4.6	63
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 5 16.7% 83.3%	6	4.8	4.9	5	27	4.4	4.5	88
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0 6 100%	6	5.0	5.0	5	27	4.5	4.7	88
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0 6 100%	6	5.0	5.0	5	27	4.4	4.7	88
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	0 5 83.3%	6	4.7	4.9	5	27	4.3	4.5	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 6 100%	6	5.0	5.0	5	27	4.5	4.8	88

						CJUS -	490	1 - 030				- Survey Con	nparisons	
Lab	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	6 100%	6	5.0	5.0	5	214	4.5	4.8	86

Course:	COMM - 3120 030 - Nonverbal Communication	Department:	LangCom
Responsible Faculty:	Dr. Glenda Balas	Responses / Expected:	2 / 25 (8%)

					G	lend	la B	alas				- Survey C	ompariso	ns
Cou	se Evaluation Questions	Responses (%)						Indi	vidual			Lan	gCom	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q9	My instructor encourages me to do my best work.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 100%	0	2	4.0	4.0	4	2	4.0	4.0	50

				С	омм	- 312	0 - 030				Survey Co	nparisons	
Labs	s and Online Learning Questions		Resp	onses (%)			C	ourse			А	II	
		SD	D N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0 0	2 100%	0	2	4.0	4.0	4	150	4.5	4.8	22
Q16	The course topics are organized in a coherent fashion.	0	0 0	2 100%	0	2	4.0	4.0	4	214	4.5	4.8	16

Course:	COUN - 5490 001 - Crisis Intervention Counseling	Department:	EDUCATION
Responsible Faculty:	Deborah Cain	Responses / Expected:	4 / 15 (26.67%)

		Deborah Cain									Survey Co	ompariso	ns	
Cou	se Evaluation Questions	Responses (%) Individua										EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	13	3.5	3.9	70
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	0	3 75%	4	4.5	4.8	5	13	3.9	4.3	70
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	13	3.7	4.1	60
Q4	My instructor provides material that helps me do well on assignments.	0	1 25%	1 25%	1 25%	1 25%	4	3.5	3.5	3.5	13	3.4	3.3	60
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 25%	0	1 25%	2 50%	4	4.0	4.5	4.5	13	3.8	4.0	70
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 25%	1 25%	1 25%	1 25%	0	4	2.5	2.5	2.5	13	2.8	2.8	60
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	13	4.5	4.4	50
Q8	My instructor is available to me on matters pertaining to the course.	1 25%	0	0	2 50%	1 25%	4	3.5	4.0	4	13	3.5	3.9	60
Q9	My instructor encourages me to do my best work.	0	0	2 50%	0	2 50%	4	4.0	4.0	4	13	4.1	4.3	50
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	2 50%	1 25%	0	4	3.0	3.0	3	13	3.1	3.0	60
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	13	4.3	4.4	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	2 50%	0	0	2 50%	4	3.5	3.5	3.5	13	3.8	4.6	30
Q13	My instructor encourages me to develop new viewpoints.	0	1 25%	2 50%	1 25%	0	4	3.0	3.0	3	13	3.5	3.6	30
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0	0	1 25%	2 50%	4	3.8	4.5	4.5	13	3.5	4.3	70

					COUN	- 5490 - (001					Survey Co	mparisons	;
Labs	s and Online Learning Questions		Resp	onse	es (%)			C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 33.3%	0	0	0	2 66.7%	3	3.7	4.8	5	150	4.5	4.8	50
Q16	The course topics are organized in a coherent fashion.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	4.0	4	214	4.5	4.8	16

Course:	COUN - 5490 002 - Crisis Intervention Counseling	Department:	EDUCATION
Responsible Faculty:	Shelley Jackson	Responses / Expected:	3 / 13 (23.08%)

					s	helley J	ack	cson				Survey Co	mpariso	ns
Cou	se Evaluation Questions	Responses (%)						Indi	ividual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	13	3.5	3.9	90
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	13	3.9	4.3	90
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	13	3.7	4.1	90
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	13	3.4	3.3	90
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	13	3.8	4.0	90
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	13	2.8	2.8	90
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	13	4.5	4.4	90
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	13	3.5	3.9	90
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	13	4.1	4.3	90
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	13	3.1	3.0	90
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	13	4.3	4.4	90
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	13	3.8	4.6	90
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	13	3.5	3.6	90
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	13	3.5	4.3	90

					cc	DUN - 549	0 - 0	02				Survey Cor	nparisons	
Labs	s and Online Learning Questions			Resp	onses (%)			C	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	150	4.5	4.8	22
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	214	4.5	4.8	25

Course:	ECON - 1110 001 - Principles of Macroeconomics	Department:	BUSI
Responsible Faculty:	Michael Lansing	Responses / Expected:	2 / 4 (50%)

					N	Michae	l La	nsing				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	spo	nses (%)		Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	74	4.5	4.8	17
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	74	4.6	4.9	13
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	74	4.6	4.8	13
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	74	4.6	4.8	13
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	74	4.5	4.8	13
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	74	4.5	4.8	13
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	74	4.6	4.8	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	74	4.7	4.9	79
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	74	4.6	4.9	83
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	74	4.7	4.9	83
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	74	4.6	4.9	88
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	74	4.6	4.8	88
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	74	4.5	4.8	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	74	4.5	4.8	88

			E	CON -	1110	0 - 001				Survey Cor	nparisons	
Labs and Online Learning Questions		Responses (%) Course								А	II	
	SD	D N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0 0	0	0	0	0.0	0.0	0	150	4.5	4.8	-
Q16 The course topics are organized in a coherent fashion.	0	0 0	2 100%	0	2	4.0	4.0	4	214	4.5	4.8	16

Course:	EDBE - 3480 001 - Bilingualism and Multiculturism for English Language Learnin	Department:	SEHSTE
Responsible Faculty:	Patricia Sosa-Sanchez	Responses / Expected:	12 / 22 (54.55%)

					Patricia	Sosa-S	Sanc	hez				Survey Co	mpariso	ns
Cour	se Evaluation Questions		ı	Respon	ses (%)			Indi	vidual			SEI	ISTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	65	4.3	4.7	56
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	64	4.3	4.6	83
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	64	4.4	4.7	56
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	65	4.4	4.7	83
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 8.3%	0	0	4 33.3%	7 58.3%	12	4.3	4.6	5	63	4.3	4.6	61
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	65	4.3	4.7	67
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	64	4.5	4.8	72
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	65	4.4	4.7	56
Q9	My instructor encourages me to do my best work.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	65	4.4	4.7	72
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 16.7%	5 41.7%	5 41.7%	12	4.3	4.3	4	65	4.1	4.5	50
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	65	4.5	4.7	72
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 8.3%	3 25%	8 66.7%	12	4.6	4.8	5	64	4.4	4.6	61
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	4.8	5	65	4.4	4.7	72
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	65	4.5	4.7	72

						EDBE - 348	30 -	001				- Survey Coi	mparisons	
Lab	s and Online Learning Questions	Responses (%) Course								А	JI .			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	150	4.5	4.8	44
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	214	4.5	4.8	49

Course:	EDCI - 5012 002 - Classroom Research Project	Department:	SEHSTE
Responsible Faculty:	James Drewery	Responses / Expected:	10 / 16 (62.50%)

					Jam	es Drew	ery					Survey Co	ompariso	ons
Cou	se Evaluation Questions		F	Respons	ses (%)			Indi	vidual			SEI	HSTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 10%	2 20%	7 70%	10	4.6	4.8	5	65	4.3	4.7	72
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	64	4.3	4.6	61
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	4.6	5	64	4.4	4.7	39
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 10%	2 20%	7 70%	10	4.6	4.8	5	65	4.4	4.7	72
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 50%	5 50%	10	4.5	4.5	4.5	63	4.3	4.6	33
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 30%	7 70%	10	4.7	4.8	5	65	4.3	4.7	50
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 30%	7 70%	10	4.7	4.8	5	64	4.5	4.8	61
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	65	4.4	4.7	94
Q9	My instructor encourages me to do my best work.	0	0	1 10%	4 40%	5 50%	10	4.4	4.5	4.5	65	4.4	4.7	44
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 20%	8 80%	10	4.8	4.9	5	65	4.1	4.5	83
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 40%	6 60%	10	4.6	4.7	5	65	4.5	4.7	39
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 40%	6 60%	10	4.6	4.7	5	64	4.4	4.6	50
Q13	My instructor encourages me to develop new viewpoints.	0	1 10%	1 10%	3 30%	5 50%	10	4.2	4.5	4.5	65	4.4	4.7	28
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 50%	5 50%	10	4.5	4.5	4.5	65	4.5	4.7	33

						EDCI - 501	2 - (002				- Survey Co	mparisons	
Labs	s and Online Learning Questions	Responses (%) Course							А	II				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	5 100%	5	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 37.5%	5 62.5%	8	4.6	4.7	5	214	4.5	4.8	42

Course:	EDCI - 5014 021 - Instructional and Behavioral Management in Classrooms	Department:	SEHSTE
Responsible Faculty:	Jerry Burkett	Responses / Expected:	9 / 11 (81.82%)

					Jerry Bu	ket	t .				Survey Co	mpariso	ns
Cou	se Evaluation Questions			Respon	ises (%)		Indi	ividual			SEH	ISTE	
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 8 11.1% 88.9%	9	4.9	4.9	5	65	4.3	4.7	83
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 8 11.1% 88.9%	9	4.9	4.9	5	64	4.3	4.6	94
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 8 11.1% 88.9%	9	4.9	4.9	5	64	4.4	4.7	83
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 8 11.1% 88.9%	9	4.9	4.9	5	65	4.4	4.7	94
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 8 11.1% 88.9%	9	4.9	4.9	5	63	4.3	4.6	83
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 8 11.1% 88.9%	9	4.9	4.9	5	65	4.3	4.7	83
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 8 11.1% 88.9%	9	4.9	4.9	5	64	4.5	4.8	83
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 11.1%	1 7 11.1% 77.8%	9	4.7	4.9	5	65	4.4	4.7	83
Q9	My instructor encourages me to do my best work.	0	0	1 11.1%	0 8 88.9%	9	4.8	4.9	5	65	4.4	4.7	94
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 11.1%	2 6 22.2% 66.7%	9	4.6	4.8	5	65	4.1	4.5	72
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 8 11.1% 88.9%	9	4.9	4.9	5	65	4.5	4.7	83
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 8 11.1% 88.9%	9	4.9	4.9	5	64	4.4	4.6	83
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 8 11.1% 88.9%	9	4.9	4.9	5	65	4.4	4.7	83
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0 9 100%	9	5.0	5.0	5	65	4.5	4.7	89

						EDCI - 501	4 - (021				- Survey Cor	nparisons	
L	abs and Online Learning Questions			Res	oonses (%))		Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q	15 The section or lab is well integrated into the course structure.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	150	4.5	4.8	64
Q	16 The course topics are organized in a coherent fashion.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	214	4.5	4.8	72

Course:	EDCI - 5015 001 - Action Research for Multicultural and Multilingual Education	Department:	SEHSTE
Responsible Faculty:	Patricia Sosa-Sanchez	Responses / Expected:	13 / 16 (81.25%)

				Pat	tricia So	osa-San	che	z			Survey Comparisons					
Cour	se Evaluation Questions		Res	ponses	(%)			Indi	vidual		SEHSTE					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	1 7.7%	0	2 15.4%	3 23.1%	7 53.8%	13	4.2	4.6	5	65	4.3	4.7	39		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 7.7%	0	2 15.4%	4 30.8%	6 46.2%	13	4.1	4.4	4	64	4.3	4.6	50		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 7.7%	0	2 15.4%	4 30.8%	6 46.2%	13	4.1	4.4	4	64	4.4	4.7	28		
Q4	My instructor provides material that helps me do well on assignments.	1 7.7%	0	2 15.4%	3 23.1%	7 53.8%	13	4.2	4.6	5	65	4.4	4.7	50		
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 9.1%	0	1 9.1%	3 27.3%	6 54.5%	11	4.2	4.6	5	63	4.3	4.6	50		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.7%	0	3 23.1%	4 30.8%	5 38.5%	13	3.9	4.1	4	65	4.3	4.7	28		
Q7	My instructor establishes a climate of respect for students.	1 7.7%	0	2 15.4%	1 7.7%	9 69.2%	13	4.3	4.8	5	64	4.5	4.8	50		
Q8	My instructor is available to me on matters pertaining to the course.	2 15.4%	0	0	2 15.4%	9 69.2%	13	4.2	4.8	5	65	4.4	4.7	72		
Q9	My instructor encourages me to do my best work.	1 7.7%	1 7.7%	0	3 23.1%	8 61.5%	13	4.2	4.7	5	65	4.4	4.7	61		
Q10	My instructor provides timely feedback to guide my progress.	3 23.1%	2 15.4%	1 7.7%	2 15.4%	5 38.5%	13	3.3	3.8	4	65	4.1	4.5	22		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 7.7%	0	1 7.7%	2 15.4%	9 69.2%	13	4.4	4.8	5	65	4.5	4.7	61		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 8.3%	0	0	6 50%	5 41.7%	12	4.2	4.3	4	64	4.4	4.6	28		
Q13	My instructor encourages me to develop new viewpoints.	1 7.7%	0	0	4 30.8%	8 61.5%	13	4.4	4.7	5	65	4.4	4.7	50		
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.7%	0	1 7.7%	3 23.1%	8 61.5%	13	4.3	4.7	5	65	4.5	4.7	50		

				EDC		Survey Comparisons								
Labs and Online Learning Questions		Resp	oons	es (%)			Co	urse		All				
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0	4.3	4	150	4.5	4.8	30	
Q16 The course topics are organized in a coherent fashion.	1 9.1%	1 9.1%	0	4 36.4%	5 45.5%	11	4.0	4.4	4	214	4.5	4.8	26	

Course:	EDCI - 5017 021 - Human Development for Educators	Department:	SEHSTE
Responsible Faculty:	Alisha Brown	Responses / Expected:	8 / 13 (61.54%)

Course Fugliation Questions					Alisha Br	own					Survey Comparisons					
Cou	se Evaluation Questions		Res	ponses	(%)			Indiv	vidual		SEHSTE					
		SD	D	N	A 5	SA I	N M	lean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	2 25%	0	2 25%	3 37.5% 12	1 .5%	3 3	3.1	3.5	3.5	65	4.3	4.7	17		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	0	0	6 75% 12	1 .5%	3	3.8	4.0	4	64	4.3	4.6	28		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	0		3	3 4	4.0	4.3	4	64	4.4	4.7	17		
Q4	My instructor provides material that helps me do well on assignments.	1 12.5%	1 12.5%	0		2 5%	3	3.6	4.0	4	65	4.4	4.7	22		
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	0	2 25%		1 .5%	3	3.5	3.8	4	63	4.3	4.6	17		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 25%	1 12.5%	0		2 5%	3	3.3	3.8	4	65	4.3	4.7	17		
Q7	My instructor establishes a climate of respect for students.	1 12.5%	0	1 12.5%	3 37.5% 37	3	3	3.9	4.2	4	64	4.5	4.8	17		
Q8	My instructor is available to me on matters pertaining to the course.	1 12.5%	1 12.5%	1 12.5%	4 50% 12	1 .5%	3	3.4	3.8	4	65	4.4	4.7	17		
Q9	My instructor encourages me to do my best work.	1 12.5%	1 12.5%	0	4 50% 2	2 5%	3	3.6	4.0	4	65	4.4	4.7	22		
Q10	My instructor provides timely feedback to guide my progress.	1 12.5%	1 12.5%	1 12.5%	4 50% 12	1 .5%	3	3.4	3.8	4	65	4.1	4.5	22		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	0	1 12.5%	3 37.5% 37	3	3	3.9	4.2	4	65	4.5	4.7	17		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 12.5%	0	1 12.5%		2 5%	3	3.8	4.0	4	64	4.4	4.6	17		
Q13	My instructor encourages me to develop new viewpoints.	1 12.5%	0	0		4 0%	3 4	4.1	4.5	4.5	65	4.4	4.7	28		
Q14	My instructor made the subject interesting and motivated me to learn.	1 12.5%	0	0		2 5%	3 3	3.9	4.1	4	65	4.5	4.7	17		

					EDCI		Survey Comparisons									
Lab	Labs and Online Learning Questions			Response	es (%)			C	ourse		All					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	1 14.3%	0	2 28.6%	3 42.9%	1 14.3%	7	3.4	3.7	4	150	4.5	4.8	15		
Q16	The course topics are organized in a coherent fashion.	1 12.5%	0	2 25%	3 37.5%	2 25%	8	3.6	3.8	4	214	4.5	4.8	7		

Course:	EDRE - 4840 001 - Linguistically Diverse Learners	Department:	SEHSTE
Responsible Faculty:	Carol Jackson	Responses / Expected:	6 / 17 (35.29%)

Course Furthering Quartiers						Carol Ja	icks	on			Survey Comparisons						
Cou	Course Evaluation Questions		R	esp	onses (%)		Indi	ividual			SE	ISTE				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	65	4.3	4.7	56			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	64	4.3	4.6	72			
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	64	4.4	4.7	56			
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	65	4.4	4.7	61			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	63	4.3	4.6	72			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	65	4.3	4.7	39			
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	64	4.5	4.8	39			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	65	4.4	4.7	56			
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	65	4.4	4.7	83			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	65	4.1	4.5	94			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	65	4.5	4.7	50			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	64	4.4	4.6	72			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	65	4.4	4.7	61			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	65	4.5	4.7	61			

						EDRE -	484	Survey Comparisons								
Labs	Labs and Online Learning Questions		Responses (%)					Co	ourse		All					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	150	4.5	4.8	82		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	214	4.5	4.8	86		

Course:	EDRE - 4850 020 - Assessment and Evaluation of Reading	Department:	SEHSTE
Responsible Faculty:	Cynthia Rodriguez	Responses / Expected:	4 / 33 (12.12%)

					Cyntl	hia Ro	drig	guez				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Res	ponse	es (%)			Indi	vidual			SEI	HSTE	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	65	4.3	4.7	28
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 25%	1 25%	0	2 50%	4	3.8	4.0	4	64	4.3	4.6	28
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	64	4.4	4.7	72
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	65	4.4	4.7	39
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	63	4.3	4.6	33
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	65	4.3	4.7	67
Q 7	My instructor establishes a climate of respect for students.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	64	4.5	4.8	28
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	65	4.4	4.7	39
Q9	My instructor encourages me to do my best work.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	65	4.4	4.7	44
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	65	4.1	4.5	61
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	65	4.5	4.7	28
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	64	4.4	4.6	39
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	65	4.4	4.7	28
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	65	4.5	4.7	33

						EDRE - 485	50 -	020				- Survey Co	mparisons	
Lab	s and Online Learning Questions			Res	ponses (%)		C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	4.3	4	150	4.5	4.8	28
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	4.5	4.5	214	4.5	4.8	33

Course:	EDRE - 5070 020 - Literacy Development for English Language Learners	Department:	SEHSTE
Responsible Faculty:	Cynthia Rodriguez	Responses / Expected:	1 / 3 (33.33%)

				C	ynthia R	odr	iguez				Survey Co	mpariso	ns
Cou	se Evaluation Questions	ı	Res	onses (%)		Ind	ividual			SEH	ISTE	
		SD I	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 (0	0	1 100%	1	5.0	5.0	5	65	4.3	4.7	94
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 (0 0	1 100%	0	1	4.0	4.0	4	64	4.3	4.6	28
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 (0 0	0	1 100%	1	5.0	5.0	5	64	4.4	4.7	94
Q4	My instructor provides material that helps me do well on assignments.	0 (0 0	1 100%	0	1	4.0	4.0	4	65	4.4	4.7	22
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 (0 0	0	1 100%	1	5.0	5.0	5	63	4.3	4.6	94
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 (0 0	0	1 100%	1	5.0	5.0	5	65	4.3	4.7	94
Q7	My instructor establishes a climate of respect for students.	0 (0	0	1 100%	1	5.0	5.0	5	64	4.5	4.8	94
Q8	My instructor is available to me on matters pertaining to the course.	0 (0	1 100%	0	1	4.0	4.0	4	65	4.4	4.7	28
Q9	My instructor encourages me to do my best work.	0 (0	1 100%	0	1	4.0	4.0	4	65	4.4	4.7	22
Q10	My instructor provides timely feedback to guide my progress.	0 (0	1 100%	0	1	4.0	4.0	4	65	4.1	4.5	39
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 (0	0	1 100%	1	5.0	5.0	5	65	4.5	4.7	94
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 (0	0	1 100%	1	5.0	5.0	5	64	4.4	4.6	94
Q13	My instructor encourages me to develop new viewpoints.	0 (0	0	1 100%	1	5.0	5.0	5	65	4.4	4.7	94
Q14	My instructor made the subject interesting and motivated me to learn.	0 (0	0	1 100%	1	5.0	5.0	5	65	4.5	4.7	89

					EDRE - 50	70 -	020				- Survey Co	mparisons	
Labs and Online Learning Questions		F	Resp	onses (%)		Co	ourse			Α	II	
	SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	150	4.5	4.8	22
Q16 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	214	4.5	4.8	86

Course:	GEOG - 1710 030 - Earth Science	Department:	LiberalArt
Responsible Faculty:	Donna Hamilton	Responses / Expected:	1 / 9 (11.11%)

						Donna	На	milton				- Survey C	ompariso	ns
Cou	se Evaluation Questions	R	Resi	por	ses	s (%)		Indi	vidual			Libe	eralArt	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.0	4.0	83
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.3	4.5	83
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.8	4.8	67
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.3	4.2	83
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.0	4.0	83
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.3	4.5	83
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.8	4.8	67
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.0	4.0	83
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.8	4.8	67
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.8	4.8	67
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	4	5.0	5.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.3	4.5	83
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.3	4.5	67
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	4	4.3	4.5	67

						GEOG -	- 171	10 - 030				- Survey Cor	nparisons	
Labs	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	214	4.5	4.8	86

Course:	GEOG - 1710 330 - Earth Science	Department:	LiberalArt
Responsible Faculty:	Donna Hamilton	Responses / Expected:	1 / 9 (11.11%)

					D	onna H	am	ilton				- Survey C	ompariso	ns
Cou	se Evaluation Questions		Res	por	nses (9	%)		Indi	ividual			Libe	eralArt	
		SD I	N	1	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 (0		1 100%	0	1	4.0	4.0	4	4	4.0	4.0	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 (0		1 100%	0	1	4.0	4.0	4	4	4.3	4.5	33
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 (0		1 100%	0	1	4.0	4.0	4	4	4.8	4.8	17
Q4	My instructor provides material that helps me do well on assignments.	0 (0		1 100%	0	1	4.0	4.0	4	4	4.3	4.2	33
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 (0		1 100%	0	1	4.0	4.0	4	4	4.0	4.0	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 (0		1 100%	0	1	4.0	4.0	4	4	4.3	4.5	33
Q7	My instructor establishes a climate of respect for students.	0 (0		1 100%	0	1	4.0	4.0	4	4	4.8	4.8	17
Q8	My instructor is available to me on matters pertaining to the course.	0 (0) .	1 100%	0	1	4.0	4.0	4	4	4.0	4.0	50
Q9	My instructor encourages me to do my best work.	0 (0		1 100%	0	1	4.0	4.0	4	4	4.8	4.8	17
Q10	My instructor provides timely feedback to guide my progress.	0 (0		1 100%	0	1	4.0	4.0	4	4	4.8	4.8	17
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 (0)	0	1 100%	1	5.0	5.0	5	4	5.0	5.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 (0		1 100%	0	1	4.0	4.0	4	4	4.3	4.5	33
Q13	My instructor encourages me to develop new viewpoints.	0 (0)	0	1 100%	1	5.0	5.0	5	4	4.3	4.5	67
Q14	My instructor made the subject interesting and motivated me to learn.	0 (0)	0	1 100%	1	5.0	5.0	5	4	4.3	4.5	67

						GEOG -	- 171	10 - 330				- Survey Con	nparisons	
Labs	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	214	4.5	4.8	86

Course:	HMGT - 4120 010 - Special Events and Meeting Planning	Department:	BUSI
Responsible Faculty:	Michael Lansing	Responses / Expected:	5 / 24 (20.83%)

					N	/lichae	el La	nsing				Survey Co	ompariso	ns
Cou	se Evaluation Questions	F	Res	pon	ses (%)		Indi	ividual			В	USI	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	74	4.5	4.8	63
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	74	4.6	4.9	46
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	74	4.6	4.8	46
Q4	My instructor provides material that helps me do well on assignments.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	74	4.6	4.8	54
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	74	4.5	4.8	21
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	74	4.5	4.8	54
Q7	My instructor establishes a climate of respect for students.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	74	4.6	4.8	46
Q8	My instructor is available to me on matters pertaining to the course.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	74	4.7	4.9	13
Q9	My instructor encourages me to do my best work.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	74	4.6	4.9	38
Q10	My instructor provides timely feedback to guide my progress.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	74	4.7	4.9	46
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	74	4.6	4.9	46
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	74	4.6	4.8	46
Q13	My instructor encourages me to develop new viewpoints.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	74	4.5	4.8	54
Q14	My instructor made the subject interesting and motivated me to learn.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	74	4.5	4.8	54

						HMGT -	412	0 - 010				- Survey Cor	nparisons	
Labs	s and Online Learning Questions		Res	pons	ses (%)		Co	ourse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	1 25%	0	0	0	3 75%	4	4.0	4.8	5	214	4.5	4.8	58

Course:	HSML - 4500 040 - Diversity and Social Justice in Human Services	Department:	EDUCATION
Responsible Faculty:	Keilah Jacques	Responses / Expected:	2 / 15 (13.33%)

					Keilah	Jac	que	:s				Survey Co	ompariso	ns
Cou	se Evaluation Questions		Resp	onses	(%)			Indi	vidual			EDUC	ATION	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 50%	1 50%	0	0	0	2	1.5	1.5	1.5	13	3.5	3.9	10
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 50%	1 50%	0	0	2	2.5	2.5	2.5	13	3.9	4.3	20
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 50%	1 50%	0	0	0	2	1.5	1.5	1.5	13	3.7	4.1	10
Q4	My instructor provides material that helps me do well on assignments.	0	2 100%	0	0	0	2	2.0	2.0	2	13	3.4	3.3	20
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 50%	0	1 50%	0	0	2	2.0	2.0	2	13	3.8	4.0	10
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 50%	1 50%	0	0	0	2	1.5	1.5	1.5	13	2.8	2.8	10
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 100%	0	2	4.0	4.0	4	13	4.5	4.4	10
Q8	My instructor is available to me on matters pertaining to the course.	0	1 50%	1 50%	0	0	2	2.5	2.5	2.5	13	3.5	3.9	30
Q9	My instructor encourages me to do my best work.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	13	4.1	4.3	10
Q10	My instructor provides timely feedback to guide my progress.	1 50%	1 50%	0	0	0	2	1.5	1.5	1.5	13	3.1	3.0	10
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	13	4.3	4.4	10
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	2 100%	0	0	0	2	2.0	2.0	2	13	3.8	4.6	10
Q13	My instructor encourages me to develop new viewpoints.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	13	3.5	3.6	30
Q14	My instructor made the subject interesting and motivated me to learn.	1 50%	1 50%	0	0	0	2	1.5	1.5	1.5	13	3.5	4.3	10

					HS	ML -	4500	- 040				- Survey Cor	nparisons	
Lab	s and Online Learning Questions	F	Resp	onses ((%)			C	ourse			Α	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 50%	0	1 50%	0	0	2	2.0	2.0	2	150	4.5	4.8	9
Q16	The course topics are organized in a coherent fashion.	2 100%	0	0	0	0	2	1.0	1.0	1	214	4.5	4.8	3

Course:	LING - 2050 021 - The Language of Now : Pop Culture, Technology, and Society	Department:	SEHSTE
Responsible Faculty:	Marco Shappeck	Responses / Expected:	2 / 14 (14.29%)

					ı	/larco	Sha	ppeck				Survey Co	ompariso	ns
Cou	se Evaluation Questions	F	les	pon	ses (%)		Indi	ividual			SEI	HSTE	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	65	4.3	4.7	6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	64	4.3	4.6	6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	64	4.4	4.7	6
Q4	My instructor provides material that helps me do well on assignments.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	65	4.4	4.7	6
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	63	4.3	4.6	6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	65	4.3	4.7	6
Q7	My instructor establishes a climate of respect for students.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	64	4.5	4.8	6
Q8	My instructor is available to me on matters pertaining to the course.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	65	4.4	4.7	6
Q9	My instructor encourages me to do my best work.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	65	4.4	4.7	6
Q10	My instructor provides timely feedback to guide my progress.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	65	4.1	4.5	6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	65	4.5	4.7	6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	64	4.4	4.6	6
Q13	My instructor encourages me to develop new viewpoints.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	65	4.4	4.7	6
Q14	My instructor made the subject interesting and motivated me to learn.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	65	4.5	4.7	6

					LIN	NG - 2	050	- 021				- Survey Cor	nparisons	
Lab	s and Online Learning Questions		Res	pon	ses (%)			Co	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	4.0	4	150	4.5	4.8	22
Q16	The course topics are organized in a coherent fashion.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	214	4.5	4.8	5

Course:	MATH - 1100 031 - Algebra	Department:	MATHIS
Responsible Faculty:	Vinod Arya	Responses / Expected:	4 / 10 (40%)

					Vinod	Ary	ya				Survey Co	ompariso	ns
Cou	se Evaluation Questions	R	espon	ses (9	5)		Indi	ividual			MA	THIS	
		SD D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 0	0	2 50%	2 50%	4	4.5	4.5	4.5	10	4.6	4.8	25
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 0	0	2 50%	2 50%	4	4.5	4.5	4.5	10	4.6	4.8	25
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 0	0	2 50%	2 50%	4	4.5	4.5	4.5	10	4.6	4.8	25
Q4	My instructor provides material that helps me do well on assignments.	0 0	0	2 50%	2 50%	4	4.5	4.5	4.5	10	4.5	4.8	25
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	10	4.3	4.7	25
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 0	0	2 50%	2 50%	4	4.5	4.5	4.5	10	4.5	4.7	25
Q7	My instructor establishes a climate of respect for students.	0 0	0	2 50%	2 50%	4	4.5	4.5	4.5	10	4.6	4.7	25
Q8	My instructor is available to me on matters pertaining to the course.	0 0	0	2 50%	2 50%	4	4.5	4.5	4.5	10	4.7	4.8	25
Q9	My instructor encourages me to do my best work.	0 0	0	2 50%	2 50%	4	4.5	4.5	4.5	10	4.7	4.8	25
Q10	My instructor provides timely feedback to guide my progress.	0 0	0	2 50%	2 50%	4	4.5	4.5	4.5	10	4.6	4.7	25
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 0	0	2 50%	2 50%	4	4.5	4.5	4.5	10	4.6	4.7	25
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	10	4.6	4.8	25
Q13	My instructor encourages me to develop new viewpoints.	0 0	1 25%	1 25%	2 50%	4	4.3	4.5	4.5	10	4.3	4.7	25
Q14	My instructor made the subject interesting and motivated me to learn.	0 0	0	2 50%	2 50%	4	4.5	4.5	4.5	10	4.5	4.8	25

					M	IATH - 1	1100	- 031				- Survey Co	nparisons	
Lab	s and Online Learning Questions		R	espo	nses (%)			C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	150	4.5	4.8	36
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	4.0	4	214	4.5	4.8	16

Course:	MATH - 1680 031 - Elementary Probability and Statistics	Department:	MATHIS
Responsible Faculty:	Mary Hoyt	Responses / Expected:	6 / 16 (37.50%)

					Ма	ry Hoyt						Survey Co	mpariso	ons
Cou	se Evaluation Questions		R	esponse	es (%)			Indi	vidual			MA	THIS	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	10	4.6	4.8	75
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	10	4.6	4.8	75
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	10	4.6	4.8	75
Q4	My instructor provides material that helps me do well on assignments.	0	1 16.7%	0	0	5 83.3%	6	4.5	4.9	5	10	4.5	4.8	75
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3	4.8	5	10	4.3	4.7	75
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	10	4.5	4.7	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	10	4.6	4.7	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	10	4.7	4.8	75
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	10	4.7	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	10	4.6	4.7	75
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	10	4.6	4.7	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	10	4.6	4.8	75
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 33.3%	0	4 66.7%	6	4.3	4.8	5	10	4.3	4.7	75
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 16.7%	0	0	5 83.3%	6	4.5	4.9	5	10	4.5	4.8	75

					ľ	ИАТН - 16	80 -	031				- Survey Co	mparisons	
Labs	and Online Learning Questions			Response	s (%)		C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	0	0	1 16.7%	0	5 83.3%	6	4.7	4.9	5	214	4.5	4.8	63

Course:	MGMT - 3720 010 - Organizational Behavior	Department:	BUSI
Responsible Faculty:	William Ingram	Responses / Expected:	9 / 34 (26.47%)

					١	William I	Ingi	am				Survey Co	mpariso	ns
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	ividual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.5	4.8	88
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.6	4.9	71
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.6	4.8	79
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.6	4.8	71
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.5	4.8	79
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.5	4.8	75
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.6	4.8	63
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.7	4.9	46
Q9	My instructor encourages me to do my best work.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.6	4.9	54
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.7	4.9	54
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.6	4.9	63
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.6	4.8	71
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.5	4.8	71
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	74	4.5	4.8	71

					N	IGMT - 37	20 -	010				- Survey Co	mparisons	
Lab	s and Online Learning Questions			Res	ponses (%)		C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 16.7%	5 83.3%	6	4.8	4.9	5	150	4.5	4.8	60
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 12.5%	7 87.5%	8	4.9	4.9	5	214	4.5	4.8	68

Course:	MGMT - 3720 011 - Organizational Behavior	Department:	BUSI
Responsible Faculty:	William Ingram	Responses / Expected:	8 / 35 (22.86%)

					Willi	am Ingr	am					Survey Co	mpariso	ons
Cou	se Evaluation Questions		F	espons	es (%)			Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 12.5%	0	1 12.5%	2 25%	4 50%	8	4.0	4.5	4.5	74	4.5	4.8	17
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	74	4.6	4.9	21
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	74	4.6	4.8	21
Q4	My instructor provides material that helps me do well on assignments.	1 12.5%	0	2 25%	0	5 62.5%	8	4.0	4.7	5	74	4.6	4.8	21
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	74	4.5	4.8	29
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	74	4.5	4.8	21
Q7	My instructor establishes a climate of respect for students.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	74	4.6	4.8	13
Q8	My instructor is available to me on matters pertaining to the course.	1 12.5%	0	2 25%	0	5 62.5%	8	4.0	4.7	5	74	4.7	4.9	21
Q9	My instructor encourages me to do my best work.	1 12.5%	0	2 25%	0	5 62.5%	8	4.0	4.7	5	74	4.6	4.9	13
Q10	My instructor provides timely feedback to guide my progress.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	74	4.7	4.9	13
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	74	4.6	4.9	13
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	74	4.6	4.8	13
Q13	My instructor encourages me to develop new viewpoints.	1 12.5%	0	1 12.5%	1 12.5%	5 62.5%	8	4.1	4.7	5	74	4.5	4.8	21
Q14	My instructor made the subject interesting and motivated me to learn.	1 12.5%	0	1 12.5%	0	6 75%	8	4.3	4.8	5	74	4.5	4.8	33

					MGM	Г - 3720 -	011					Survey Co	mparisons	;
Lab	s and Online Learning Questions			Response	es (%)			C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0	4.6	5	150	4.5	4.8	42
Q16	The course topics are organized in a coherent fashion.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0	4.6	5	214	4.5	4.8	40

Course:	MGMT - 3850 010 - Foundations of Entrepreneurship	Department:	BUSI
Responsible Faculty:	Isaura Flores	Responses / Expected:	12 / 35 (34.29%)

						Isaura	Flore	es				Survey Co	ompariso	ns
Cou	se Evaluation Questions		R	esp	onses (%)		Indi	vidual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	74	4.5	4.8	38
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	74	4.6	4.9	54
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	74	4.6	4.8	58
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	74	4.6	4.8	63
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 33.3%	8 66.7%	12	4.7	4.8	5	74	4.5	4.8	50
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	74	4.5	4.8	46
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	74	4.6	4.8	29
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	74	4.7	4.9	54
Q9	My instructor encourages me to do my best work.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	74	4.6	4.9	63
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	74	4.7	4.9	63
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 8.3%	11 91.7%	12	4.9	5.0	5	74	4.6	4.9	71
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	74	4.6	4.8	58
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	74	4.5	4.8	46
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 25%	9 75%	12	4.8	4.8	5	74	4.5	4.8	33

					ı	исмт - з	850 -	010				Survey Cor	nparisons	
Labs	and Online Learning Questions			Res	onses (%)		Co	urse			A	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	8 100%	8	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 16.7%	10 83.3%	12	4.8	4.9	5	214	4.5	4.8	63

Course:	MGMT - 3860 001 - Human Resource Management	Department:	BUSI
Responsible Faculty:	John Hubbard	Responses / Expected:	3 / 11 (27.27%)

					John Hul	bar	d			Survey Comparisons						
Cou	se Evaluation Questions			Respor	ıses (%)		Indi	ividual			В	JSI				
		SD	D	N	A SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	0	1 2 33.3% 66.7%	3	4.7	4.8	5	74	4.5	4.8	38			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 2 33.3% 66.7%	3	4.7	4.8	5	74	4.6	4.9	29			
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0 3 100%	3	5.0	5.0	5	74	4.6	4.8	92			
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 2 33.3% 66.7%	3	4.7	4.8	5	74	4.6	4.8	33			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 2 33.3% 66.7%	3	4.7	4.8	5	74	4.5	4.8	50			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 2 33.3% 66.7%	3	4.7	4.8	5	74	4.5	4.8	33			
Q7	My instructor establishes a climate of respect for students.	0	0	0	0 3 100%	3	5.0	5.0	5	74	4.6	4.8	83			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0 3 100%	3	5.0	5.0	5	74	4.7	4.9	79			
Q9	My instructor encourages me to do my best work.	0	0	0	0 3 100%	3	5.0	5.0	5	74	4.6	4.9	83			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 2 33.3% 66.7%	3	4.7	4.8	5	74	4.7	4.9	25			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 2 33.3% 66.7%	3	4.7	4.8	5	74	4.6	4.9	25			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 2 33.3% 66.7%	3	4.7	4.8	5	74	4.6	4.8	25			
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	0 2 66.7%	3	4.3	4.8	5	74	4.5	4.8	33			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 2 33.3% 66.7%	3	4.7	4.8	5	74	4.5	4.8	17			

						MGMT - :	Survey Comparisons								
Labs	Labs and Online Learning Questions		Responses (%)					Co	ourse		All				
			Grp Med	Med.	N	Mean	Grp Med	Pct Rnk							
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	150	4.5	4.8	82	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	214	4.5	4.8	33	

Course:	MGMT - 3860 012 - Human Resource Management	Department:	BUSI
Responsible Faculty:	John Hubbard	Responses / Expected:	8 / 30 (26.67%)

					John H	lubbard	l					Survey Co	mparisc	ons
Cou	se Evaluation Questions		Res	sponses	(%)			Indi	ividual			В	USI	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	1 12.5%	0	2 25%	3 37.5%	2 25%	8	3.6	3.8	4	74	4.5	4.8	4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0	4.3	4	74	4.6	4.9	4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3	4.3	4	74	4.6	4.8	4
Q4	My instructor provides material that helps me do well on assignments.	1 12.5%	0	1 12.5%	4 50%	2 25%	8	3.8	4.0	4	74	4.6	4.8	4
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	0	2 25%	4 50%	1 12.5%	8	3.5	3.8	4	74	4.5	4.8	4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 12.5%	2 25%	1 12.5%	2 25%	2 25%	8	3.3	3.5	3.5	74	4.5	4.8	4
Q7	My instructor establishes a climate of respect for students.	1 12.5%	0	2 25%	3 37.5%	2 25%	8	3.6	3.8	4	74	4.6	4.8	4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3	4.3	4	74	4.7	4.9	4
Q9	My instructor encourages me to do my best work.	1 12.5%	0	2 25%	2 25%	3 37.5%	8	3.8	4.0	4	74	4.6	4.9	4
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1	4.2	4	74	4.7	4.9	4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	0	2 25%	3 37.5%	2 25%	8	3.6	3.8	4	74	4.6	4.9	4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 12.5%	0	2 25%	3 37.5%	2 25%	8	3.6	3.8	4	74	4.6	4.8	4
Q13	My instructor encourages me to develop new viewpoints.	1 12.5%	0	2 25%	4 50%	1 12.5%	8	3.5	3.8	4	74	4.5	4.8	4
Q14	My instructor made the subject interesting and motivated me to learn.	1 12.5%	1 12.5%	2 25%	3 37.5%	1 12.5%	8	3.3	3.5	3.5	74	4.5	4.8	4

				1	иGMT -		Survey Comparisons								
Labs	Labs and Online Learning Questions		Respo	nses (%)		Co	ourse		All					
		SD D N A SA N Mean Grp Med.		Med.	Med. N Mean		Grp Med	Pct Rnk							
Q15	The section or lab is well integrated into the course structure.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	150	4.5	4.8	57		
Q16	The course topics are organized in a coherent fashion.	0	0 0	3 50%	3 50%	6	4.5	4.5	4.5	214	4.5	4.8	33		

Course:	PACS - 4060 001 - Practicum in Mediation and Dispute Resolution	Department:	EDUCATION
Responsible Faculty:	Victor Buchanon	Responses / Expected:	2 / 4 (50%)

					Victo	r Buch	and	on			Survey Comparisons						
Cou	se Evaluation Questions		Res	ponse	es (%)			Indi	vidual			EDUC	ATION				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	13	3.5	3.9	40			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0	4.0	4	13	3.9	4.3	50			
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	13	3.7	4.1	30			
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	13	3.4	3.3	60			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	13	3.8	4.0	40			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 50%	0	0	1 50%	0	2	2.5	2.5	2.5	13	2.8	2.8	60			
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	13	4.5	4.4	50			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0	4.0	4	13	3.5	3.9	60			
Q9	My instructor encourages me to do my best work.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	13	4.1	4.3	50			
Q10	My instructor provides timely feedback to guide my progress.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	13	3.1	3.0	60			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	13	4.3	4.4	50			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	13	3.8	4.6	50			
Q13	My instructor encourages me to develop new viewpoints.	0	1 50%	0	1 50%	0	2	3.0	3.0	3	13	3.5	3.6	30			
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 50%	0	0	1 50%	2	3.5	3.5	3.5	13	3.5	4.3	50			

					P	ACS - 40		Survey Comparisons						
Lab			F	Respons	ses (%)			C	ourse			Α	II	
			D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	150	4.5	4.8	13
Q16	The course topics are organized in a coherent fashion.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	214	4.5	4.8	16

Course:	PLDR - 5335 030 - PLDR Nonprofit Management	Department:	PUBLDR
Responsible Faculty:	Janiece Upshaw	Responses / Expected:	1 / 17 (5.88%)

					J	aniece	Ups	shaw			Survey Comparisons					
Cou	se Evaluation Questions		Res	ро	nses (S	%)		Indi	ividual			PU	BLDR			
		SD	1 0	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0	4.0	4	1	4.0	4.0	50		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0	4.0	4	1	4.0	4.0	50		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0	4.0	4	1	4.0	4.0	50		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0	4.0	4	1	4.0	4.0	50		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0	4.0	4	1	4.0	4.0	50		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	1	4.0	4.0	50		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0	4.0	4	1	4.0	4.0	50		
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0 0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0 0	0	0	1 100%	1	5.0	5.0	5	1	5.0	5.0	50		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0	4.0	4	1	4.0	4.0	50		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	1	4.0	4.0	50		

Course:	PSCI - 1050 030 - American Government: Process and Policies	Department:	LiberalArt
Responsible Faculty:	Ronald Hy	Responses / Expected:	2 / 23 (8.70%)

						Ronald	ΙНу	,				Survey C	ompariso	ns
Cou	se Evaluation Questions		F	Respoi	nses (%	·)		Indi	vidual			Libe	eralArt	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	4	4.0	4.0	17
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	4	4.3	4.5	33
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	4	4.8	4.8	67
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0	4.0	4	4	4.3	4.2	33
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	4	4.0	4.0	17
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	4	4.3	4.5	33
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	4	4.8	4.8	67
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	4	4.0	4.0	17
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	4	4.8	4.8	67
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	4	4.8	4.8	67
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	4	5.0	5.0	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	4	4.3	4.5	33
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	4	4.3	4.5	17
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	1 50%	0	2	3.5	3.5	3.5	4	4.3	4.5	17

						PSCI -	105	0 - 030				- Survey Cor	nparisons	
Labs	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	214	4.5	4.8	86

Course:	PSYC - 1100 030 - Introduction to Psychology	Department:	SOCPSY
Responsible Faculty:	Candice Kowalski-Dulaney	Responses / Expected:	2 / 29 (6.90%)

				Ca	andice	Kowa	lsk	i-Dulane	Э у			Survey Co	mpariso	ns
Cou	se Evaluation Questions	F	les	ons	es (%)		Indi	ividual			so	CPSY	
		SD I)	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 ()	0	1 50%	1 50%	2	4.5	4.5	4.5	47	4.7	4.8	35
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 ()	0	1 50%	1 50%	2	4.5	4.5	4.5	47	4.7	4.8	23
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0 ()	0	1 50%	1 50%	2	4.5	4.5	4.5	47	4.8	4.8	27
Q4	My instructor provides material that helps me do well on assignments.	0 ()	0	1 50%	1 50%	2	4.5	4.5	4.5	47	4.8	4.8	23
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 ()	0	1 50%	1 50%	2	4.5	4.5	4.5	47	4.7	4.8	27
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 ()	0	1 50%	1 50%	2	4.5	4.5	4.5	47	4.7	4.8	19
Q7	My instructor establishes a climate of respect for students.	0 (1 0%	0	1 50%	2	4.0	4.0	4	47	4.8	4.9	8
Q8	My instructor is available to me on matters pertaining to the course.	0 (1 0%	0	1 50%	2	4.0	4.0	4	47	4.7	4.9	8
Q9	My instructor encourages me to do my best work.	0 ()	0	1 50%	1 50%	2	4.5	4.5	4.5	47	4.8	4.9	19
Q10	My instructor provides timely feedback to guide my progress.	0 ()	0	1 50%	1 50%	2	4.5	4.5	4.5	47	4.7	4.9	19
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 (1 0%	0	1 50%	2	4.0	4.0	4	47	4.7	4.9	8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 ()	0	1 50%	1 50%	2	4.5	4.5	4.5	47	4.7	4.8	19
Q13	My instructor encourages me to develop new viewpoints.	0 ()	0	1 50%	1 50%	2	4.5	4.5	4.5	47	4.6	4.8	27
Q14	My instructor made the subject interesting and motivated me to learn.	0 ()	0	1 50%	1 50%	2	4.5	4.5	4.5	47	4.7	4.8	27

				PSYC -	1100	- 030				- Survey Cor	nparisons	
Labs and Online Learning Questions		Respo	nses (%	·)		Co	ourse			А	II	
	SD	D N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0 0	0	0	0	0.0	0.0	0	150	4.5	4.8	-
Q16 The course topics are organized in a coherent fashion.	0	0 0	1 50%	1 50%	2	4.5	4.5	4.5	214	4.5	4.8	33

Course:	PSYC - 2320 030 - Social Psychological Theory in Close Relationships	Department:	SOCPSY
Responsible Faculty:	Amy Dojahn	Responses / Expected:	1 / 24 (4.17%)

						Amy	/ Do	jahn				Survey Co	mpariso	ns
Cou	se Evaluation Questions	Responses (%)						Indi	ividual			so	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.7	4.8	85
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.7	4.8	77
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.8	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.8	4.8	81
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.7	4.8	85
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.7	4.8	77
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.8	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.7	4.9	69
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.8	4.9	73
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.7	4.9	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.7	4.9	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.7	4.8	81
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.6	4.8	77
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	47	4.7	4.8	77

						PSYC -	- 232	20 - 030				- Survey Con	nparisons	
L	bs and Online Learning Questions		Res	pons	ses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	150	4.5	4.8	82
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	5.0	5	214	4.5	4.8	86

Course:	PSYC - 3100 030 - Social Psychology	Department:	SOCPSY
Responsible Faculty:	Suzanne Manning	Responses / Expected:	5 / 30 (16.67%)

					Suz	anne I	Man	ning				Survey Co	ompariso	ns
Cou	se Evaluation Questions	Suzanne Ma Responses (%)						Indi	ividual			SO	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	47	4.7	4.8	65
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	1 20%	3 60%	5	4.4	4.7	5	47	4.7	4.8	35
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	47	4.8	4.8	42
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	47	4.8	4.8	50
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	47	4.7	4.8	54
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	47	4.7	4.8	27
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8	4.9	5	47	4.8	4.9	31
Q8	My instructor is available to me on matters pertaining to the course.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	47	4.7	4.9	31
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	47	4.8	4.9	31
Q10	My instructor provides timely feedback to guide my progress.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	47	4.7	4.9	35
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 20%	0	0	0	4 80%	5	4.2	4.9	5	47	4.7	4.9	38
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	4.7	5	47	4.7	4.8	31
Q13	My instructor encourages me to develop new viewpoints.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	47	4.6	4.8	35
Q14	My instructor made the subject interesting and motivated me to learn.	1 20%	0	0	1 20%	3 60%	5	4.0	4.7	5	47	4.7	4.8	38

					ı	PSYC - 310	00 -	030				- Survey Co	mparisons	
Lab	s and Online Learning Questions			Res	ponses (%)		C	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	150	4.5	4.8	50
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	214	4.5	4.8	58

Course:	PSYC - 3210 030 - Statistics in Psychology	Department:	SOCPSY
Responsible Faculty:	Lauren Coursey	Responses / Expected:	5 / 31 (16.13%)

					Lauren (Cou	rsey				Survey Co	ompariso	ns
Cou	se Evaluation Questions	Responses (%)						ividual			so	CPSY	
		SD D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0 0	0	3 60		5	4.4	4.3	4	47	4.7	4.8	27
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0 0	0	3 60		5	4.4	4.3	4	47	4.7	4.8	12
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0 0	0	2 40		5	4.6	4.7	5	47	4.8	4.8	35
Q4	My instructor provides material that helps me do well on assignments.	0 0	0	2 40	3 % 60%	5	4.6	4.7	5	47	4.8	4.8	35
Q5	My instructor explains new ideas by relating them to familiar concepts.	0 0	0	1 20	4 % 80%	5	4.8	4.9	5	47	4.7	4.8	54
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0 0	0	1 20	4 % 80%	5	4.8	4.9	5	47	4.7	4.8	50
Q7	My instructor establishes a climate of respect for students.	0 0	0	1 20	4 % 80%	5	4.8	4.9	5	47	4.8	4.9	31
Q8	My instructor is available to me on matters pertaining to the course.	0 0	1 20%	1 20	3 % 60%	5	4.4	4.7	5	47	4.7	4.9	31
Q9	My instructor encourages me to do my best work.	0 0	0	2 40		5	4.6	4.7	5	47	4.8	4.9	31
Q10	My instructor provides timely feedback to guide my progress.	0 0	0	2 40		5	4.6	4.7	5	47	4.7	4.9	27
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0 0	0	1 20	4 % 80%	5	4.8	4.9	5	47	4.7	4.9	38
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0 0	0	2 40		5	4.6	4.7	5	47	4.7	4.8	31
Q13	My instructor encourages me to develop new viewpoints.	0 0	1 20%	40		5	4.2	4.3	4	47	4.6	4.8	19
Q14	My instructor made the subject interesting and motivated me to learn.	0 0	0	40		5	4.6	4.7	5	47	4.7	4.8	38

					PSYC -	3210	030 - 030				Survey Co	nparisons	
Labs	s and Online Learning Questions		Responses (%)				Co	ourse			А	II	
		SD	D N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0 0	1 50%	1 50%	2	4.5	4.5	4.5	150	4.5	4.8	36
Q16	The course topics are organized in a coherent fashion.	0	0 0	1 25%	3 75%	4	4.8	4.8	5	214	4.5	4.8	58

Course:	PSYC - 3490 030 - Psychology of Women	Department:	SOCPSY
Responsible Faculty:	Elizabeth Casadecalvo	Responses / Expected:	9 / 30 (30%)

					Eliza	beth Ca	sac	decalvo				Survey Co	mpariso	ns
Cou	se Evaluation Questions		Re	esp	onses (%)		Indi	ividual			so	CPSY	
		SD	D	N	Α	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	47	4.7	4.8	58
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	47	4.7	4.8	50
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	47	4.8	4.8	58
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	47	4.8	4.8	58
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	47	4.7	4.8	65
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	9 100%	9	5.0	5.0	5	47	4.7	4.8	77
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	9 100%	9	5.0	5.0	5	47	4.8	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	9 100%	9	5.0	5.0	5	47	4.7	4.9	69
Q9	My instructor encourages me to do my best work.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	47	4.8	4.9	42
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	9 100%	9	5.0	5.0	5	47	4.7	4.9	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	47	4.7	4.9	50
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	4.9	5	47	4.7	4.8	58
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	9 100%	9	5.0	5.0	5	47	4.6	4.8	77
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	9 100%	9	5.0	5.0	5	47	4.7	4.8	77

						PSYC - 3	490	- 030				- Survey Co	mparisons	
Labs	s and Online Learning Questions	F	lesp	onse	es (%	6)		Co	ourse			А	JI .	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	6 100%	6	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	1 12.5%	0	0	0	7 87.5%	8	4.5	4.9	5	214	4.5	4.8	68

Course:	PSYC - 3530 030 - Psychology of the Offender	Department:	SOCPSY
Responsible Faculty:	Suzanne Manning	Responses / Expected:	7 / 30 (23.33%)

					Sı	ızanne l	Mar	nning				Survey Co	mpariso	ns
Cou	se Evaluation Questions		R	esp	onses ('	%)		Indi	ividual			so	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	47	4.7	4.8	50
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	47	4.7	4.8	42
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	47	4.8	4.8	50
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	47	4.8	4.8	42
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	47	4.7	4.8	42
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	47	4.7	4.8	42
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	7 100%	7	5.0	5.0	5	47	4.8	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	7 100%	7	5.0	5.0	5	47	4.7	4.9	69
Q9	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0	5.0	5	47	4.8	4.9	73
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 14.3%	6 85.7%	7	4.9	4.9	5	47	4.7	4.9	42
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	47	4.7	4.9	27
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	47	4.7	4.8	50
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	47	4.6	4.8	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	47	4.7	4.8	50

						PSYC - 3	530	- 030				- Survey Cor	nparisons	
Labs	s and Online Learning Questions		R	espo	nses (%	6)		Co	ourse			А	II	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	4.8	5	150	4.5	4.8	57
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	5.0	5	214	4.5	4.8	86

Course:	PSYC - 4020 030 - Psychology of Death and Dying	Department:	SOCPSY
Responsible Faculty:	Jason Wright	Responses / Expected:	3 / 30 (10%)

						Jason V	Vriç	jht				Survey Co	mpariso	ns
Cou	se Evaluation Questions		R	esp	onses ('	%)		Indi	vidual			soc	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.8	85
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.8	77
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.8	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.8	4.8	81
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	47	4.7	4.8	35
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.8	77
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.8	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.9	69
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.8	4.9	73
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.9	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.9	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.8	81
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.6	4.8	77
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.8	77

						PSYC -	402	20 - 030				- Survey Cor	nparisons	
Labs	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	214	4.5	4.8	86

Course:	PSYC - 4690 030 - Introduction to Learning and Memory	Department:	SOCPSY
Responsible Faculty:	Brittany Landrum	Responses / Expected:	4 / 29 (13.79%)

					Brittan	Lan	drum				Survey Co	ompariso	ns
Cou	se Evaluation Questions		Res	ponse	es (%)		Ind	ividual			so	CPSY	
		SD	D	N	A S	A	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	3 75% 2	1 5%	4.3	4.2	4	47	4.7	4.8	19
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50% 50	2)%	4.5	4.5	4.5	47	4.7	4.8	23
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 75% 2	1 5%	4.3	4.2	4	47	4.8	4.8	19
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50% 50	2 4	4.5	4.5	4.5	47	4.8	4.8	23
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	2 50% 2	1 5%	4.0	4.0	4	47	4.7	4.8	12
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	2 50% 2	l 5% 4	4.0	4.0	4	47	4.7	4.8	8
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	1 25% 50	2)%	4.3	4.5	4.5	47	4.8	4.9	19
Q8	My instructor is available to me on matters pertaining to the course.	0	1 25%	0	1 25% 50	2)%	4.0	4.5	4.5	47	4.7	4.9	19
Q9	My instructor encourages me to do my best work.	0	0	1 25%		l 5%	4.0	4.0	4	47	4.8	4.9	8
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	0	2 50% 2	l 5%	3.8	4.0	4	47	4.7	4.9	8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0		2)%	4.5	4.5	4.5	47	4.7	4.9	19
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	2 50% 2	l 5%	4.0	4.0	4	47	4.7	4.8	8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	2 50% 2		4.0	4.0	4	47	4.6	4.8	8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	2 50% 2	l 5%	4.0	4.0	4	47	4.7	4.8	12

					ı	PSYC - 469	90 -	030				- Survey Co	nparisons	
Labs	s and Online Learning Questions			Res	ponses (%)		C	ourse			А	П	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	150	4.5	4.8	36
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	214	4.5	4.8	49

Course:	SOCI - 1510 001 - Introduction to Sociology	Department:	SOCPSY
Responsible Faculty:	Krisler Bailey	Responses / Expected:	1 / 6 (16.67%)

					ļ	Krisler	Bai	ley				Survey Co	ompariso	ns
Cou	se Evaluation Questions	Responses (%)						Indi	ividual			so	CPSY	
		SD I	N		١.	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	10	l 0%	0	1	4.0	4.0	4	47	4.7	4.8	8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	()	1 100%	1	5.0	5.0	5	47	4.7	4.8	77
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	10	l 0%	0	1	4.0	4.0	4	47	4.8	4.8	8
Q4	My instructor provides material that helps me do well on assignments.	0	0	10	l 0%	0	1	4.0	4.0	4	47	4.8	4.8	8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	10	l 0%	0	1	4.0	4.0	4	47	4.7	4.8	12
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	()	1 100%	1	5.0	5.0	5	47	4.7	4.8	77
Q7	My instructor establishes a climate of respect for students.	0	0	()	1 100%	1	5.0	5.0	5	47	4.8	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	()	1 100%	1	5.0	5.0	5	47	4.7	4.9	69
Q9	My instructor encourages me to do my best work.	0	0	()	1 100%	1	5.0	5.0	5	47	4.8	4.9	73
Q10	My instructor provides timely feedback to guide my progress.	0	0	()	1 100%	1	5.0	5.0	5	47	4.7	4.9	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	()	1 100%	1	5.0	5.0	5	47	4.7	4.9	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	()	1 100%	1	5.0	5.0	5	47	4.7	4.8	81
Q13	My instructor encourages me to develop new viewpoints.	0	0	()	1 100%	1	5.0	5.0	5	47	4.6	4.8	77
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	10	l 0%	0	1	4.0	4.0	4	47	4.7	4.8	12

				s	OCI -	1510	- 001				Survey Co	nparisons	
Labs	s and Online Learning Questions		Respo	nses (%)			C	ourse			А	II	
		SD	D N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0 0	1 100%	0	1	4.0	4.0	4	150	4.5	4.8	22
Q16	The course topics are organized in a coherent fashion.	0	0 0	1 100%	0	1	4.0	4.0	4	214	4.5	4.8	16

Course:	SOCI - 2070 030 - Introduction to Race and Ethnic Relations	Department:	SOCPSY
Responsible Faculty:	Steven Arxer	Responses / Expected:	3 / 24 (12.50%)

						Steven	Arx	er				Survey Co	mpariso	ns
Cou	se Evaluation Questions	Responses (%)						Indi	ividual			so	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	47	4.7	4.8	42
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.8	77
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.8	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.8	4.8	81
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.8	85
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	47	4.7	4.8	35
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.8	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.9	69
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.8	4.9	73
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.9	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.9	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	47	4.7	4.8	42
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7	4.8	5	47	4.6	4.8	42
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	47	4.7	4.8	77

						SOCI -	207	0 - 030				- Survey Con	nparisons	
Labs	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	5.0	5	214	4.5	4.8	86

Course:	SOCI - 3200 030 - Sociological Theory.	Department:	SOCPSY
Responsible Faculty:	Steven Arxer	Responses / Expected:	4 / 17 (23.53%)

						Stev	en /	Arxer				Survey Co	ompariso	ns
Cou	se Evaluation Questions	F	Res	poi	nse	s (%)		Ind	ividual			so	CPSY	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.7	4.8	85
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.7	4.8	77
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.8	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.8	4.8	81
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.7	4.8	85
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.7	4.8	77
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.8	4.9	69
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.7	4.9	69
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.8	4.9	73
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.7	4.9	73
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.7	4.9	77
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.7	4.8	81
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.6	4.8	77
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	5.0	5	47	4.7	4.8	77

						SOCI -	320	0 - 030				- Survey Cor	nparisons	
Labs	s and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			A	I	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	5.0	5	214	4.5	4.8	86

Course:	SOCI - 3280 030 - Quantitative Data Analysis	Department:	SOCPSY
Responsible Faculty:	Aaron Bartula	Responses / Expected:	1 / 16 (6.25%)

					A	aron	Ba	rtula			Survey Comparisons						
Cou	se Evaluation Questions		Res	por	nses (%)		Indi	ividual			SO	CPSY				
		SD	SD D N A SA					Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.7	4.8	8			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.7	4.8	4			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.8	4.8	8			
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.8	4.8	8			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.7	4.8	12			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.7	4.8	8			
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.8	4.9	8			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.7	4.9	8			
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.8	4.9	8			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.7	4.9	8			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.7	4.9	8			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.7	4.8	8			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.6	4.8	8			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0	4.0	4	47	4.7	4.8	12			

					so	OCI - :	Survey Comparisons							
Labs	Labs and Online Learning Questions		Resp	onses	s (%)			Co	ourse			А	I	
		SD	D N	ı	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0 (0	0	0	0.0	0.0	0	150	4.5	4.8	-
Q16	The course topics are organized in a coherent fashion.	0	0 (10	1 00%	0	1	4.0	4.0	4	214	4.5	4.8	16

Course:	SOCI - 4990 030 - Sociology Capstone	Department:	SOCPSY
Responsible Faculty:	Steven Arxer	Responses / Expected:	2 / 6 (33.33%)

						Stev	en /	Arxer			Survey Comparisons					
Cou	se Evaluation Questions	F	Res	por	ses	(%)		Indi	ividual		SOCPSY					
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.7	4.8	85		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.7	4.8	77		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.8	4.8	81		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.8	4.8	81		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.7	4.8	85		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.7	4.8	77		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.8	4.9	69		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.7	4.9	69		
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.8	4.9	73		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.7	4.9	73		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.7	4.9	77		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.7	4.8	81		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.6	4.8	77		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	5.0	5	47	4.7	4.8	77		

						SOCI -	Survey Comparisons							
Labs	Labs and Online Learning Questions		Res	pon	ses	(%)		Co	ourse			Al	I	
		SD	D	N	A	SA	N	Mean Grp Med Med			N	Mean	Grp Med	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	5.0	5	150	4.5	4.8	82
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	5.0	5	214	4.5	4.8	86

Course:	LAW - 7V91 501 - Practicum	Department:	LawSchool
Responsible Faculty:	Stewart Milch	Responses / Expected:	7 / 18 (38.89%)

		Stewart Milch											Survey Comparisons						
Cour	se Evaluation Questions		Re	sponse	es (%)			Indi	vidual			Laws	School						
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk					
Q1	My instructor explains difficult material clearly.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4	4.8	5	57	4.4	4.7	56					
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4	4.8	5	57	4.5	4.8	44					
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	57	4.4	4.8	44					
Q4	My instructor provides material that helps me do well on assignments.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4	4.8	5	57	4.3	4.7	56					
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	57	4.5	4.7	44					
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4	4.8	5	57	4.4	4.7	31					
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	57	4.6	4.9	31					
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	57	4.7	4.9	31					
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	57	4.6	4.8	31					
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 28.6%	5 71.4%	7	4.7	4.8	5	57	4.4	4.8	44					
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	4.8	5	57	4.7	4.9	31					
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1	4.3	4	57	4.5	4.8	6					
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 57.1%	3 42.9%	7	4.4	4.4	4	57	4.4	4.7	19					
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	4.6	5	57	4.4	4.7	31					

Course:	LAW - 7V91 502 - Practicum	Department:	LawSchool
Responsible Faculty:	Johannes Walker	Responses / Expected:	4 / 15 (26.67%)

					Jo	hanne		Survey Comparisons						
Cour	se Evaluation Questions		Resp	ons	es ('	%)		Indi	vidua			Laws	School	
		SD	SD D N A SA I				N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0	5.0	5	57	4.4	4.7	81
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0 2	1 5%	3 75%	4	4.8	4.8	5	57	4.5	4.8	56
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0 (0	0 ,	4 100%	4	5.0	5.0	5	57	4.4	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0 (0 2	1 5%	3 75%	4	4.8	4.8	5	57	4.3	4.7	69
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0 (1 5%	3 75%	4	4.8	4.8	5	57	4.5	4.7	56
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0 (0	0 ,	4 100%	4	5.0	5.0	5	57	4.4	4.7	81
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	5.0	5	57	4.6	4.9	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0	5.0	5	57	4.7	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	5.0	5	57	4.6	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0 2	1 5%	3 75%	4	4.8	4.8	5	57	4.4	4.8	56
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	5.0	5	57	4.7	4.9	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0	5.0	5	57	4.5	4.8	81
Q13	My instructor encourages me to develop new viewpoints.	0	0	0 2	1 5%	3 75%	4	4.8	4.8	5	57	4.4	4.7	69
Q14	My instructor made the subject interesting and motivated me to learn.	0	0 (0 2	1 5%	3 75%	4	4.8	4.8	5	57	4.4	4.7	69

Course:	LAW - 7108 501 - ADVANCED LEGAL RESEARCH	Department:	LawSchool
Responsible Faculty:	Stewart Caton	Responses / Expected:	3 / 13 (23.08%)

						Stew	art	Caton				Survey Co	mpariso	ons
Cour	se Evaluation Questions	R	es	pon	ıse	s (%)		Indi	vidua	I	LawSchool			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.4	4.7	81
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.5	4.8	88
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.4	4.8	81
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.3	4.7	88
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.5	4.7	88
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.4	4.7	81
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.6	4.9	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.7	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.6	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.4	4.8	81
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.7	4.9	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.5	4.8	81
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.4	4.7	88
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0	5.0	5	57	4.4	4.7	88

Course:	LAW - 7108 502 - ADVANCED LEGAL RESEARCH	Department:	LawSchool
Responsible Faculty:	Bailey Eagin	Responses / Expected:	1 / 16 (6.25%)

						Baile	ey I	Eagin			Survey Comparisons					
Cour	se Evaluation Questions	R	esį	oon	se	s (%)		Indi	ividua	I		Laws	School			
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk		
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.4	4.7	81		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.5	4.8	88		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.4	4.8	81		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.3	4.7	88		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.5	4.7	88		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.4	4.7	8		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.6	4.9	7:		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.7	4.9	7!		
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.6	4.8	7:		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.4	4.8	81		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.7	4.9	75		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.5	4.8	81		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.4	4.7	88		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0	5.0	5	57	4.4	4.7	88		

Course:	LAW - 7111 501 - Dispute Resolution Topics	Department:	LawSchool
Responsible Faculty:	Laura Frase	Responses / Expected:	6 / 21 (28.57%)

					Lau	ra Frase	•				Survey Comparisons						
Cour	se Evaluation Questions		Re	sponse	es (%)			Indi	vidual			Laws	School				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	57	4.4	4.7	31			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	57	4.5	4.8	13			
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2	4.5	4.5	57	4.4	4.8	19			
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	4.8	5	57	4.3	4.7	31			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	57	4.5	4.7	19			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2	4.2	4	57	4.4	4.7	19			
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	57	4.6	4.9	13			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	57	4.7	4.9	6			
Q9	My instructor encourages me to do my best work.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	57	4.6	4.8	19			
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	57	4.4	4.8	19			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	57	4.7	4.9	19			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	57	4.5	4.8	25			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7	4.8	5	57	4.4	4.7	50			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 50%	3 50%	6	4.5	4.5	4.5	57	4.4	4.7	19			

Course:	LAW - 7202 501 - Oil and Gas	Department:	LawSchool
Responsible Faculty:	Lyndsey Vicknair	Responses / Expected:	9 / 36 (25%)

					Lynd	lsey Vic	kn	nair			8	Survey Co	mparis	ons
Cour	se Evaluation Questions		ı	Respon	ses (%))		Indi	vidual			Laws	School	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	0	5 55.6%	4 44.4%	9	4.4	4.4	4	57	4.4	4.7	19
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	57	4.5	4.8	31
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	57	4.4	4.8	56
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	57	4.3	4.7	19
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 44.4%	5 55.6%	9	4.6	4.6	5	57	4.5	4.7	31
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8	4.9	5	57	4.4	4.7	56
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	9 100%	9	5.0	5.0	5	57	4.6	4.9	75
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	9 100%	9	5.0	5.0	5	57	4.7	4.9	75
Q9	My instructor encourages me to do my best work.	0	0	0	0	9 100%	9	5.0	5.0	5	57	4.6	4.8	75
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	9 100%	9	5.0	5.0	5	57	4.4	4.8	81
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	9 100%	9	5.0	5.0	5	57	4.7	4.9	75
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	57	4.5	4.8	44
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 22.2%	1 11.1%	6 66.7%	9	4.4	4.8	5	57	4.4	4.7	50
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	4.8	5	57	4.4	4.7	44

Course:	LAW - 7317 501 - Professional Responsibility	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	17 / 87 (19.54%)

				ı	Michael	Masla	nka				Survey Comparisons						
Cour	se Evaluation Questions		Re	sponse	s (%)			Indi	vidual			Laws	School				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	2 11.8%	0	0	3 17.6%	12 70.6%	17	4.4	4.8	5	57	4.4	4.7	44			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 11.8%	0	0	2 11.8%	13 76.5%	17	4.4	4.8	5	57	4.5	4.8	69			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 11.8%	1 5.9%	0	2 11.8%	12 70.6%	17	4.2	4.8	5	57	4.4	4.8	31			
Q4	My instructor provides material that helps me do well on assignments.	2 11.8%	1 5.9%	0	2 11.8%	12 70.6%	17	4.2	4.8	5	57	4.3	4.7	44			
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 11.8%	0	0	2 11.8%	13 76.5%	17	4.4	4.8	5	57	4.5	4.7	69			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 11.8%	0	1 5.9%	1 5.9%	13 76.5%	17	4.4	4.8	5	57	4.4	4.7	44			
Q7	My instructor establishes a climate of respect for students.	2 11.8%	0	0	1 5.9%	14 82.4%	17	4.5	4.9	5	57	4.6	4.9	44			
Q8	My instructor is available to me on matters pertaining to the course.	1 5.9%	0	0	1 5.9%	15 88.2%	17	4.7	4.9	5	57	4.7	4.9	44			
Q9	My instructor encourages me to do my best work.	1 5.9%	0	1 5.9%	3 17.6%	12 70.6%	17	4.5	4.8	5	57	4.6	4.8	44			
Q10	My instructor provides timely feedback to guide my progress.	1 5.9%	1 5.9%	2 11.8%	2 11.8%	11 64.7%	17	4.2	4.7	5	57	4.4	4.8	31			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 5.9%	1 5.9%	0	1 5.9%	14 82.4%	17	4.5	4.9	5	57	4.7	4.9	44			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 5.9%	0	1 5.9%	2 11.8%	13 76.5%	17	4.5	4.8	5	57	4.5	4.8	56			
Q13	My instructor encourages me to develop new viewpoints.	1 5.9%	0	2 11.8%	4 23.5%	10 58.8%	17	4.3	4.7	5	57	4.4	4.7	31			
Q14	My instructor made the subject interesting and motivated me to learn.	2 11.8%	0	1 5.9%	2 11.8%	12 70.6%	17	4.3	4.8	5	57	4.4	4.7	56			

Course:	LAW - 7388 301 - Externship Seminar	Department:	LawSchool
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	10 / 24 (41.67%)

					Gretc	hen H	ack	ard			5	Survey Co	mparis	ons
Cour	se Evaluation Questions		Resp	onse					vidual				School	
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk
Q1	My instructor explains difficult material clearly.	0	0	3 30%	4 40%	3 30%	10	4.0	4.0	4	57	4.4	4.7	6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 10%	2 20%	2 20%	5 50%	10	4.1	4.5	4.5	57	4.5	4.8	13
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	0	2 20%	4 40%	3 30%	10	3.8	4.0	4	57	4.4	4.8	6
Q4	My instructor provides material that helps me do well on assignments.	0	1 10%	3 30%	4 40%	2 20%	10	3.7	3.8	4	57	4.3	4.7	6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 30%	4 40%	3 30%	10	4.0	4.0	4	57	4.5	4.7	6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 10%	5 50%	2 20%	2 20%	10	3.5	3.3	3	57	4.4	4.7	6
Q7	My instructor establishes a climate of respect for students.	0	0	1 10%	4 40%	5 50%	10	4.4	4.5	4.5	57	4.6	4.9	13
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 20%	1 10%	7 70%	10	4.5	4.8	5	57	4.7	4.9	19
Q9	My instructor encourages me to do my best work.	0	0	1 10%	5 50%	4 40%	10	4.3	4.3	4	57	4.6	4.8	6
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	5 50%	1 10%	3 30%	10	3.6	3.3	3	57	4.4	4.8	6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 50%	5 50%	10	4.5	4.5	4.5	57	4.7	4.9	6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	4 40%	5 50%	10	4.4	4.5	4.5	57	4.5	4.8	25
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 30%	3 30%	4 40%	10	4.1	4.2	4	57	4.4	4.7	6
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 10%	2 20%	3 30%	4 40%	10	4.0	4.2	4	57	4.4	4.7	6

Course:	LAW - 7V93 303 - Clinic	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	2 / 19 (10.53%)

					Che	ryl Wa	ttle	y			Survey Comparisons						
Cour	se Evaluation Questions		Res	ponse	es (%)			Indi	ividual			Law	School				
		SD	D	N	A	SA	N	Mean	Grp Med	Med.	N	Mean	Grp Med	Pct Rnk			
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50			
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 50%	0	0	1 50%	2	3.5	3.5	3.5	2	3.5	3.5	50			
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	2	3.0	3.0	50			
Q4	My instructor provides material that helps me do well on assignments.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	2	3.0	3.0	50			
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	4.5	4.5	2	4.5	4.5	50			
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	2	3.0	3.0	50			
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50			
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	2	4.0	4.0	50			
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50			
Q10	My instructor provides timely feedback to guide my progress.	1 50%	0	0	0	1 50%	2	3.0	3.0	3	2	3.0	3.0	50			
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50			
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50			
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	5.0	5	2	5.0	5.0	50			
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	0	1 50%	2	4.0	4.0	4	2	4.0	4.0	50			